(2) FEFRITAR DM 6 R A1 - MG 2 E B O Jid HAMHE L HER TR SR

FK2-1-0 REITAR D XG0 R AL E R O H BHEG R CT k224 5L ; £[H)

e/l AR PR i (kg/HF)

) T n
o Wk B RME | s | o | oak |[Tatl e
1 |HgROKBEMEALEY 29,786 490 30,276
13 | 7Eh=hv 16,043 3,686 19,730
21 |puyxyy 29,070 29,070
22 747 =L 41,127 3,232 44,359
25 [ANTVV 22,100 3,123 25,223
27 |[AF3bnr 140 140
29 |[1-T7UAFL-2,3-TRF T 680 680

T L LR B ZVRU K O D
30 |(TAFNIEDIRFEFAL0BI4ETOLED K 11,046 77,532 50,447 2,980 2,983 18 939| 145,945

DL DIREMIZIRD)
40 [E7xFB—h 8,375 4,605 12,980
41 |[7hT=0 48,242 23,084 957 9,340 1 212 81,836
46 | ¥ YRy S TF L 7,378 7,378
47 |7 HIRA 910 22,947 5,619 29,476
48 |EPN 9,678 28,517 38,195
19 |~ TFYAFY 119,075 16,951 24,549 160,575
50 |EUF—h 127,603 127,603
52 |[7I=HNT 26,080 26,080
53 |=F AP 1,572 984 21,731 458 32 33 135 24,944
54 |RAFTE—h 89,403 89,403
61 |~rx7 323,824 40,126 363,950
62 |wra¥ 1,319,905 797,426 2,117,331
63 |77 hY7 a3k 16,724 50,667 64,052 3,406 23,427| 158,276
64 |Th7xrTuysR 70,525 110 35,366 41 80 55 924| 107,101
70 | =~ A7 F 7B 1,820 3 33 277 2,133
80 [F L 333,536 327,758| 1,154,298 52,671 3,828 1,635 23,438| 1,897,165
82 |$REUZDKEBHEALEY
83 [sAv 5,421 870 6,291
90 |TrIVV 53,530 53,530
91 [>T FPr 2,009 2,269 286 56,256 60,819
92 [FL7= TR 7,575 17,625 25,200
93 |AF/m—)L 85,443 85,443
95 [ZATVF A 21,815 110,139 3,708 135,662
96 |[Y7x/ary—1 6,554 6,646 30 1,582 1 14,814
100 | FLFForm—L 189,949 189,949
101 |[757m— 97,913 3,640 101,553
108 |Aa7uy 7 23,265 61,226 84,491
13 o=y 1,155 10,696 8,748 20,600
14 | AB )77 5,048 5,048
115 | 7= RFH3F 74,682 74,682
116 |[~FF TV IR 654 246 900
117 |F7a)y— 51,345 19,620 70,965
118 |37 #=/ 700 2,291 25 262 0 18 3,297
119 |[7=rTary— 3,977 339 4,316
124 |73y 25,974 1,485 27,459
125 |yoo~ vy 101,087 101,087
137 |7 F3F 6,052 6,052
138 |PZus Avhk 17,469 17,469
139 |hFaAR 295 65 48 0 3 411
140 |7 =27 rsRy 7,387 2,150 9 10 9,556
141 |E'FH=L 32,232 32,232
144 Jé%;%%y?‘/fbﬁ%(ﬁ&ﬁ&@&?‘/ﬁfzﬁ%% 116 116
146 |EVIRAATF /L 20,445 20,445
147 |[FAHINT 1,842 128,776 130,618
148 [H7xv Abm—)L 54,150 5,790 59,940
152 |Insy7 140,037 14,153 51,018 205,208
162 |7 o3Ik 5,177 24,423 29,600
168 A7 a4 14,281 47,024 6,858 68,163
169 |Yvmr 21,675 8,048 69,976 99,699
170 |[7hoa)y—n 5,881 156 875 6,912
171 |[Fueapy—u 25,450 2,716 28,166
172 | AFHrmiky 21,256 7,320 28,576
174 [V=amy 2,919 118,395 121,314
175 [2,4-D 61,624 15,597 37,655 114,677
179 |D-D 8,853,541 8,853,541
182 |B'FYF L Txy 18,853 18,853
183 |V L—Fh 190,013 190,013
184 |[PZu~=)L 23,172 17,330 750 14,426 111,568 167,245
187 |[PFT v 58,533 716 59,249
191 |4y FuFAT 79,544 3,772 172 2,620 86,108
192 | =F 472U 7RA 1,451 1,451
193 |=FLF A AP 162,059 964 6,666] 169,689
194 |AYav 10,745 10,745
195 | uFAKRA 11,624 36,020 1,233 1,906 746 4,776 56,305
196 | AFHF A 164,834 7,780 172,614
197 |~V 11,307 29,173 89,918 280 130,678
198 | AR —h 11,110 30,785 41,895
206 |WILRALT 7 8,021 9,843 17,865
207 |2,6-P-tert-7 F/L-4-7L>/ —)L 1,195 1,760 2,955
212 [7E7=—F 16,628 275,417 68,079 1,631 113 14,140[ 376,008
213 INNN-UAF LT ERT IR 1,435 1,435
217 |FATITA 542 402 2,848 3,792
221 [ RUT7TANT 49,274 16,372 65,646
222 |Z7 =) FAINT 1,295 1,295
225 [N bRy 27,864 21,255 106,609 15,926 172 928 5,151] 177,906
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227 [/"5a—r 11,946 33,193 40,128 2,433 15,776] 103,475
229 [FAT 7 F— AT 1,551]  131,829] 238,868 17,375 4,033 16 3,810] 397,482
233 |7z kR 13,567 38,100 36,517 88,184
236 |7 AFF =L 22,020 22,020
244 [FY Ao 3,078,278 3,078,278
248 [FATV I 35,983] 295,910 2,313 1,019 8,347] 343,601
249 | 7ELEYRA 42,474 33,177 75,652
250 |[A/F G F AL 2,766 37,755 8,440 121 57 129] 19,589
251 |[F==FaFA 160,571 145,294 73,690] 108,994 1,261 9,070 65,315] 564,196
252 |[Txr FAY 17,577 30,382 662 990 8,359] 57,971
253 |77 = A 9,040 9,040
254 |47 0~ A 28,135 28,135
257 |[F )= 151,857 151,857
258 [ ~FYAFLLT RT3 19,047 25,984 75,031
260 |yanrn=L 39,284]  45,634] 183,541 98,485 210 367,154
261 |79 FAF 206,503 206,503
266 |77 AN 9,439 9,439
267 |FAOINLT 2,662 19,998 28,577 541 1,386 53,164
268 |[FUoL 17,660] 155,613 58,518 89 24,301 325 1,480] 257,986
SRR G A BRSO 4,860 4,860
AT L 1,020 3,689 1,709
275 |FF L AR R A 3,236 2,501 3,705 117 16 218 9,791
285 | /une /)y 6,237,287 6,237,287
286 |[FJZHE L 3,323 1,472 13,486] 18,281
293 [FUZ L5V 188,033 25 11 90| 188,159
206 [1,2,4-FUAF L~ By 35,801 1 12,193 147,995
207 [1,3,5-RUAF L~ By 6,422 1,068 3,857 11,347
300 [FLms 574 502 2,128 3,204
302 [F 4Ly 1,171 397 26,951 28,519
323 [V AN 16,775 16,775
325 A ¥ 161,461 65,967 11,215 1,018 13,547 253,207
326 |Ju7=rF U 285 75 360
398 |54 53,242 1,938 1,245 8,336] 64,762
329 |4 39,233 77,947 61,750 178,930
331 21,987 21,987
340 530 239 769
350 |[~LARJ 1,625 6,952 2 2,140 17 73] 13,909
354 |[THAMEY 0T FIL 5,724 1,874 7,598
357 |7 Fa7=0y 31,359 21,245 9,524 6,726 0 13 68,867
358 |77 7= /0K 12,705 1,132 1,146 2 798| 15,783
360 |~ /L 30,097 52,216 27,911 746 110,970
361 |Iaky 7T T 51,169 51,169
362 |07 7= F 11,550 11,550
363 [AXHUT I 15,246 15,246
364 | 7= L A 1,338 1,155 1,318 3,810
369 |/ Lk 12,630 7,011 19,641
370 [EVF~v 5,885 5,820 11,705
371 |77 7= IR 530 1,740 2,270
376 [T Arn—n 147,628 147,628
378 |FanE x> 121,262 32,948 154,210
383 |[TaviL 7,283 76,756] 81,039
386 | BLLAT L 256,987 423,738 680,724
387 [BRf7 =0 T AR 16,513 556 17,069
100 |~ B 33 191 183 106
402 [A7=F ok 82,285 82,285
405 | BHR(LED 262 381 898 125,970 127,511
RIFFL mF L) =T V¥ N T—T /(T
407 | L FED R L2 E15ETOLO K O 43,144 287,352| 191,228 41,232 444 349 2,528 566,277
ZORGYICIRD)
408 3;%**’1%V/)*‘Lfkﬁb/lﬂ”lﬁ 4468) 29,235 108,528 9,087 106 94 604 153,112
409 ii%f_}{ﬁ?:/)*]‘f/”lﬂ”Wm‘“ 24,857 94,251 69,797| 144,544 1,889 1,387 6,920 343,644
410 ’jy(’ﬁy'ﬁi“/)*/"”7L‘”I—7 30,500 92,228| 225,079 29,154 584 278 3,368| 381,191
414 | K~ AR 1,635 1,635
122 7=V By 123,697 123,697
424 |AFN=AIF AT F—h 132,700 132,700
125 | (/T ahT 360 360
127 [ AU 32,802 33,436 66,238
498 |72 /TN T 71,667 6,024 1 o 77,702
129 [/NEALTAL AT 5,529 195 3,649 9,373
430 [ FX LT 1,580 1,580
31 |7/ % ARREY 13,469 4,850 25,654 15,903 59,876
132 |75 R 9,120 9,120
133 [I— 85,450 85,450
434 | AFHIv 15,211 15,211
135 [EVS /AU IATF L 11,552 11,552
138 |[AFAFTHLL 7,101 2,522 52,258 611 43 33 203 62,771
142 | A7a=L 19,811 745 17,804 11,324 273 1,157 51,114
13 AL 89,913 146 90,059
144 |7 L ARRE Y 17,775 194 17,969
15 | JLUFR T DATFIL 64,020 36,508 3 1,397] 101,928
149 [T AT 4T 7 A 56,824 56,824
150 [EVTF LT 22,835 5,264 28,099
456 |[DANLT LI=T A 10,800 10,890
457 [C7 LR A 17 1,078 1,125
& 3F 3,000,737] 4,425,775] 25,647,688]  543,375] _ 438,103 28,493] 1,242,807] 35,335,978
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#2-1-1 IR LI R G - R G S E R O H B 1 R (T k2248 L ; ki)

XIGAV A AEFHIHE L A (kg /)

i Fet 3
e WL B RME | FhE | A7 Tama | e
1 |HEROREIEE Y 2 6 8
13 [7&b=RL 12 411 423
21 |yaysy 29,070 29,070
22 |[74Fn=1 1,493 5 1,498
25 [ANT Vv 16,350 57| 16,407
27 | AxIpmy 140 140
29 [1-7UnAFL-2,3-THF L Tt

BT VIR ZIVIR iR N O D
30 |(FARLEORBEHNA0DD14ETOLDORK 739 434 9,417 203 2 3 67| 10,865

OZDREWIZRD)
40 |[E7=F¥—h 44 136 180
41 [T RT= 27 14,080 14,107
16 | ¥ ¥k ST 3,752 3,752
47 |7 HIRR 399 2 401
48 |EPN 282 1,246 1,529
49 | RUF4ARY 41,131 9 41,140
50 |EUx—h 1,632 1,632
52 |[7I=hNT
53 |=F LBy 7 6 13,516 153 3 18 47 13,755
54 |HAFTE—] 9,959 9,959
61 |~ x7 185 565 750
62 |~ avT 88,262 445,872 534,134
63 |[D/7 YT uIR 225 541 9,824 102 643 11,334
64 |=h7xr oy 6,884 3,335 10,219
70 | =~ ATF U AR 32 0 0 32
80 [FL 17,465 1,347] 318,946 3,478 201 432 1,153] 343,023
82 |$RK O D/KIEMEILAEY
83 |rA 6 6
90 |7 29,582 29,582
91 27V 951 35 73 1,651 2,710
92 [ML7x ETR 30 1,065 1,095
93 |ARTZE—L 47,746 47,746
95 [TATVF A 4,389 85,269 110 89,768
9 |[V7= o)y —L 26 6,378 0 90 0 6,495
100 |[FLFF7m—1 16,820 16,820
101 [7970—1 25,892 25,892
108 [A=7my s 578 3,757 4,335
13 [o~vr 1 240 21 262
14 (o877 263 263
115 | 7= bR 8,787 8,787
116 [~F 2 F TR 13 27 40
17 [F7aFry—n1 27,640 5,666 33,306
118 [S7u7s=1 14 34 1 50
119 [Txr7agy—1 56 32 88
124 [73r 7,985 45 8,030
125 |[Zan~s Py 27,146 27,146
137 [+ 738
138 [P7ms Avk 11,245 11,245
139 [FFuARY 9 15 4 0 0 29
140 |7 =7 /SR 0 14 0 0 14
141 [T XY= 24,006 24,006
144 | T LB GRER U 7 B
146 [EVIRAAT L 141 141
U7 [FA~v s 28 920 948
148 [h7 = Apa—/L 1,215 1,215
152 [ sy7 5,789 53 4,103 9,945

g : 520 1,630 2,150

260 6,401 1,769 8,430

169 [P 250 3,621 3,771
170 |FhFa)—1 117 12 50 179
171 [Farafy—n 19,750 399 20,149
172 | Ao rmaRs 411 411
174 [V=an 134 35,729 35,863
175 [2,4-D 182 182
179 [D-D 12,380 12,380
182 [EFY %72 65 65
183 [£FYL—F 54,163 54,163
184 [Yro~=)L 1,968 474 750 1,904 12,080 17,177
187 [VF7 /v 84 13 97
191 [T aF+7 768 768
192 [xF 47 =7k 598 598
193 [ F L FF AP 25,404 111 295 25,810
194 [t 10,570 10,570
195 [FuFFhx 47 19,903 413 7 14 38| 20422
196 [AF2F A4 283 257 540
197 [=5V 86 16 1,754 100 1,956
198 [ Abz—F 8,147 8,147
206 [HARANLT 7 854 571 1,425
207 |2,6-T—tert-7 F)-4-JLY —)L 32 32
212 |77 =—h 989 47,531 1,692 141 19 913| 51,285
213 [NN-UAF AT ERT IR 49 49
217 |[FAL T 542 542
221 [ 7THNT 1,446 1,605 3,051
222 |7 )FAINT
225 |F) 7Lk 229 23 3,440 92 1 18 47 3,848
227 [F=—} 161 81 2,357 73 193 2,865
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229 [FA 77 F—FAFNL 50 1,257 95,880 100,186
233 [F=v hz—F 3,410 116] 24,930 28,456
236 [T AAF L= 13,500 13,500
244 |7/ Aok 58,604 58,604
28 ATV 574] 36,673 72 154 09| 37,881
219 |7E B YRR 368 1,876 2,244
250 [ (/%Y FAr 3 2,946 127 3 7 19 3,406
%1 [T Tt 16,813 1,744] 10,865 1,483 35 76 210] 34,256
252 [T=v T A 5,920 7,487 152 330 877| 14,765
253 |77 = A 2,520 2,520
254 | A7 a~_URA
257 |74 /=
258 |~ HAFLLThTIL 3,059] 15,131 18,190
260 |Zumsa=, 920 9,810] 36,178 13,686 5 60,599
261 |7 SAF 34,644 34,644
266 |77 /LRI 794 794
267 |[FHSHLT 5 683 688
268 | V7L 1,173 1,037 13,635 89 1,351 19 131 17,465
272 | §AKVEMEHL A BRSO 276 276
273 [n-FF LT va—i 10 3,350 3,368
275 |FT S /R Mo 263 57 2,333 2 3 7| 2665
285 [/an s 26,859 26,859
286 [FUZBEL 5 11 28 m
203 (N7 502 58,924 58,924
206 |L,2,4- N AF L~ By 0 5,118 5,118
297 [1,3,5-NIAF L~ Lo 1 50 51
300 [pLry 61 3 598 661
302 [F7 AL 9% 4 6,321 6,421
323 [V AR 311 311
325 A% 1,626 6,862 118 163 434] 9,203
326 | JnT=rF o
328 [UTA 275 61 132 351 819
329 [HUH—r " A—F 366] 10,561 200 11,128
331 | AR 5,943 5,943
340 [E7==1 29 29
350 |~ AN 64 619 30 1 1 715
B0 F I 21 57 81
357 |7 a7V
358 |77 7= OF 25 135 160
360 |~ 1,399 194 3,087 45 14,725
361 1,606 1,606
362 [T Tz Funy
363 X TUT 288 288
364 | 7= B mF L A— 14 12 19 75
369 |7 SLE Sk 120 120
370 [EVF~r 10 10
371 |77 7=  ETF 10 80 90
376 |72 ra— 3,022 3,022
378 |[Fue x> 135 1,035 1,470
383 |[Tavi L 1243 4243
386 | RALAT L 10,314 10,314
387 |7 = T HARX 66 7 73
400 |~ B 11 1 125 137
102 A7 =)ok 1,023 1,023
405 [IZH5F LAY 2 7 773 27,835 28,617
RIFF LV TF L) =T VXN T—T )T
407 [ VXN IEDRFE 2D 15ETOLO KO 3,325 1,456 111,221 1,611 36 78 208 123,934
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 193 722| 83,561 1,145 9 19 52| 86,002
109 i%}fﬁﬁ{ﬁ)z:/):]‘T‘/’”Igf”ﬁﬁi 584 196 8,573 4,522 35 76 204 14,490
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 3,411 2,114 49,225 3,229 33 59 157| 58,228
114 A~ LA 1,630 1,630
122 |7z BT 33,020 33,020
4124 |AFN=AIF AT F—h
125 [T a7
127 [ U 1,318 2,100 3,418
128 | 7= )7 AT 103 81 187
129 [ ~EALTEUATAL 17 30 7
130 (A RF AT 10 10
131 |7 /% ARREY 32 10 1,129 1,213 5,384
132 |75 R 20 20
133 [I—~L
134 [FEFn 6,715 6,715
135 [EV A IATF 178 178
138 | AFTTHL 652 o] 13382 3 8 18 7| 11
142 [ A7e=1 1,384 306] 16,061 265 185 193] 18,696
13 AL 3,785 0 3,785
144 [N)7ek v ARRE Y 9,525 18 9,513
15 [JLVF T BATFL 201] 20,782 21,073
19 [T=  AF 4T 7 A 56,824 56,824
150 [EUTFANLT 6 6
156 [0AALT A I=0 A 110 110
157 |[S/uLER 17 1,078 1125
B i 256,454 141,393 2,23L,081]  24.684] 30,120 2.022] _ 70,701] 2,756,656
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F2-1-2 REK|\TARD 0 A PG - kG B O Pk B HEG RS F CERR224E B F R IR)
XA FEWE AR i (kg/4F)

i Fet 3
e WL B RME | oo | gk |CRREF e
1 |HgR KB EY 3,943 0 3,943
13 |[7Er=FL 3 509 512
21 |rmxyy
22 747 =L 465 465
25 [ANTVv 50 5 55
27 |A%#3hmyv
29 |[I-7UNAFT-2,3-TREL T i 6 6

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 334 10,040 806 20 0 0 51 11,251

VZDIREYICIRD)
40 |[E7=F¥—F 310 30 340
41 |[7hg=1 1,077 1,077
46 |FY Ry 7 =T )L 287 287
47 | THIRA 11 155 7 173
48 |EPN 434 784 1,218
49 |~ FgARY 6,352 6,352
50 |EUFR—k 2,250 2,250
52 |[7o=hmr7 360 360
53 |=F vy 10 19 637 14 0 0 1 632
54 |HRAFTE—h 2,010 2,010
61 |~rx7 2,780 195 2,975
62 |~ra¥s 97,122 5,654 102,777
63 |27 b7 usR 726 4,702 2,238 126 430 8,221
64 |Th7=rTaysR 2,494 1,118 2 6 22 3,642
70 | =~ ATF U AR 10 0 0 10
80 |F L 9,301 4,907 48,470 350 17 45 152 63,243
82 [§RK D KB LAY
83 [ZAv 176 38 214
90 |ThFVv 1,486 1,486
91 [o7Fvr 0 18 18
92 [ML7= TR 15 750 765
93 |ArFru—1 2,188 2,188
95 |TATVF A 596 617 7 1,221
96 |P7x/a)y— 1,093 1 0 113 0 1,207
100 | FLFFrm—L 8,991 8,991
101 |7F7m—)L 5,220 5,220
108 [Aa7my 39 465 504
13 [v=ov 146 133 23 303
114 [ AH )77 406 406
115 | 7= FFHIR 2,966 2,966
116 [ ~FF TV IR 10 0 10
117 |7 73y —n 2,267 18 2,285
118 [3ymrs=)1 549 85 6 640
119 [7=r 7oty — 1,014 6 1,021
124 |73y 412 412
125 |[roo~L v 5,880 5,880
137 [ 73K
138 |[Pr7as Ay 744 744
139 [FFmAR) 11 0 0 0 0 11
140 |7 = 7w R 1,320 0 0 0 1,320
141 [ EFH=1 234 234
144 iﬂi o T ACE DGR K O T R A R
146 |[EVIRAAF L 893 893
147 |[FA~NCHLT 4 518 522
148 |[h7 = App—L 3,067 3,067
152 [ sy7 12,279 76 1,832 14,188

’ : 274 626 900

482 397 78 957

169 |V 110 8 121 240
170 |[Fhaiy—i 0 0
171 |[Farary—n 25 41 66
172 A rurRs 259 259
174 [V=any 1,098 5,862 6,960
175 |2,4-D 237 5 55 297
179 |D-D 15,838 15,838
182 |[EIY/FyTxr 235 235
183 £V L—h 4,614 4,614
184 [Yrm~ogL 2,792 7,102 680 8,167| 18,742
187 |[VFT v 1,932 13 1,945
91 (Y FaFAT 1,416 1,416
192 | =T 47 =V IRA 40 40
193 |=F LFA AR 8,297 28 94 8,419
194 |74 140 140
195 | FaFF7RA 1,130 1,861 38 21 76 255 3,382
196 [ AFHFA 8,350 114 8,464
197 =5/ 843 1,247 2,128 4,218
198 |V ART—] 3,279 3,279
206 |HNARRALT 7 247 77 324
207 |2,6-T—tert-7 F)-4-JLY —)L 10 10
212 [7E7=—F 376 16,303 1,510 13 2 154] 18,358
213 [NN-VAF LT ERT IR 28 28
217 |FATITA 1 49 50
221 | NUTFGHNT 1,591 474 2,065
222 |7 )FAINT
225 |NYZ7Liky 1,317 766 4,465 114 0 46 156 6,864
227 |/85=2—h 518 3,243 1,585 90 303 5,740
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229 [FAT 7 X AF L 12,017 3,493 15,510
233 [Z=o b} 1,043 12,995 1,641 15,679
236 | T AAFT =/
244 [FY A0k 80,850 80,850
28 ATV 6,860 13,451 21 16 156 20,535
249 | /L E YRR 14,994 1,954 16,918
250 [ (/%Y FAr 154 983 19 0 0 1| 1187
%1 [T Tt 14,501 6,041 545 514 1 5 6] 11,623
252 | 7= F Ao 973 25 0 1 4 1004
253 |77 = JIRA
254 [ {7 B~ kA 306 306
257 |74 /= 2,415 2,415
258 |~ YAFLLTRII 954 125 1,079
260 |/ongu=, 3,901 4,204 5,862 858 1| 14,829
261 |7 SAF 10,766 10,766
266 |77 /LRI 779 779
267 |[FHSHLT 51 52 5 0 0 108
268 | V7L 1,627] 47,669 2,413 30 54,739
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 14 7 21
275 |FT S /R Mo 273 548 13 1 2 6 872
285 [/an s 651,297 651,297
286 [FUZBEL 5 21 71 97
203 (N7 502 6,728 6,728
206 |L,2,4- N AF L~ By 842 271 1114
207 |L,3,5- N AF L~ By 208 631 246 1,086
300 [Fbmy 31 17 71 120
302 |[FoaLy 35 10 1,086 1,131
323 [V AN 2,369 2,369
325 A% 42,005 2,275 120 99 334 44,833
326 | JnT=rF o
328 [V 41,367 31 110 371 41,879
329 [HUH—r " A—F 1,996 1,724 400 14,120
331 | AR 2,913 2,913
340 [E7==1 37 37
350 |~ AN 218 789 0 1| 1,009
BT T 261 20 281
357 |7 FuT = 1,039 165 36 1,240
358 |77 7= OF 556 24 580
360 |~/ 1,884 2,532 902 1 8,320
361 2,487 2,487
362 [T Tz Funy
363 X TUT 278 278
364 | 7= B mF L A— 13 1 1 15
369 |7 SLE Sk 2,970 2,970
370 [EVF~r 60 10 100
371 |77 7=  ETF 100 20 120
376 |72 ra— 1,026 1,026
378 |[Fue x> 145,078 632 15,710
383 |[Tavi L 1,325 1,325
386 | RALAT L 2,579 2,579
387 |7 = T HARX 265 0 265
400 |~ B 4 71 8 83
102 A7 =)ok 2,422 2,422
405 [IZH5F LAY 2 37 2 570 611
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,003 26,199 1,034 690 2 6 21| 32,045
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 161 2,933 1,353 176 0 2 5| 4,63
409 i%}fﬁﬁ{ﬁ)z:/):]‘T‘/’”Igf”ﬁﬁi 622 6,562 1,901 2,266 6 20 68| 11,445
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 975 9,676 12,065 501 3 6 31| 23,259
114 [Bk=L A B 3 3
122 [7=U07y 5,238 5,238
120 AT = AT F T F—h 920 920
125 [T a7
127 [ U 11,567 385 11,952
128 | 7= )7 AT 275 275
129 [ ~EALTEUATAL 393 20 113
130 (A RF AT 5 5
BL[7IxLARREY 240 100 1,690 307 2,337
132 |75 R 20 20
133 [I—~L 50 50
134 [FEFn 2,053 2,053
135 [EV A IATF 567 567
138 | AFTTHL 302 21 2,161 1 0 0 o 2492
142 [ A7e=1 3,268 104 416 6 23 8| 3,804
143 AV 2,194 3 2,197
144 [N)7ek v ARRE Y 1,050 1,050
15 [JUIR S BATIL 3,250 643 3,892
19 [T=  AF 4T 7 A
150 [CV7FINT 130 130
156 [DAAET LI=0 4 330 330
457 |7 a)LIRA
B i 117,797] 464,711 966,827 6,291 3,485 763 16,420 1,576,207
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#2-1-3 IR L R G - R S E R O H BHEG R CTk 224 L 55 I

XA FEWE AR i (kg/4F)

i Fet 3
e WL B RME | oo | gk |CRREF e
L [HSROKEMEL S 2 0 2
13 |[7Er=FL 11 30 40
21 |y
22 |747n=)v 139 5 144
25 |ANT Vv 300 4 304
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 2 2

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 226 1,060 845 21 1 1 42 2,195

O ZDIREMIZIRD)
40 |[E7=F¥—F 394 146 540
41 |7 hF=L 91 35 126
46 |FY Ry 7 =T )L 280 280
47 | THIRA 104 3 107
48 |EPN 41 49 90
49 | F AT 937 11 42 990
50 |EUFR—k 1,336 1,336
52 |[7o=hmr7 200 200
53 |=F vy 1 3 162 1 0 1 1 171
54 |HRAFTE—h 593 593
61 |~rx7 576 74 650
62 |~ra¥s 8,052 4,478 12,531
63 |27 b7 usR 630 810 1,638 150 207 3,436
64 |Th7=rTaysR 942 393 1,336
10 | A0 T BB 9 ;
80 |F L 6,525 1,456 14,247 303 22 54 74| 22,682
82 [§RK D KB LAY
83 [ZAv 78 78
90 |ThIVv 5,059 5,059
91 7 Fvv 7 1,232 1,239
92 [ML7= TR 15 510 525
93 |ArFru—1 3,414 3,414
95 |TATVF A 234 869 4 1,107
96 |P7x/a)y— 49 1 11 61
100 | FLFFrm—L 4,568 4,568
101 |7F7m—)L 2,989 2,989
108 [Aa7my 217 843 1,120
13 [v=ov 15 126 16 157
114 [ AH )77 162 162
115 | 7= FFHIR 1,780 1,780
116 [ ~FF TV IR 16 4 20
117 |7 73y —n 1,151 184 1,335
118 [3ymrs=)1 25 1 26
119 [7=r 7oty — 21 1 22
124 |73y 749 749
125 [/oo~u Py 2,989 2,989
137 [ 73K 1 1
138 [2Z7uyAvk 117 117
139 [FFmAR) 31 4 2 0 0 38
140 |7 = 7w R 61 9 0 0 70
141 [ EFH=1 78 78
144 ? o T ACE DGR K O T R A R
146 |EUIRAAF L
147 |[FA~NCHLT 42 694 736
148 |[h7 = App—L 1,966 1,966
152 [ sy r 923 72 613 1,607

’ : 26 74 100

200 617 72 890

169 |V 85 29 219 334
170 |FhFa)/ —b
171 |[Faratry—i 50 14 64
172 A rurRs 2,231 2,231
174 [V==ny 84 4,090 4,174
175 |2,4-D 1,002 170 147 1,319
179 |D-D 3,519 3,519
182 |[EIY/FyTxr 105 105
183 £V L—h 4,276 4,276
184 [Yrm~ogL 1,450 801 706 3,186 6,142
187 |[VFT v 1,008 1,008
91 (Y FaFAT 1,820 54 74 1,948
192 | =T 472U 7RA 8 8
193 |=F LFA AR 4,145 52 70 4,267
194 |AFHa
195 | FaFF7RA 102 159 4 13 34 46 358
196 [ AFHFA 1,559 113 1,672
197 [~F/v 25 34 310 369
198 |V ART—h 418 418
206 |HNARRALT 7 170 28 199
207 |2,6-T—tert-7 F)-4-JLY —)L 8 8
212 |7 7=—h 147 5,552 429 56 2 220 6,406
213 INNN-UAF LT ERTIR 28 28
217 |FALIT A
221 | NUTFGHNT 1,434 242 1,676
222 |7 )FAINT
225 |NYZ7Liky 524 11 1,546 41 1 23 31 2,282
227 |/85=2—h 450 556 1,151 107 145 2,410
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229 [FAT 7 X AF L 50 1,631 2,611 of 4322
233 | = b —F 222 942 377 1,541
236 [T AAF L= 270 270
244 |77 AVE 105,840 105,840
28 ATV 1,069 1,635 13 33 45| 5,795
219 |70/ EURA 2,352 243 2,595
250 [ (/%Y FAr 50 602 29 0 1 1 684
%1 [T Tt 4,141 3,124 843 837 11 108 18| 9211
252 | 7= F Ao 1,181 138 7 20 27| 1373
253 |77 = JIRA
254 | AT RUIRA
257 |74 /= 3,067 3,267
258 |~ YAFLLTRII 264 134 397
260 |Zansn=i 1,409 716 3,627 927 6,679
261 |7V IAF 2,234 2,234
266 |77 /LRI 280 280
267 |FA IS 35 162 8 0 0 206
268 | V7L 206 1,810 3,374 150 96 120 8885
272 |$RKIEMEH B2 BRS) 60 60
273 In-RT I AT a—i 19 7 26
275 |FT S /R Mo 38 86 I 1 2 2 173
285 [/an s 24,568 24,568
286 [FUZBEL 12 53 71 136
203 [FI7 A5 3,603 0 1 1| 3605
206 |L,2,4- N AF L~ By 374 5 380
207 [1,3,5-RUAF L~ By 92 1 61 198
300 [z 6 5 11 22
302 |[FoaLy 18 3 994 1,015
323 [V AN 1,364 1,364
325 A% 5,516 1,153 70 108 146] 6,992
326 |72 FV
328 [V 2,512 13 35 48| 2,608
329 [HUH—r " A—F 1,027 2,615 400 1,043
331 | HAY AR 303 303
340 |7 ==L 2 2
350 |~ AN 144 209 0 0 0 353
BT T 103 32 135
357 |7 a7V
358 |77 7= OF 16 4 20
360 |~/ 409 208 208 20 845
361 1,886 1,886
362 [T Tz Funy
363 X TUT 185 185
364 | 7= B mF L A— 6 3 1 10
369 |7 SLE Sk 870 870
370 [EVF~r 20 20
371 |77 7=  ETF 140 20 60
376 |72 ra— 2,966 2,966
378 |[Fue x> 9,464 896 10,360
383 |Towi v 3334 3334
386 | RALAT L 2,750 2,750
387 |7 = T HARX 648 1 649
400 |~ B 1 5 2 8
402 [A7=F ok 1,292 1,292
405 [IZH5F LAY 3 10 2 1,520 1,535
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 992 3,449 1,955 328 1 11 15| 6,754
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 98 354 978 76 1 3 3| 1513
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”WEM 1,391 2,897 3,556 3,569 45 120 163 11,739
410 ?y(’k%yl%y/)*/"”71"”1—7 554 1,260 5,777 220 4 8 1| 7,83
414 K~ AR
122 [ 72007 1,816 1,816
120 AT = AT F T F—h 720 720
125 |47 aHnn T
127 [ U 1,706 569 2,275
128 |77 LT 72 72
129 |~ OAL T AT 219 20 269
130 (AL FEHFHLT 15 15
BL[7IxLARREY 30 505 27 562
132 |75 R
133 [I—~L 12,400 12,400
134 [FEFn 723 723
135 [EV A IATF 201 201
138 | AFTTHL 312 3 1,850 2 0 1 1| 2169
142 [ A7e=1 68 11 58 62 5 6 210
143 [ X 721 0 727
144 [N)7ek v ARRE Y 575 575
15 [JL V%L DAFIL 1,940 600 2,510
19 [T AT AT 74
150 [CV7FINT 144 144
156 [DAAET LI=0 4 165 165
457 |7 a)LIRA
B i 58,206]  65,564] 256,781 5,876 3,408 1,081 15,171 _ 406,087
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i Fet 3
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1| HEROKEIE LAY 2 1 3
13 | 7Eh=hv 33 28 61
21 |y
22 747 =L 1,970 5 1,975
25 [ANTVv 5 5
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i 16 16
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 375 984 1,526 39 11 1 8 2,944
O ZDIREMIZIRD)
40 [E7=FE—k 115 85 200
41 |[7hg=1 866 80 946
46 |FY Ry 7 =T )L 903 903
47 |7 HIRA 4 132 10 146
48 |EPN 136 107 243
49 [T AZY 1,856 1 1,857
50 |EUF—h 4,242 4,242
52 |7o=H017 120 120
53 |mF P 3 13 63 3 0 0 0 83
54 |HRAFTE—b 504 504
61 |~vvx7 282 93 375
62 |vra®s 2,325 3,122 5,447
63 |Y/7hY7 a3k 698 455 987 193 340 2,673
64 |Th7xrTavsA 1,398 658 2,057
70 | =~ ATF U AR 16 0 0 16
80 [Fi L 7,555 1,551 28,170 750 26 87 152 38,292
82 SRR U DKBHLE Y
83 [ZAv 13 2 15
90 |[TrIVv 244 244
91 [> 7P 41 5 20 81 147
92 [ML7=ESR 165 165
93 |[ArF/H—)L 244 244
95 |ZATVF A 80 181 29 291
96 |Y7=/a)ry—n 45 3 2 23 0 73
100 | FLFFrm—L 4,175 4,175
101 |[7F7m—)v 5,366 40 5,406
108 |Aa7my 7 117 715 832
113 [~Yv 4 107 25 136
L4 | A F )77 147 147
115 | 7= RH3R 1,449 1,449
116 |[~FF TV IR 6 4 10
117 |F 72y — 330 450 780
118 [3ymrs=)1 1 33 2 36
119 |7z Ta)y/—i
124 |73vmy 55 55
125 7o~ Py 2,352 2,352
137 | 73K
138 |[Pr7as Ay 186 186
139 [FFmAR 3 1 1 0 0 4
140 |7 =27 m SRy 60 3 0 0 63
141 [EFF=L
144 iﬂi o T AL EER K O T R A TR
146 |EYIRAAF L 47 47
147 |[FASVHANT 30 1,362 1,392
148 | B 7z Abm—/L 2,128 45 2,173
152 [z y>r 2,373 140 832 3,345
g 3 71 379 450
45 337 34 417
169 |Pom 367 267 205
170 |7ho=a)—n 1 0 25
171 |[Furapry—n 275 27
172 | AFHYVrmiRy 51 90
174 V== 60 8,114
175 |2,4-D 1,981 109 437
179 |D-D 31,910
182 |BTY/¥ v Txv 310
183 [TV —Fh 4,834
184 |[Pru~=) 2,285 252 798 6,188
187 |PFT v 252 13
191 Ay FuF4T 2,680
192 | =T 47 =V IRA 3
193 |=FLFF AR 2,341 54 92
194 |AFHa
195 |7 uFAHRA 9 165 8 0 0 0 184
196 | AFHF A 804 104 908
197 |~ 335 202 1,207 1,745
198 | ART—h 4 344 348
206 |[HAARALT 7 126 8 134
207 |2,6-T—tert-7 F)-4-JLY —)L 16 16
212 [7E7=—F 81 6,380 1,544 13 4 98 8,121
213 [NN-VAF LT ERT IR 14 14
217 |FATITA 7 43 50
221 | NUTTINT 789 136 925
222 |7 )FAINT
225 |NYZ7Liky 1,983 259 3,892 427 3 69 118 6,750
227 [/3F=a—k 499 302 691 138 236 1,865
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229 [FA 77k —FAF L 686 2,038 2,725
233 | 7= hT—F 268 206 231 704
236 [T AAFL =L 30 30
244 |5V ASk 34,398 34,398
U8 |[FATV ) 744 5,881 19 68 116 6,827
249 |V EURA 294 6 300
250 |A/%YTF AL 7 1,331 234 2 3 14 1,596
251 |7x=haFFr 6,274 1,445 1,528 947 7 622 1,063] 11,887
252 [T=v T Ay 16 59 0 16 28 149
253 |77 = JIRA
254 | AT AR IRA 17 17
257 |[FH )= 290 290
258 [~FHFAFLUT T 70 79 149
260 |/nnzn= 2,250 128 3,571 2,294 1 8,544
261 |7V AK 947 947
266 |77 LRI 7 77
267 |[FATILT 14 182 146 1 8 353
268 | FUT A 135 1,630 2,725 540 9 16 5,055
272 |$RKIEMEH B2 BRS) 84 84
273 In-RT I AT a—i 23 10 33
275 |[F7 S AR T NI 4 85 51 16 3 2 3 190
285 |rmae sy 17,153 17,153
286 |FzmE L 27 121 207 355
293 [NIZA50 2,627 2,627
296 |1,2,4-RUAF LB 62 17 79
297 [1,3,5-NUAF L~ P 15 2 19 36
300 [pr—y 10 5 10 25
302 [F7ALY 35 1 1,762 1,798
323 [L AN 1,573 1,573
325 | A% Lo 2,265 1,964 377 120 204 4,930
326 |72 FV
328 [U5A 687 20 87 119 943
329 [RUA— AR 194 1,909 1,100 3,503
331 | HAPHRA 201 201
340 [E ==L 0 2 2
350 |[~UL AN 64 176 30 0 0 270
B0 FIL 35 19 54
357 |7 a7=Dn 35 51 48 17 150
358 [F7 7= /UK 22 38 60
360 [~ /3L 1,084 530 498 8 2,120
361 1,595 1,595
362 [T Tz Funy
363 [AFPUTV 200 200
364 |7 uFLA—| 1 6 5 15
369 |7 Xk
370 [EUF R 40 40
371 |57 72 ETR 10 40 50
376 |74 sa—L 2,607 2,607
378 | Fuexs 633 417 1,050
383 | TuwiL 1,935 1,935
386 | RALAT L 11,689 11,689
387 |7 = T HARX 141 5 146
400 |[~oPr 1 1 1 3
402 | A7 =F &k 817 817
405 [1IH>FILEW 26 9 1 6,365 6,404
RIFF LV TF L) =T VXN T—T )T
407 | LAV EEDIRFHN 2D B 15 TOHED R R 1,949 1,422 1,152 519 4 18 30 5,094
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 127 203 2,199 130 1 4 7| 2,691
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 863 882 1,197 2,940 22 100 10| 6,174
410 ?y(’k%yl%y/)*/"”71"”1—7 186 717 1,997 393 5 16 2| 365
414 K~ AR
122 |72V Ly 997 997
424 AFN=AVFFLT F—h 7,180 7,180
125 |47
427 AU 1,108 1,114 2,202
128 | 7= )T INT 360 360
129 | NOALT O AT 100 100
430 (A REP T
431 |7/ ¥ ARIE 10 965 278 1,253
432 |[7IRTRA
433 [ 1— 4 5,300 5,300
434 [AF P31 129 129
435 [V AU I ATV 864 864
138 [ AFALFTHLL 310 9 3,181 16 0 1 1 3,518
42 [AFu=1 43 1 20 1 1 6 75
43 [Ar 551 1 552
444 |N)7nF o AhrES
445 [V IF T LAF IV 146 386 531
M9 [T=2 AT 4T 71
450 [CVTF LT 184 184
456 [D/ALT NI=0 A 165 165
457 |7 a)LIRA
& Gt 68,042 23,831 210,994 3,153 6,973 1,761 30,896] 350,650
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#2-1-5 EERITAR D R G - Rk G S E R OHE H Bt R CT k2248 BE Bk i )

R WE AR ik (kg/4FE)
i Fet 3
e WL B RME | oo | gk |CRREF e
1 |HEROREIEE Y 3,940 3,940
13 |[7Er=FL 3 0 3
21 |y
22 |747n=1 1,223 1,223
25 [ANTVv 50 50
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl g .
BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 228 1,737 390 8 0 0 17 2,381
O ZDIREMIZIRD)
40 [E7=FE—}
41 [Frkg=n 1,529 1,529
46 |FVoky S =F L 392 392
47 |7 HIRA 292 6 298
48 |EPN 27 20 47
49 |~ FgARY 593 11 95 699
50 |EVUx—h 4,414 4,414
52 |[79=hL7 120 120
53 |=F LBy 1 6 53 0 0 1 1 62
54 |HAFTE—] 110 110
61 |~wox7
62 |~ ot 3,156 2,780 5,936
63 |77 EIR 263 206 232 40 53 794
64 |=h7xr oy 2,342 373 2,715
10 | A0 T BB 6 :
80 [Fs Lo 7,179 1,049 6,311 170 17 87 107] 14,919
82 |$RK O D/KIEMEILAEY
83 |7A~ 20 20
90 |TrFVv 93 93
91 [>T FPv
92 [Mr 7= IR 150 150
93 |ARTZE—L 754 754
95 [TATVF A 33 79 5 117
96 |Y7=/ary—1 55 3 11 69
100 |[FLFF7m—1 14,615 14,615
101 |[757m—)L 1,801 1,801
108 [Aa7mys 92 758 850
13 [v~=vv 5 39 7 51
14 A% )77 221 221
115 |7 hIHIR 3,728 3,728
116 |[~FSFTYIR
17 |77 3y —n 608 52 660
118 [37urs= 3 58 2 63
119 [7=r7a)fy—n 21 1 22
124 |731my 190 190
125 [7op~_u Py 1,323 1,323
137 |2 7338
138 [P7oi Avb 126 126
139 [FomAR) 6 1 1 0 0 8
140 |7 =7 /SR 150 150
141 [ XY= 54 54
144 | T LB GRER U 7 B
146 |EUIRAAF L
U7 |FAALT 173 2,629 2,802
148 [#7 =L Abm—)L 1,264 1,264
152 W57 11,758 286 1,508 13,553
g : 12 38 50
116 449 14 580
169 [orm 119 27 314 460
170 |FhFa)—1 10 1 12
171 |[Farary—n 25 14 39
172 | Ao rmaRs 1,029 1,029
174 [V=an 63 3,471 3,534
175 |2,4-D 1,207 15 122 1,344
179 [D-D 17,399 17,399
182 [TV ¥ Txr 170 170
183 |&FYL—h 7,534 7,534
184 [Yro~=)L 937 221 138 1,234 2,530
187 [CF7 v 1,428 26 1,454
191 |4V FaF45 248 248
192 |=F 47 = kA 212 212
193 |=F L F A AR 1,250 27 33 1,310
194 |AFHa
195 |[FaFA+kEx 195 123 1 5 33 40 397
196 |AFHF A 583 69 652
197 =5/ 150 127 385 662
198 | ART—h 900 900
206 [HARANLT 7 347 42 389
207 |2,6-T—tert-7 F)-4-JLY —)L 5 5
212 [7&7=—} 40 2,126 248 5 2 45 2,465
213 [NN-VAF LT ERTIR
217 |FAT T4
221 [~v 7507 2,712 179 2,891
222 |7 )FAINT
225 (R 7y 1,300 217 1,660 109 1 30 36 3,352
227 [F=—} 188 130 163 29 35 545
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229 [FAT 7 X AF L 1518 2,805 1,323
233 | = b —F 123 1,138 25 1,286
236 | T AAFT =/
244 |77 AVE 19,600 19,600
28 ATV 389 2,706 14 86 105 3,300
249 | /L E YRR 1,176 1,176
250 [ (/%Y FAr 22 373 29 0 2 2 128
%1 [T Tt 3,077 1,338 848 331 3 29 36| 5,662
252 | 7= F Ao 58 23 0 5 6 92
253 |77 = JIRA
254 [ {7 B~ kA 17 17
257 |74 /= 1,474 1,474
258 |~ YAFLLTRII 91 72 164
260 [Zanin=r 2,298 669 1,431 1,192 8,590
261 |7V IAF 30,754 30,754
266 |77 /LRI 18 18
267 |[FHSHLT 13 86 81 1 6 186
268 | V7L 78 3,760 3,067 240 7,145
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 3 1 4
275 |FT S /R Mo 83 13 20 0 115
285 [/an s 3,464 3,464
286 [FUZBEL 2 15 19 36
203 [FI7 A5 2,034 2,234
206 |L,2,4- N AF L~ By 94 94
207 [1,3,5-RUAF L~ By 23 22 10 86
300 |ML= 2 1 1 4
302 |[FoaLy 52 1 654 706
323 [V AN 1,236 1,236
325 A% 1,812 497 52 1 2| 2,364
326 |72 FV
328 [V 670 2 13 17 702
329 [HUH—r " A—F 256 674 100 1,030
331 | AR 90 90
340 |7 ==L
350 |~ AN 71 169 243
BT T 50 20 70
357 |7 FuT = 25 12 3 10
358 |77 7 )UK
360 |~/ 1,263 1,135 591 1 2,990
361 3,514 3,514
362 [T Tz Funy
363 X TUT 414 414
364 | 7= B mF L A— 2 2 1 5
369 |7 SLE Sk 90 90
370 [EVF~r 20 20
371 |77 7=  ETF 20 20 10
376 |72 ra— 7,331 7,331
378 |[Fue x> 2,495 445 2,940
383 |[Tavi L 859 859
386 | RALAT L 7,134 7,134
387 |7 = T HARX 240 240
400 |~ B 0 6 0 6
402 [A7=F ok 1,288 1,288
105 [BFLLW 15 1 1 4370 4,390
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,414 2,700 1,061 303 3 17 21 5,519
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 165 332 1,056 75 1 4 5| 1,638
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 1,472 1,718 1,282 2,223 19 125 154 6,993
410 ?y(’k%yl%y/)*/"”71"”1—7 1,120 1,035 1,078 218 3 16 65| 3,53
414 K~ AR
122 [ 72007 8,338 8,338
120 AT = AT F T F—h 20 20
125 [T a7
127 [ U 982 119 1,101
128 |77 LT 128 128
129 |~ OAL T AT 210 240
130 (AL FEHFHLT 20 20
BL[7IxLARREY 528 50 585 27 1,190
132 |75 R
133 [I—~L 3,600 3,600
134 [FEFn 2 2
135 [EV A IATF 942 942
138 | AFTTHL 391 6 1,153 1 0 0 o 1556
142 | AFe=r 190 190
143 [ X 163 0 163
444 |N)7nF o AhrES
15 [JL V%L DAFIL 243 171 114
19 [T AT AT 74
150 [CV7FINT 346 346
456 |[DAAET V=D A
457 |7 a)LIRA
B i 132,626]  38,009] 107,238 3,312 2,088 563 15,690 300,035
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i Fet 3
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21 |y
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271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt 56 56

BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 590 6,318 1,455 23 3 1 22 8,412
O ZDIREMIZIRD)

40 [E7=FE—} 571 69 640
41 [Frkg=n 2,222 2,222
46 |FVoky S =F L 259 259
47 |7 HIRA 761 28 789
48 |EPN 87 99 186
49 |~ FgARY 1,096 66 1,162
50 |EVUx—h 4,506 4,506
52 |[79=hL7 240 240
53 |=F vy 2 35 321 0 0 4 5 368
54 |HRAFTE—h 413 413
61 |~ x7 2,350 100 2,450
62 |~ ot 8,572 4,024 12,597
63 |77 EIR 263 803 362 47 61 1,536
64 |Th7=rTaysR 3,773 721 3 25 32 4,554
70 | =~ A7 F 72 AR 14 0 0 14
80 [Fs Lo 9,804 9,159 12,641 389 25 49 62| 32,130
82 |$RK O D/KIEMEILAEY
83 |7A~ 39 2 41
90 |TrFVv 118 118
91 [>T FPv
92 [Mr 7= IR 30 105 135
93 |ArFru—1 53 53
95 [TATVF A 76 245 2 323
96 |Y7=/ary—1 536 9 0 11 0 556
100 | FLFFrm—L 14,769 14,769
101 |[757m—)L 696 40 736
108 [Aa7mys 117 1,083 1,200
13 [v~=vv 27 118 15 161
14 A% )77 42 42
115 | 7= FFHIR 1,540 1,540
116 |[~FSFTYIR 9 1 10
117 [77a)Fy—n 1,960 20 1,980
118 [37urs= 9 6 1 17
119 [7=r7a)fy—n 224 2 227
124 |731my 137 137
125 [7op~_u Py 588 538
137 |2 7338 658 658
138 [P7oi Avb 186 186
139 [FomAR) 42 2 1 0 0 45
140 |7 = 7w R 734 26 760
141 [ XY= 240 240
144 | T AL RIGRER O 7 R
146 |EVIRAAT L 47 47
U7 |FAALT 81 5,843 5,924
148 [#7 =L Abm—)L 1,848 45 1,893
152 W57 4,721 193 670 5,584

: 16 34 50

2,311 2,238 71 4,620

169 [orm 303 10 6 320
170 |FhFa)/ —b
171 |[Farary—n 25 18 43
172 A rurRs 715 15 730
174 [V=any 62 3,320 3,382
175 |2,4-D 221 3 27 250
179 [D-D 45,783 45,783
182 [TV ¥ Txr 320 320
183 |&FYL—h 7,936 7,936
184 [Yrm~ogL 6,545 5,427 1,080 10,087| 23,139
187 [CF7 v 1,474 30 1,504
191 |4V FaF45 4,100 4,100
192 |=F 47 = kA 124 124
193 |=F L F A AR 1,371 27 34 1,431
194 |AFHa
195 |[FaFA+kEx 228 158 1 3 21 27 438
196 |AFHF A 4,875 157 5,032
197 =5/ 879 2,274 3,055 6,207
198 | ART—h 895 895
206 |HNARRALT 7 422 88 510
207 |2,6-T—tert-7 F)-4-JLY —)L 10 14 24
212 [7&7=—} 667 11,454 1,028 20 2 185] 13,355
213 [NN-VAF LT ERTIR
217 |FAT T4 69 131 200
221 [~v 7507 2,829 401 3,230
222 |7 )FAINT
225 (R 7y 2,089 978 4,050 181 1 56 72 7,426
227 |/85=2—h 188 553 258 34 43 1,075
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229 [FAT 7 X AF L 0 11,790 5,262 17,053
233 [Z=o b} 346 629 241 1,216
236 | T AAFT =/
244 |7V Avk 36,064 36,064
28 ATV 1,083 1,955 5 2 32| 9,102
249 | /L E YRR 2,132 2,132
250 [ (/%Y FAr 18 999 65 0 2 2| 1087
%1 [T Tt 8,437 7,79 2,033 670 2 19 62| 19,051
252 | 7= F Ao 1,243 37 3 21 21 1331
253 |77 = JIRA
254 | AT RUIRA
257 |74 /= 346 346
258 |~ YAFLLTRII 266 65 330
260 |Zansn=i 1,102 1,761 2,960 562 6,385
261 |7V IAF 14,746 14,746
266 |77 /LRI 67 67
267 |[FHSHLT 9 2 33
268 | V7L 236 8,966 966 60 10,228
272 |$RKIEMEH B2 BRS) 24 24
273 In-RT I AT a—i 63 7 70
275 |FT S /R Mo 161 162 I 1 1 1 370
285 [/an s 1,627 1,627
286 [FUZBEL 0 1 2 3
203 (N7 502 5,053 5,053
206 |L,2,4- N AF L~ By 187 14 201
207 |L,3,5- N AF L~ By 16 105 57 209
300 [Fbmy 9 5 10 2
302 |[FoaLy 37 1 749 787
323 [V AN 2,057 2,057
325 A% 19,458 1,468 204 31 39 21,200
326 |72 FV
328 [V 830 2 13 17 862
329 [HUH—r " A—F 5,506 5,731 250 11,488
331 | AR 111 111
340 [E7==1 10 10
350 |~ AN 648 112 10 771
BT T 404 71 475
357 |7 FuT = 899 165 35 1,100
358 |77 7 )UK
360 |~/ 591 2,205 392 2 3,190
361 2,386 2,386
362 [T Tz Funy
363 X TUT 112 112
364 | 7= B mF L A— 33 5 2 10
369 |7 SLE Sk 150 150
370 [EVF~r 20 20
371 |77 7=  ETF 20 30 50
376 |7 Hoa—n 6,408 6,408
378 |[Fue x> 7,020 890 7,910
383 |[Tavi L 346 346
386 | RALAT L 774 774
387 |7 = T HARX 1,378 9 1,387
400 |~ B 1 1 1 1
102 A7 =)ok 1,171 1,771
405 [IZH5F LAY 5 12 2 1,805 1,823
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,481 15,231 1,719 399 1 11 14| 18,855
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 179 1,567 937 103 0 4 5| 2,795
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”WEM 1,736 8,614 2,383 3,326 12 90 14| 16,275
410 ?y(’k%yl%y/)*/"”71"”1—7 875 5,026 2,178 302 4 10 12| 808
414 K~ AR
122 [ 72007 5,574 5,574
120 AT = AT F T F—h 140 140
125 [T a7
127 [ U 1,010 624 1,634
128 | 7= )7 AT 551 80 631
129 |~ OAL T AT 112 112
130 (AL FEHFHLT 5 5
BL[7IxLARREY 1,544 880 390 85 2,899
132 |75 R 20 20
133 [I—~L 3,650 3,650
134 [FEFn 19 19
135 [EV A IATF 201 204
138 | AFTTHL 113 26 1,329 7 0 1 2| L9
142 [ A7e=1 676 50 726
143 AV 14 1 715
144 [N)7ek v ARRE Y 250 250
15 [JUIR S BATIL 1,892 514 2,406
19 [T AT AT 74
150 [CV7FINT 113 113
156 [DAAET LI=0 4 165 165
457 |7 a)LIRA
B i 125,667]  160,539] 195,455 6,535 2,875 521 15,166 _ 506,761
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FK2-1-T IR L G - R G S E R O H B 1 R CT k2248 BE 1 5 L)

XA FEWE AR ik (kg/4FE)

i Fet 3
e WE4 i SE | ano Tama | e
1 |HgR KB EY 16,844 16,844
13 |[7Eb=FL 17 108 125
21 |rmxyy
22 |747n=1 954 954
25 [ANTVv 350 26 376
27 | AF3hEr
29 [1-7UNAF-2,3-TRF L S 64 o1

BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 327 7,144 2,811 20 5 0 34| 10,341

OZDREWIZRD)
40 [E7=FE—} 122 38 160
41 [Frkg=n 78 11 89
46 |FY Ry 7 =T )L 35 35
47 | THIRA 11 131 83 225
48 |EPN 19 26 45
49 |~ FgARY 710 24 82 816
50 |EVUx—h 9,528 9,528
52 |[79=hL7 1,120 1,120
53 |=F vy 1 43 61 2 0 0 0 107
54 |HRAFTE—h 413 413
61 |~ x7 42 8 50
62 |~ ot 7,744 3,545 11,290
63 |77 EIR 915 1,417 1,453 88 484 4,357
64 |Th7=rTaysR 221 74 295
70 | =~ ATF U AR 17 0 0 17
80 [Fs Lo 4,384 2,207 8,726 319 22 12 193] 16,164
82 |$RK O D/KIEMEILAEY
83 |7A~ 442 2 444
90 |TrFVv 421 421
91 [o7Fvr 26 5 3 16 50
92 [Mr 7= IR 105 105
93 |ArFru—1 395 395
95 [TATVF A 314 314
96 |Y7=/ary—1 117 3 0 34 0 154
100 | FLFFrm—L 12,256 12,256
101 |[757m—)L 825 80 905
108 |Aa7my 7 829 1,423 2,252
13 [v~=vv 20 124 65 209
14 A% )77 158 158
115 | 7= FFHIR 3,237 3,237
116 |[~FSFTYIR 25 5 30
117 |73y —n 213 97 310
118 [3ym7 =1 8 55 5 68
119 [7=r7a)fy—n 126 6 132
124 |731my 2,091 45 2,136
125 |[roo~L v 735 735
137 |2 7338 3 3
138 [P7oi Avb 477 477
139 [FomAR) 13 2 1 0 0 15
140 |7 = 7w R 40 0 40
141 [ XY= 144 144
144 BT ACEMGRIR O 7 R
146 |EVIRAAT L 47 47
U7 |FAALT 4 176 180
148 [#7 =L Abm—)L 1,628 1,628
152 [ sy7 1,888 86 503 2,476

’ : 117 333 450

265 527 84 876

169 [orm 132 132
170 |[Fhaiy—i 21 3 25 48
171 |[Farary—n 50 45 95
172 A rurRs 515 60 575
174 [V=any 259 2,839 3,098
175 |2,4-D 946 1,006 151 2,103
179 [D-D 8,046 8,046
182 [TV ¥ Txr 135 135
183 |&FYL—h 6,224 6,224
184 [Yrm~ogL 640 389 366 1,471 2,867
187 [CF7 v 1,470 182 1,652
191 |4V FaF45 6,320 6,320
192 |=F 47 = kA 108 108
193 |=F L F A AR 2,348 15 83 2,446
194 |AFHa
195 |[FaFA+kEx 77 178 5 19 12 65 356
196 |AFHF A 1,686 100 1,786
197 =5/ 222 605 1,076 1,903
198 | ART—h 9 423 432
206 |HNARRALT 7 428 71 499
207 |2,6-F—tert—7 F/L—4-UL Y —)L 355 17 372
212 | 77—} 217 7,069 791 41 1 141 8,260
213 [NN-VAF LT ERTIR
217 |FALIFA
221 [~v 7507 1,183 235 1,418
222 |7 )FAINT
225 (R 7y 1,419 367 3,504 204 4 19 106 5,622
227 |/85=2—h 654 994 1,036 63 344 3,090
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229 [FA 77 F—FAFNL 3,985 3,113 7,098
233 [Z=o b} 234 130 159 523
236 [T AAF L= 30 30
244 |7V Avk 115,640 115,640
28 ATV 4,186 1,452 15 9 B 5,710
249 | /L E YRR 1,250 1,250
250 | A%y FAr 11 662 17 1 1 3 724
%1 [T Tt 3,355 3,402 168 1,518 29 662 6,027 15,461
252 [T=v T A 175 62 2 1 21 263
253 |77 = JIRA
254 |47 0~ 357 357
257 |FH )= 1,432 1,432
258 |~ HAFLLThTIL 233 110 344
260 |Zansn=i 2,220 5,148 6,675 2,929 2| 16,974
261 |7 SAF 2,069 2,069
266 |77 /LRI 65 65
267 |[FHSHLT 296 984 218 5 6] 1,519
268 |FUoL 1,914] 14,020 962 600 1 21| 17,521
272 | §AKVEMEHL A BRSO 108 108
273 In-RT I AT a—i 15 3 19
275 |FT S /R Mo 144 78 30 1 0 2 258
285 [/an s 19,599 19,599
286 |FUZHEL 91 56 311 158
203 (N7 502 2,946 0 0 1 2918
296 |1,2,4-FUAF L~ Por 2,122 14 2,136
207 |L,3,5- N AF L~ By 524 13 20 556
300 [Fbmy 1 3 5 1
302 [F7 AL 12 1 325 339
323 [V AR 3,327 3,327
325 A% 8,194 1,674 314 29 157 10,368
326 |72 FV
328 [UTA 38 21 130 192
329 |[RUA— AP 2,391 5,821 900 9,115
331 | AR 261 261
340 [E7==1 0 8 8
350 |~ AN 110 226 0 20 0 0 357
BT T 230 78 308
357 |7 FuT = 225 129 192 53 900
358 |77 7= OF 91 29 120
360 |~ 520 1,608 324 23 2,475
361 2,257 2,257
362 [T Tz Funy
363 [AXFTT I 235 235
361 |7 rk s A—f 23 10 6 39
369 |7 L F o 60 60
370 [EUF < 20 20
371 |77 7=  ETF 20 70 90
376 |75 /n—L 5,511 5,541
378 |[7aE x7
383 |[Tavi L 527 527
386 | RALAF IV
387 |7 = T HARX 240 2 242
100 |~ B 1 1 1 2
102 A7 =)ok 1,160 1,160
405 [IZH5F LAY 14 52 3 1,235 1,304
RIFF LV TF L) =T VXN T—T )T
107 | LEAIEDPFHN 120D 15ECOLD K 1,290 8,124 2,075 664 13 8 14| 15,218
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 200 888 552 171 3 2 1 1,827
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”WEM 1,337 3,432 2,119 3,792 73 15 219 11,046
410 ?y(’k%yl%y/)*/"”71"”1—7 1,507 2,919 2,605 197 12 6 35| 7,581
114 [Bk=L A B 0 0
122 |7z BT 2,501 2,501
124 [ AT = AIFF T H—F 740 710
125 [T a7
127 [ U 1,518 663 2,181
128 | 7= )7 AT 88 88
129 | NRALTHY AT 588 588
130 (A RF AT 10 10
131 |7 /% ARREY 16 ) 650 195 951
132 |75
133 [I—~L 16,100 16,100
134 [FxRyIL 181 181
135 [EUS S\ IAF L 895 895
138 |AF AT T AL 231 13 618 8 0 0 1 871
142 [ A7e=1 39 8 20 112 1 6 185
143 AV 1,938 0 1,939
14 [N 7 a% v ARRE Y 25 25
15 [JUIR S BATIL 1,698 300 1,997
19 [T=  AF 4T 7 A
150 [EUTFANLT 2,060 2,060
156 [0AALT A I=0 A 195 195
457 |7 a)LIRA
= F 97,926] 107,354 243,725 8,318 8,656 1,061 14,396] 481,469
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#2-1-8 IR DI G - R G S E R O H B 1 R CT k2248 BE ; K I)

XA FEWE AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
L [HSROKEMEL S 1 0 1
13 |[7Er=hRIv 115 441 556
21 |y
22 |747n=)v 369 20 389
25 [ANTVv 50 126 176
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 22 22

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 411 3,005 1,461 64 16 0 5 4,964
VZDIREYICIRD)

40 |[E7=F¥—F 308 432
41 |7 hF=L 597 354
46 |FVoky S =F L 49
47 | THIRA 2,061 1,270 :
48 |EPN 981 2,812 3,794
49 [T ARV 10,420 399 296] 11,115
50 |EUFR—k 13,684 13,684
52 |[7o=hmr7 1,040 1,040
53 |=F vy 28 33 202 2 1 0 1 267
54 |HRAFTE—h 10,316 10,316
61 |~rx7 125 100 225
62 |~ra¥s 3,482 11,050 14,532
63 |27 b7 usR 1,505 7,823 5,107 108 1,396] 15,939
64 |Th7=rTaysR 2,281 505 2,786
70 | =~ A0 F R BERE 180 0 0 180
80 |F L 19,772 8,777 50,252 1,074 329 17 1,521 81,742
82 [§RK D KB LAY
83 [ZAv 91 28 119
90 [T 934 934
91 7 Fvv 79 295 2 9,710] 10,086
92 [ML7= TR 180 795 975
93 |[ArF/H—)L 3,298 3,298
95 |TATVF A 212 4,068 53 4,334
96 |P7x/a)y— 171 20 2 113 0 306
100 | FLFFrm—L 6,737 6,737
101 |7F7m—)L 3,830 3,830
108 [Aa7my 6,134 4,492| 10,626
13 [v=ov 139 2,424 726 3,289
114 [ AH )77 126 126
115 | 7= RH3R 1,540 1,540
116 [ ~FF TV IR 27 23 50
117 |F 72y — 300 216 516
118 [3ymrs=)1 13 189 6 207
119 [7=r 7oty — 174 24 198
124 |73y 2,937 45 2,982
125 [/oo~u Py 3,920 3,920
137 [ 73K 41 41
138 [2Z7uyAvk 354 354
139 |[FFAR)Y 16 8 4 0 0 28
140 |7 = 7w R 191 43 0 0 234
141 [ EFH=1 588 588
144 ? o T ACE DGR K O T R A R
146 |[EVIRAAF L 658 658
147 |[FA~NCHLT 33 2,149 2,182
148 |[h7 = App—L 3,176 3,176
152 [ sy r 2,971 1,079 1,561 5,611

: 368 882 1,250

341 3,559 160 4,059

169 |V 528 463 4,708 5,699
170 |[Fhaiy—i 11 1 25 37
171 |[Faratry—i 200 139 339
172 | AFHYVrmiRy 965 120 1,085
174 [V=any 54 4,696 4,749
175 |2,4-D 6,188 1,448 834 8,469
179 |D-D 1,009,867 1,009,867
182 |[EIY/FyTxr 539 539
183 £V L—h 5,590 5,590
184 [Yrm~ogL 415 39 1,088 5,448 ,990
187 |[VFT v 2,124 2,124
91 (Y FaFAT 2,736 2,736
192 | =T 472U 7RA 9 9
193 |=F LFA AR 8,078 14 181 8,273
194 |74 35 35
195 | FaFF7RA 86 220 6 684 40 514 1,551
196 [ AFHFA 1,899 217 2,116
197 =5/ 355 1,796 9,204 11,355
198 |V ART—h 63 1,458 1,521
206 |[HAARALT 7 629 362 991
207 |2,6-F—tert—7 F/L—4-UL Y —)L 10 174 184
212 |7 7=—h 149 7,837 1,291 43 0 464 9,784
213 INNN-UAF LT ERTIR 49 49
217 |FALIT A 6 144 150
221 | NUTFGHNT 6,801 1,791 8,592
222 |7 )FAINT
225 |NYZ7Liky 1,074 1,654 5,454 371 6 7 87 8,652
227 |/85=2—h 1,075 5,278 3,599 77 981 11,010
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229 [FAT 7 F—FAF /L 250 2,546 8,845 11,642
233 | 7= hz—F 278 1,677 314 2,269
236 |7 AAF =L 390 390
244 |5 Ak 247,548 247,548
248 [ZATV ) 1,538 17,265 319 16 206] 19,344
249 | /0L EYkRA 368 6,154 6,523
250 [A/F Y F A 2 1,449 192 3 0 3 1,649
251 |F==faF e 6,555 9,219 11,995 4,065 72 68 1,335] 33,308
252 | 7= F AL 391 5,868 27 64 843 7,192
253 |77 = JIRA
254 |[(F o~k A 5,712 5,712
257 |[FH )= 3,336 3,336
258 | ~FPAFLUTRII 110 207 317
260 |[/mnsn=/L 1,641 783 11,255 4,001 3| 17,683
261 | 7YFAF 1,326 1,326
266 |77 /LR 1,190 1,190
267 |FAUINT 83 1,803 298 5 4 2,194
268 |F T4 328 6,141 1,894 1,440 9,803
272 | §AKVEMEHL A BRSO 120 120
273 In-RT I AT a—i 93 17 110
275 |RF S Wi R 2 49 73 7 0 1 131
285 | ZanE sy 671,622 671,622
286 [FUsmE L 581 37 467 1,084
293 [NI7 AT 5,320 2 0 1 5,323
296 [1,2,4-FUAF /LA EL 437 214 651
297 [1,3,5-RUAF LA BL 108 4 90 202
300 [prxy 48 37 137 222
302 |[J AL 39 2 1,375 1,415
323 [V AN 4,368 4,368
325 [AF L4 4,295 5,387 533 3 96| 10,318
326 |JuT=LFOL
328 [VT4 1,241 1,241
329 [RYA—A—F 2,808 4,090 2,650 9,548
331 | IR RA 1,530 1,530
340 [E ==L 3 32 35
350 |~ULARYL 127 157 210 2 30 527
BT FIL 256 41 297
357 |7 a7y 24 35 54 32 195
358 |77 7= )UK 55 85 140
360 [~/L 479 1,593 579 64 2,715
361 1,532 1,532
362 [T Tz Funy
363 [AFHTTV 1,424 1,424
364 |7z EEF LA 14 31 17 62
369 |7 AE SR 57 57
370 [LUF 20 340 360
371 |77 7= ESR 20 120 140
376 |74 sa—L 6,723 6,723
378 | FuE %7 1,482 758 2,240
383 |Towib 3 7,690 7,693
386 | RALAT L 25,118 73,058 98,176
387 |7 = T HARX 551 37 588
400 [~ B 1 9 2 11
402 [A7xFEvk 4,249 4,249
405 [IZH5F LAY 10 7 15 11,495 11,526
RIFF LV TF L) =T VXN T—T )T
407 | LAV EEDIRFHN 2D B 15 TOHED R R 1,843 8,282 2,606 751 13 1 10| 13,506
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 110 1,572 661 157 3 0 3| 2,506
409 i%/ﬁfﬁ‘;{fﬁ:”z]‘T‘/’LIW‘”WW 1,059 8,772 3,545 5,047 90 5 68| 18,585
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 657 4,681 16,072 71 32 1 35| 21,048
414 [ Bk~ A8 1 1
122 [T=) by 1,301 1,301
424 [AFN=AVFA LT F—F 8,140 8,140
425 |/ TaANT 15 45
427 [y 311 1,610 1,921
428 |72 )T INT 1,067 61 1,128
429 [~EAL TRV AT 526 5 531
430 [ A R LT 115 115
431 |7/ ¥ ARIE 2,560 70 1,210 1,134 4,974
432 [73IR5 R 40 40
433 [H—r4 2,650 2,650
434 [FFHFUL 498 498
435 [V AU I ATV 641 641
138 | AFNLFTHL L 154 61 2,307 14 2 0 1 2,539
442 (A7 o= 84 19 94 395 1 11 605
443 [A/3L 4,896 15 4,911
444 [N 7RF v ARREY 2 18 43
445 |[JLIF T IAFIL 776 986 1,762
49 [T AT 4T
450 [EVTFHNT 1,025 1,025
456 [VAALT A= 4 385 385
457 |7 a)LIRA
& B 130,927 99,776] 2,261,943 13,913 25,805 469]  126,507] 2,659,341
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#2-1-9 IR L G - R G S E R O H B it R CT k2248 B AU

el %a 7N AEHRH i (kg/ )

i Fet 3
e WL B RME | | =2 Tama | e
1 |HgR KB EY 2 0 2
13 | 7&h=RL 180 398 578
21 |y
22 |74Fu=)v 2,012 5 2,017
25 |[ANT Vv 100 75 175
27 |A#3be
29 |1-7UNAF -2 3-TRFL Sl g .

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 223 1,383 1,465 32 28 0 5 3,136

OZDREWIZRD)
40 [E7=FE—k 401 259 660
41 [ZARF= 960 272 1,232
46 | ¥Ry s T L 91 91
47 | THIRA 700 365 278 1,343
48 |EPN 848 877 1,725
49 | NUT AR 6,012 12,308 5,560] 23,880
50 |EUF—h 15,608 15,608
52 |7o=HNT 240 240
53 |=F P 23 13 80 3 0 0 0 120
54 |RAFTE—k 1,082 1,082
61 |=rx7 158 42 200
62 |vra®s 1,595 3,106 4,702
63 |Y/7hY7 a3k 923 1,458 2,451 144 706 5,683
64 |ThT= Ty 2,368 481 2,850
70 | =~ A0 F R BERE 52 0 0 52
80 |F L 6,187 2,991 38,342 587 196 17 528| 48,847
82 |[$RFE OO KIEMALAEY
83 |7Av 20 12 32
90 |ThIVv 1,753 1,753
91 |7 Fvv 21 2,318 2,339
92 |MLT7= ETFR 105 165 270
93 |[AhFrmE—)L 1,994 1,994
95 |ZATVF A 232 239 62 533
96 |Y7=/a)ry—n 112 8 2 90 0 213
100 | FLFF7m—)L 11,555 11,555
101 |7F7m—)L 2,853 560 3,413
108 |Aa7my 7 4,288 1,921 6,208
113 [~Yv 43 673 1,119 1,835
L4 | A F )77 48 48
115 | 7= R 793R 1,118 1,118
116 [ ~FF TV IR 36 14 50
117 |[F7a)y— 624 433 1,056
118 /7 s=1 4 100 7 111
119 |[7=rTafy— 21 1 22
124 |73y 397 90 487
125 |Zoo_ P 2,695 2,695
137 > 73k 235 235
138 |7 Avh 153 153
139 |FIaAR» 7 1 1 0 0 10
140 | 7= 7 m/Rp) 46 65 0 9 121
141 [EFF=L 126 126
144 fﬁ o T AL EER K O T R A TR
146 |EYIRAAF L 282 282
47 |[FAHLT 19 9,247 9,266
148 | B 7z Abm—/L 1,697 1,697
152 |HNEyT 1,433 150 385 1,968

g ) 188 962 1,150

192 694 87 973

169 |Yrmy 93 121 1,242 1,457
170 | Thoapy— 34 7 25 67
171 |[Forary—i 300 112 412
172 [ AF PP rairs 506 195 701
174 [V==my 21 3,372 3,393
175 |2,4-D 1,196 383 103 1,682
179 |D-D 133,900 133,900
182 |BTY/¥ v Txv 814 814
183 [TV —Fh 1,646 1,646
184 [P Zu~=/L 205 40 507 1,587 2,339
187 |PFT v 966 26 992
91 |4y FuFtT 5,448 1 7 5,456
192 | =T 47 =V IRA 2 2
193 |=FLFF AR 2,154 25 118 2,297
194 |AFHa
195 |7 uFAHRA 23 150 8 309 29 140 659
196 |AFHF A 1,396 100 1,496
197 |9/ 303 403 2,194 2,900
198 [P ART=—} 173 811 984
206 |WILARANLT 7 216 70 286
207 |2,6-T—tert-7 F)-4-JLY —)L 52 52
212 |77 =—h 68 2,764 1,138 54 0 212 4,235
213 INNN-VAF LT ERTIR 77 77
217 |FATIT A 5 95 100
221 | NUTTINT 3,174 399 3,573
222 |7 )FAINT
225 [N LRy 1,044 478 2,720 390 20 9 43 4,702
227 |/37a—h 659 961 1,690 103 492 3,905
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229 [FAT 7 X AF L 101 1,691 7,040 8,832
233 [Z=o b} 273 529 288 1,090
236 [T AAF L= 390 390
244 |7V Avk 62,818 62,818
28 ATV 1402 1,929 173 16 74| 5,503
219 | Ja B YRR 151 155 306
250 [ (/%Y FAr 2 751 194 11 1 5 964
%1 [T Tt 1,214 2,287 888 1,079 59 99 637] 9,263
252 | 7= F Ao 85 104 7 10 171 377
253 |77 = JIRA
254 [ {7 B~ kA 816 816
257 |74 /= 17 7
258 |~ YAFLLTRII 55 56 112
260 |Zansn=i 1,816 740 3,864 1,499 4| 10,923
261 |7V IAF 3,232 3,232
266 |77 /LRI 166 166
267 |[FHSHLT 36 441 6,033 328 18] 6,987
268 | V7L 98 2,665 1,443 2,130 4 21 6,361
272 | §AKVEMEHL A BRSO 108 108
273 In-RT I AT a—i 5 2 7
275 |FT S /R Mo 12 18 37 7 0 1 105
285 [/an s 133,818 133,818
286 [FUZBEL 129 11 194 663
203 (N7 502 5,964 5,964
206 |L,2,4- N AF L~ By 94 173 267
207 |L,3,5- N AF L~ By 23 9 58 90
300 [Fbmy 10 11 47 98
302 |[FoaLy 19 2 606 657
323 [V AN 5,231 5,231
325 A% 2,537 2,179 347 9 3| 5115
326 |72 FV
328 [V 261 497 47 204 1,029
329 [HUH—r " A—F 797 1,605 1,750 4,153
331 | AR 1,089 1,089
340 [E7==1 8 29 37
350 |~ AN 13 82 0 20 1 6 152
BT T 116 30 146
357 |7 FuT = 64 1 47 30 185
358 |77 7= OF 1 11 9 21
360 |~/ 394 853 655 37 1,940
361 2,836 2,836
362 [T Tz Funy
363 X TUT 154 154
364 | 7= B mF L A— 8 9 11 28
369 |7 SLE Sk 30 30
370 [EVF~r 160 160
371 |77 7=  ETF 10 120 130
376 |75 /n—L 5,540 5,540
378 |[Fue x> 2,326 684 3,010
383 |[Tavi L 141 3,860] 4,002
386 | RALAF IV
387 |7 = T HARX 499 10 509
400 |~ B 1 3 1 5
102 A7 =)ok 3,119 3,119
405 [IZH5F LAY 3 4 3 95 105
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 965 3,185 2,390 44 10 1 18| 7,346
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 148 632 772 184 10 2 8| 1,756
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 556 1,369 1,426 2,314 126 12 571 5,859
410 ?y(’k%yl%y/)*/"”71"”1—7 651 1,879 4,488 545 i 3 31| 7,637
414 K~ AR
122 [ 72007 2,509 2,509
120 AT = AT F T F—h 10,120 10,120
125 [T a7
127 [ U 268 746 1,014
128 | 7= )7 AT 721 126 853
129 |~ OAL T AT 132 35 167
130 (A RF AT 2% 2%
BL[7IxLARREY 1,006 70 720 702 2,498
132 |75 R 10 10
133 [I—~L 850 850
134 [FEFn 66 66
135 [EV A IATF 328 328
138 | AFTTHL 207 18 977 14 1 0 1| 1210
142 [ A7e=1 312 7 27 326 1 3 675
143 AV 792 3 795
144 [N)7ek v ARRE Y 25 18 13
15 [JUIR S BATIL 922 1,071 1,993
19 [T=  AF 4T 7 A
150 [CV7FINT 1,024 1,024
156 [DAAET LI=0 4 1,375 1,375
457 |7 a)LIRA
B i 98,560]  38,766]  48L,412|  13,378] 33,629 578]  22,040] 691,363
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el %a 7N AEFHIHE L A (kg /)

i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 1 1 2
13 |[7Er=FL 52 160 212
21 |y
22 |747n=1 1,330 35 1,365
25 |ANT Vv 300 111 411
271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt 30 30

BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 543 2,176 2,311 187 21 3 14 5,255

OZDREWIZRD)
40 [E7=FE—} 210 190 400
41 |7 hF=L 228 3,216 3,444
46 |V aky ST 14 1
47 |7 HIRA 32 2,817 328 3,177
48 |EPN 190 1,303 1,493
49 | F AT 7,859 53 58 7,970
50 |EUFR—k 911 911
52 |[79=hL7 1,240 1,240
53 |=F vy 5 19 144 1 1 1 1 172
54 |HRAFTE—h 2,873 2,873
61 |~rx7 215 135 350
62 |~ra¥s 6,504 8,003 14,507
63 |27 b7 usR 387 1,906 3,844 433 810 7,381
64 |Th7=rTaysR 364 629 993
70 |=~A7F U2 AEIE 81 0 0 81
80 |F L 7,674 6,010 91,193 2,995 260 106 178] 108,416
82 |$RK O D/KIEMEILAEY
83 |7A~ 20 10 30
90 |ThFVv 2,215 2,215
91 [>T FPv 23 655 7 6,440 7,125
92 [ML7= TR 345 435 780
93 |ArFru—1 6,283 6,283
95 [TATVF A 252 1,940 47 2,239
96 |P7x/a)y— 130 12 0 90 0 232
100 | FLFFrm—L 5,035 5,035
101 |7F7m—)L 4,042 4,042
108 |Aa7my 7 1,833 6,712 8,545
13 [v~=vv 50 1,416 354 1,820
14 A% )77 47 47
115 | 7= FFHIR 1,470 1,470
116 |[~FSFTYIR 32 18 50
117 |57 a3y —u 545 413 958
118 [37urs= 51 112 4 167
119 |7=v7a)ry—)L 59 7 66
124 |73y 329 45 374
125 [7op~_u Py 4,606 4,606
137 |2 7338 4 4
138 [P7oi Avb 129 129
139 [FFmAR) 6 2 1 0 0 8
140 |7 = 7w R 127 23 0 0 150
141 [ EFH=1 330 330
144 S0 T ERMOBRR TS 7> B
146 |EVIRAAT L 235 235
U7 |FAALT 3 8,407 8,410
148 [#7 =L Abm—)L 709 709
152 W57 3,289 392 3,470 7,151

’ : 463 1,237 1,700

574 3,556 330 4,461

169 |V 216 142 7,083 7,441
170 |[Fhaiy—i 20 3 24
171 |[Frraty—i 25 100 125
172 A rurRs 192 450 642
174 [V=any 42 2,496 2,538
175 |2,4-D 4,552 2,025 2,393 8,970
179 [D-D 496,545 496,545
182 [TV ¥ Txr 675 675
183 £V L—h 8,178 8,178
184 [Yrm~ogL 396 146 2,269 10,099 12,910
187 [CF7 v 1,176 26 1,202
191 |4V FaF45 4,832 4,832
192 | =T 4T = 7R A
193 |=F L F A AR 5,665 57 94 5,816
194 |AFHa
195 | FaFF7RA 131 92 3 77 55 92 451
196 |AFHF A 1,327 169 1,496
197 [~F/v 311 1,096 8,354 9,761
198 | ART—h 22 1,566 1,588
206 |HNARRALT 7 216 105 321
207 |2,6-F—tert—7 F/L—4-UL Y —)L 30 75 105
212 [7&7=—} 105 26,665 3,845 134 3 738] 31,490
213 [NN-VAF LT ERTIR 35 35
217 |FAT T4 3 97 100
221 [~v 7507 977 914 1,891
222 |7 )FAINT
225 (R 7y 587 418 7,355 497 12 74 123 9,066
227 |/85=2—h 277 1,055 2,564 309 516 4,720
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229 [FA 77 F—FAFNL 157 2,437 5,004 o[ 7,598
233 [Z=o b} 182 701 1,051 1,933
236 [T AAF L= 660 660
244 |7V Avk 106,994 106,991
28 ATV 1218] 11,236 59 1 69| 12,623
249 | /L E YRR 1,103 27 1,130
250 | A%y FAr 7 1,667 133 3 2 1 1817
%1 [T Tt 6,113 6,401 3,198 1,580 111 79 156 21,237
252 [T=v T A 212 132 33 33 55 165
253 |77 = JIRA
254 |47 0~ 204 204
257 |FH )=
258 |~ HAFLLThTIL 170 216 386
260 |/ongu=, 751 7 7,669 2,130 33 11,361
261 |7 SAF 893 893
266 |77 /LRI 237 237
267 |[FHSHLT 11 1,130 597 14 7] 1,803
268 |FUoL 315 2,096 1,498 540 103 2| 4,724
272 |$RKIEMEH B2 BRS) 96 96
273 In-RT I AT a—i 31 17 48
275 |FT S /R Mo 2 35 99 2 1 1 163
285 [/an s 1,099,301 1,099,301
286 [FUZBEL 213 157 261 631
203 (N7 502 5,760 2 1 2| 5,765
296 |1,2,4-FUAF L~ Por 91 110 203
207 |L,3,5- N AF L~ By 23 6 67 96
300 [Fbmy 12 15 83 109
302 [F7 AL 61 1 522 584
323 [V AR 524 524
325 A% 2,148 4,062 302 65 109 6,686
326 |72 FV
328 [UTA 204 527 378 631 1,740
329 [HUH—r " A—F 762 4,120 2,100 6,983
331 | AR 603 603
340 |7 ==L 1 11 12
350 |~ AN 122 379 0 30 3 5 540

BT T 292 161 154
357 |7 FuT = i 113 162 56 375
358 |77 7 )UK
360 |~ 180 1,573 1,654 18 3,725
361 654 654
362 [V 7w F o 50 50
363 [AXFTT I 232 232
361 |7 rk s A—f 10 22 1 16
369 |7 L F o 90 90
370 [EUF < 140 140
371 |77 7=  ETF 10 60 70
376 |75 /n—L 1,075 1,075
378 |[7aE x7 3,809 2,771 6,580
383 |[Tavi L 28 9,526] 9,554
386 | RALAF IV
387 |7 = T HARX 303 16 319
100 |~ B 1 3 5 9
102 A7 =)ok 1,881 1,881
405 [IZH5F LAY 10 10 6 1,045 1,071

RIFF LV TF L) =T VXN T—T )T
407 |V IEDBFHN 2515 TORO K 1,592| 13,888 15,194 1,818 116 83 139] 35,830
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 274 3,041 3,838 1,143 28 20 34| 8317
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 477 3,069 4,421 6,643 160 115 192 15,078
410 ?y(’k%yl%y/)*/"”71"”1—7 1,023 8,710 15,554 3,239 91 58 119] 28,797
414 K~ AR
122 |7z BT 937 937
124 [ AT = AIFF T H—F 28,060 28,060
125 [T a7
127 [~ 308 1,819 2,157
128 | 7= )7 AT 1,553 86 1,639
129 | NRALTHY AT 102 15 162 279
130 (A RF AT 85 85
131 |7 /% ARREY 21 60 740 604 1,428
132 |75 10 10
133 [I—~L 1,900 1,900
134 [FxRyIL 265 265
135 [EUS S\ IAF L 32 32
138 |AF AT T AL 108 17 821 20 2 2 3 972
142 [ A7e=1 14 1 I 115 3 6 185
143 AV 2,863 0 2,861
14 [N 7 a% v ARRE Y 250 9 259
15 [JUIR S BATIL 679 171 1,150
19 [T=  AF 4T 7 A
150 [EUTFANLT 311 311
156 [0AALT A I=0 A 275 275
457 |7 a)LIRA
= F 67,634] 79,465 2,354,908] _ 28,824] 18,066 2.192] _ 48,317] 2,599,406
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FK2-1-11 IR X BB - R G2 B RN O H R R O 224 2 B IR

el %a 7N AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
L [HSROKEMEL S 0 1 1
13 | 7Eh=hv 155 227 382
21 |y
22 |747n=)v 1,278 10 1,288
25 [ANTVv 23 23
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 12 12

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 236 1,343 1,096 185 24 0 36 2,919
VZDIREMIZIRD)

40 |[E7=F¥—F 58 82 140
41 |7 hF=L 389 618 1,007
146 | FYarysS=FL
47 | THIRA 1,693 359 2,052
48 |EPN 583 1,758 2,342
49 [T AZY 2,509 65 625 3,200
50 |EUFR—k 2,725 2,725
52 |[7o=hmr7 480 480
53 |mF P 17 11 127 4 0 0 4 164
54 |HRAFTE—b 2,201 2,201
61 |~rx7 87 88 175
62 |~ra¥s 1,824 4,438 6,263
63 |27 b7 usR 417 1,420 1,936 32 2,091 5,897
64 |Th7xrTavsA 1,147 40 1,047 2,234
70 |~ AV F U REE B 48 0 0 49
80 |F L 7,610 5,114 37,473 3,112 256 12 729| 54,306
82 SRR U DKBHLE Y
83 [ZAv 150 10 160
90 [T 194 194
91 [> 7P 26 18 2 1,084 1,130
92 [ML7= TR 180 390 570
93 |[ArF/H—)L 345 345
95 |TATVF A 86 530 94 711
96 |P7x/a)y— 54 7 5 68 0 134
100 | FLFFrm—L 7,455 7,455
101 |7F7m—)L 817 817
108 [Aa7my 424 4,190 4,614
13 [v=ov 40 865 1,200 2,105
114 [ AH )77 175 175
115 | 7= FFHIR 1,731 1,731
116 [ ~FF TV IR 17 13 30
117 |F 72y — 368 960 1,328
118 |37 5= 0 8 5 13
119 |7=v7a)ry—)L 35 9 44
124 |73y 137 137
125 7o~ Py 931 931
137 [ 73K 25 25
138 [2Z7uyAvk 75 75
139 [FFmAR) 6 3 5 0 0 14
140 |7 =27 m SRy 74 38 0 0 113
141 [ EFH=1 156 156
144 ? o T ACE DGR K O T R A R
146 |[EVIRAAF L 235 235
147 |[FA~NCHLT 9 1,575 1,584
148 |[h7 = App—L 1,419 80 1,499
152 [ sy r 5,082 257 1,000 6,339

3 96 854 950

116 1,114 260 1,490

169 |V 104 108 2,267 2,480
170 |7ho=a)—n 8 4 250 262
171 |[Faratry—i 88 88
172 | AFHYVrmiRy 520 300 820
174 [V=any 17 991 1,008
175 |2,4-D 3,551 513 4,790 8,854
179 |D-D 176,292 176,292
182 |[EIY/FyTxr 216 216
183 £V L—h 7,198 7,198
184 |[Pru~=) 285 52 507 5,452 6,297
187 |[VFT v 1,092 1,092
91 (Y FaFAT 6,140 6,140
192 | =T 4T = 7R A
193 |=F LFA AR 3,890 6 350 4,246
194 |AFHa
195 | FaFF7RA 43 142 12 2 0 22 221
196 [ AFHFA 1,625 163 1,788
197 |~ 737 1,237 7,103 9,077
198 |V ART—h 96 1,874 1,970
206 |[HAARALT 7 295 174 469
207 |2,6-T—tert-7 F)-4-JLY —)L 25 48 73
212 |7 7=—h 42 5,628 2,745 13 0 158 8,587
213 INNN-UAF LT ERTIR 35 35
217 |FALIT A 3 147 150
221 | NUTFGHNT 4,167 669 4,836
222 |7 )FAINT
225 |NYZ7Liky 1,055 807 6,737 1,960 7 5 265 10,836
227 [/3F=a—k 298 729 1,258 23 1,352 3,660

(2)-23




229 [FA 77 F—FAFNL 52 1,789 6,621 2| 8,463
233 [Z=o b} 233 634 372 1,239
236 [T AAF L= 690 690
244 |7V Avk 166,502 166,502
28 ATV 53] 11,086 60 9 501 12,112
249 |/ EUER 245 599 815
250 | A%y FAr 2 1,584 541 2 0 ] 2,148
251 |7==haFit 3,083 3,059 989 5,122 19 8 76| 13,957
252 [T=v T A 312 111 20 5 277 725
253 |77 = A 80 80
254 |47 0~ 2,856 2,856
257 |FH )=
258 |~ HAFLLThTIL 64 125 189
260 |/ongu=, 807 218 3,763 6,079 6] 10,913
261 |7 SAF 667 667
266 |7 7 LR 323 323
267 |[FHSHLT 16 127 2,751 10 96| 3,302
268 |FUoL 320 833 1,062 2,160 1,675
272 | §AKVEMEHL A BRSO 804 804
273 In-RT I AT a—i 55 23 78
275 |FF o LR N7 I 19 54 7 0 8 87
285 | rane sy 147,403 147,403
286 |FUZHEL 9% 16 917| 1,059
203 (N7 502 1,766 1 0 0] 4,777
296 |1,2,4-FUAF L~ Por 718 86 803
207 |L,3,5- N AF L~ By 177 7 90 271
300 [Fbmy 29 1 89 133
302 [F7 AL 21 0 258 283
323 [V AR 1,250 1,250
325 A% 1,675 1911 357 9 558] 4,510
326 |72 FV
328 [UTA 25 6 1 57 89
329 |[RUA— AP 636 2,231 2,950 5,318
331 | BAY A 351 351
340 BT ==L 5 16 21
350 |~UL AN 100 255 10 0 5 100

BT T 347 129 175
357 |7 FnTr o 38 78 122 261 502
358 |77 7=/ OF 7 13 20
360 |~ 515 1,329 1,154 27 3,025
361 554 554
362 [V 7w F o 50 50
363 [AXFTT I 104 104
361 |7 rk s A—f 9 28 73 110
369 |7 L F o 30 57 87
370 [EUF < 100 100
371 |77 7= E5F 10 80 90
376 |75 /n—L 634 631
378 |[7aE x7 1,018 632 1,680
383 | T~ L 12 2,572 2,581
386 | RALAF IV
387 |7 = T HARX 206 15 221
100 |~ B 1 3 2 5
102 A7 =)ok 3,485 3,185
405 [IZH5F LAY 3 3 7 6,935 6,948

RIFF LV TF L) =T VXN T—T )T
107 | LEAIEDPFHN 120D 15ECOLD K 197 2,825 2,577 2,278 8 1 79| 8,265
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 87 623 559 579 2 0 2| 1,877
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 506 2,085 2,134 11,217 40 7 391 16,380
410 ?y(’k%yl%y/)*/"”71"”1—7 653 1,856 6,048 1,758 33 1 224| 10,573
414 K~ AR
122 |7z BT 183 183
124 [ AT = AIFF T H—F 6,320 6,320
125 [T a7
127 [~ 249 2,271 2,520
128 | 7= )7 AT 1,304 20 1,324
429 | ~\mRLT T AT 88 88
130 (A RF AT 100 100
131 |7 /% ARREY 80 30 270 607 987
132 |75 120 120
133 [h—1 A 1,200 1,200
134 [FxRyIL 125 125
135 [EUS S\ IAF L 154 154
138 |AF AT T AL 100 16 805 78 1 0 B 1om
12 A= 2 9 51 315 1 19 166
143 AV 6,092 3 6,095
14 [N 7 a% v ARRE Y 9 9
15 [JUIR S BATIL 185 600 1,085
19 [T=  AF 4T 7 A
150 [EUTFANLT 800 800
156 [0AALT A I=0 A 1485] 1,485
457 |7 a)LIRA
= F 79,674]  38,001] 654,355 33,092] 19,404 139]  38,180] 862,945
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FK2-1-12 IR D X BB - R 2 BN O H R R R CPRl224 12 ; T3

XIGAV A AEFHIHE L A (kg /)
i Fet 3
e WA moo| e | gie | o | gk |CRREF s
1 |HgR KB EY 5 3 8
13 |[7Eb=FL 110 218 328
21 |rmxyy
22 |[74Fn=1 801 10 811
25 [ANT Vv 132 132
27 | AxIpmy
29 [1-TUNAFT-2,3-wKE L Tl 6 6
BT VIR ZIVIR iR N O D
30 |(FARLEORBEHNA0DD14ETOLDORK 316 2,106 2,162 173 53 0 69 4,879
O ZDIREMIZIRD)
40 |[E7=F¥—h 134 226 360
41 [T RT= 1,327 473 1,800
46 |FVoky S =F L 7 7
47 |7 HIRR 4 2,188 398 2,590
48 |EPN 538 2,078 2,616
49 [ ~_oF Az 5,583 170 315 6,068
50 |EUx—h 8,752 8,752
52 |[7I=hnT 1,000 1,000
53 |=F LBy 15 10 197 7 0 0 0 229
54 |HAFTE—] 15,503 15,503
61 |~o %7 825 725 1,550
62 |~ avT 2,640 9,079 11,719
63 |[D/7 YT uIR 871 1,313 3,057 112 2,067 7,421
64 |=h7xr oy 2,157 784 2,941
70 | =~ ATF U AR 92 0 0 93
80 [FL 17,848 3,333 42,394 2,905 414 33 764] 67,690
82 |SRK OZOKIEMALEY
83 |rA 52 22 74
90 |7 430 430
91 [v7Fvv 39 122 2 2,583 2,747
92 [ML7x ETR 120 675 795
93 |ARTZE—L 2,352 2,352
95 [TATVF A 577 3,342 340 4,258
9 |[V7= o)y —L 105 16 3 102 0 225
100 |[FLFF7m—1 8,358 8,358
101 |[757m—)L 658 320 1,008
108 [Aa7ny 7 2,054 4,222 6,276
13 [o~vr 37 799 830 1,666
14 (o877 106 106
115 [7= b ¥R 2,231 2,231
116 [~F 2 F TR 16 14 30
17 |77 3y —n 196 486 681
118 [37urs= 1 76 9 86
119 |7=v T a) ) — 57 9 66
124 [73r 791 90 881
125 |7an~r v 784 784
137 [+ 738 1 1
138 [P7ms Avk 57 57
139 [FFuARY 5 3 2 0 0 10
140 |7 =7 /SR 207 39 0 0 246
141 [T XY= 198 198
144 | T AR R O T L R TR ) )
<)
146 [EVIRAAT L 517 517
U7 [FA~v s 15 725 740
148 [h7 = Apa—/L 1,301 45 1,346
152 [ sy7 3,746 523 4,093 8,362
: 310 1,340 1,650
157 1,560 219 1,936
169 [P 173 122 6,036 6,331
170 |FhFa)—1 20 5 25 50
171 [Farafy—n 145 145
172 | Ao rmaRs 981 165 1,146
174 [V=an 25 1,365 1,390
175 [2,4-D 2,808 892 1,483 5,183
179 [D-D 1,440,987 1,440,987
182 [EFY %72 359 359
183 [£FYL—F 1,888 1,888
184 [Yro~=)L 182 43 649 2,530 3,403
187 [VF7 /v 1,621 13 1,634
191 [T aF+7 3,720 3,720
192 [xF 47 =7k 38 38
193 [ F L FF AP 5,972 15 263 6,250
194 |AFHa
195 [FuFFhx 18 388 18 321 35 626 1,406
196 [AF2F A4 833 163 996
197 [=5V 493 663 5,639 6,795
198 [ Abz—F 108 1,667 1,775
206 [HARANLT 7 986 211 1,196
207 [2,6-T-tert-7 FL-4-sLV —L 470 91 561
212 |77 =—h 54 7,993 2,436 22 0 434] 10,939
213 [NN-UAF AT ERT IR 21 21
217 |[FAL T 6 194 200
221 [ 7THNT 3,478 2,370 5,848
222 |7 )FAINT
225 |F) 7Lk 460 188 3,181 460 5 5 86 4,384
227 [F=—} 622 872 2,169 80 1,447 5,190
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229 [FAT 7 X AF L 103 2,010 6,110 of 8251
233 [Z=o b} 1418 909 870 3,197
236 [T AAF L= 60 60
244 [FY A0k 117,600 117,600
28 ATV 687 14,097 263 25 55| 15,528
219 | Za EURA 680 4,794 5,474
250 [ (/%Y FAr 9 2,658 559 7 1 13| 3,246
%1 [T Tt 7,379 2,571 2,520 1915 58 7 209] 17,659
252 | 7= F Ao 863 5,825 9% 82 1473 8,339
253 |77 = JIRA
254 [ {7 B~k 2,465 2,465
257 |74 /= 1,437 1,437
258 |~ YAFLLTRII 100 221 322
260 |Zumsa=, 2,679 642 6,640 7,239 15| 17,215
261 |7V IAF 4,554 1,554
266 |77 /LRI 1,803 1,893
267 |[FHSHLT 84 1,925 2,007 2 16| 4,086
268 | V7L 2,651 6,752 2,176 2,850 14,429
272 | §AKVEMEHL A BRSO 144 144
273 In-RT I AT a—i 108 62 170
275 |FT S /R Mo 59 35 59 9 0 3 166
285 [/an s 374,334 374,334
286 [FUZBEL 190 21 376 587
203 (N7 502 3,410 2 0 3| 3416
206 |L,2,4- N AF L~ By 250 158 108
207 |L,3,5- N AF L~ By 62 6 91 158
300 [Fbmy 32 20 116 168
302 |[FoaLy 29 1 181 510
323 [V AN 2,706 2,706
325 A% 2,447 2,916 633 12 210 6,218
326 | JnT=rF o
328 [V 25 25
329 [HUH—r " A—F 251 1,842 4,600 6,693
331 | AR 1,239 1,239
340 [E7==1 5 15 21
350 |~ AN 20 141 120 0 5 286
BT T 247 190 137
357 |7 FuT = 72 37 60 61 230
358 |77 7 )UK
360 |~/ 655 895 923 97 2,570
361 1,676 1,676
362 [T Tz Funy
363 X TUT 1,064 1,064
364 | 7= B mF L A— 6 16 19 11
369 |7 Xk
370 [EVF~r 320 320
371 |77 7=  ETF 10 90 100
376 |72 ra— 3,375 3,375
378 |[Fue x> 1,819 911 2,730
383 |[Tavi L 122 2,110] 2,232
386 | RALAT L 1,281 18,737 20,018
387 |7 = T HARX 90 8 98
400 |~ B 2 5 4 11
102 A7 =)ok 4,469 1,469
405 [IZH5F LAY 9 5 14 4,180 4,207
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,107 3,528 2,656 1,715 20 2 39| 9,068
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 118 490 634 418 5 1 1 1,677
109 i%}fﬁﬁfﬁzz/):]‘T‘/’LIW‘”WW 698 1,652 2,435 8,275 97 10 189] 13,356
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 510 1488 23,381 1,212 32 2 106| 26,732
414 K~ AR
122 [7=U07y 891 894
120 AT = AT F T F—h 8,820 8,820
125 [T a7 15 15
127 [ U 208 1,759 1,987
128 | 7= )7 AT 1,160 136 1,296
129 [ ~EALTEUATAL 286 286
130 (AL FEHFHLT 60 60
BL[7IxLARREY 824 20 865 1,066 2,775
132 |75 R 10 10
133 [I—~L 1,000 1,000
134 [FEFn 246 246
135 [EV A IATF 193 193
138 | AFTTHL 131 25 1,047 16 5 1 10 1,23
142 [ A7e=1 72 19 82 828 2 36| 1,038
143 AV 3,719 10 3,729
144 [N)7ek v ARRE Y 18 18
15 [JUIR S BATIL 873 1,028 1,901
19 [T AT AT 74
150 [CV7FINT 1,388 1,388
456 |[DAAET V=D A
457 |7 a)LIRA
B i 109,723]  45,883] 2,183,751]  25,545] 27,186 18] 51,286] 2,443,823
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F2-1-13 FRRITAR DI X R - MG BN O H R RS R CPERR224F B2 5 HURCHR)

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 1 1 2
13 | 7Eh=hv 9 0 9
21 |y
22 |747m=)L
25 [ANTVv 68 68
271 | AHIbm
29 |1I-TULAFL-2,3-RF Tl 16 16

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 0 95 159 81 2,553 0 321 3,208
VZDIREMIZIRD)

40 [E7=FE—k 17 23 40
41 [ZARF= 34 9 957 9,340 1 212 10,553
46 |FVoky S =F L 7 7
47 | THIRA 82 164 246
48 |EPN 1 89 90
49 | NUT AR 10 2 264 277
50 |EUF—h 135 135
52 |T7I=HANT
53 |mF P 1,304 15 31 14 0 0 3 1,366
54 |HRAFTE—b 267 267
61 |~vvx7 55 95 150
62 |vra®s 31 47 78
63 |Y/7hY7 a3k 0 114 54 2 510 681
64 |Th7xrTavsA 7 257 41 1 2 546 854
70 | =~ ATF U AR 3 0 0 3
80 [Fi L 9,794 5,093 1,416 1,513 56 5 1,226 19,103
82 SRR U DKBHLE Y
83 |ZA~ 86 86
90 |ThIvv
91 |7 Fvv 0 1,097 1,097
92 [ML7=ESR 15 15
93 | ANT/m—)
95 |ZATVF A 6 134 33 173
96 |Y7=/a)ry—n 9 1 2 11 0 24
100 |[7LFTF7m—)v
101 |[7F7m—)v 27,907 160 28,067
108 |Aa7my 7 545 2,401 2,946
113 [~Yv 1 53 1,256 1,310
L4 | A F )77
115 | 7= R 793R
116 [ ~FF TV IR
17 | 77235 — 2 38 40
118 |[IvmarX=)L 25 60 0 18 104
119 |7z Ta)y/—i
124 |73vmy 90 90
125 |Zoo_ P 31,801 31,801
137 > 73k 1 1
138 |7 Avh
139 [FFmAR 0 0 1 0 0 1
140 |7 =27 m SRy 1 10 1 0 11
141 [EFF=L
144 iﬂi o T AL EER K O T R A TR 30 30
146 |EYIRAAF L 2,021 2,021
U7 | FAHILT
148 |7 = ARE—/L 1,340 1,340
152 |HNEyT 129 87 166 383

3 7 343 350

290 290

169 |Pom 2,785 2,785
170 |7ho=a)—n 0 0 175 175
171 |[Forary—i 186 186
172 [ AF PP rairs 13 15 28
174 [V==my 611 10,889 11,500
175 |2,4-D 0 1,170 49 1,220
179 |D-D 27,860 27,860
182 |BTY/¥ v Txv
183 [TV —Fh
184 |[Pru~=) 0 0 0 1,931 1,931
187 |PFT v 42 42
91 AV FuFFI 24 3,772 3,796
192 | =T 4T = 7R A
193 |=FLFF AR 306 1 136 442
194 |AFHa
195 |7 uFAHRA 14 75 38 0 0 8 135
196 [ AFHF A 147 9 156
197 |9/ 2 239 346 587
198 | ART—h 35 35
206 |WILARANLT 7 0 22 22
207 |2,6-T—tert-7 F)-4-JLY —)L 3 3
212 |77 =—h 1 362 928 0 4 1,141 2,436
213 INNN-VAF LT ERTIR
217 |FATIT A
221 | NUTTINT 3 87 90
222 |7 )FAINT
225 [N LRy 3 285 1,395 2,025 1 2 463 4,174
227 |/37a—h 0 56 38 1 325 420




229 [FA T 7 x—bAF /L 1,821 852 17,375 4,033 16 3,807 27,904
233 [7=rb—k 2 5 7
236 | T AAFT =/
244 |5/ Ak 13,622 13,622
248 |FATV ) 31 1,167 14 5 1,091 2,307
249 |7V EURA 69 69
250 [A/F Y F A 0 150 474 0 0 105 731
251 |F==FaFi 296 706 63 3,831 2 9 2,142 7,050
252 |TxrFAL 10 0 55 65
253 |77 = JIRA
254 | AT RUIRA
257 |FH /=
258 [~FYAFLLUTRTIL 2 4 6
260 |Zonru=/L 1 31 304 2,748 5 3,089
261 |[7H5AF 44 44
266 |77 /LRU 34 34
267 |FATINLT
268 |F T4 3 1,400 17 510 1,930
272 | §AKVEMEHL A BRSO 396 396
273 In-RT I AT a—i
275 |FF L VHilET R D A 12 15 0 0 115 143
285 |zanE sy 17,468 17,468
286 [Pz L 7 14 3,323 3,344
293 [F7LFY 5 5
296 [1,2,4-FUAF /LA EL 9,780 602 10,382
297 [1,3,5-RUAF LB 172 172
300 [Prxy 0 0 4 4
302 |F7HL 5 5
323 [ AR 3 3
325 [AF L4 1,081 1,317 2,222 28 6,602| 11,250
326 |72 FV
328 [VF4 0 1 191 192
329 [RUH— " A—R 5,300 5,300
331 [ XY HA 24 24
340 |7 ==L
350 |~V ARY L 15 28 0 50 0 26 120
-7 F L 89 24 113
357 |7 Fur=o0 0 13 13
358 |77 7= UK 2 798 800
360 [~/uL 4 427 139 570
361 28 28
362 [T Tz Funy
363 |AXHTTV
364 |7z EEF LA 0 0 4 5
369 |7 Xk
370 [LUF
371 |77 7= ETR
376 |75 m—1 20,864 20,864
378 | FuE %7 104 106 210
383 |[TawiL 0 1,676 1,676
386 | EL{bAF L 3,610 3,610
387 |7 = T HARX
400 [~ B
102 [A7=F Bk 2,571 2,571
405 [IZH5F LAY 0 2 5,225 5,227
RIFF LV TF L) =T VXN T—T )T
407 | VF LD RFERD2HD15ETOED K 5 2,343 469 3,282 2 3 727 6,831
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 0 338 132 830 0 1 184 1,486
R (FF N=RF3 —5 %
409 i;;i;{ff;:/) R =T Vi 0 22 9 318 0 0 70 1420
410 ?y(’k%yl%y/)*/"”71"”1—7 1 970 798 2,451 5 2 665| 4,803
414 K~ AR
422 |7V b/ 2 2
424 [AFN=AVFA LT F—F 20 20
125 |4 Fahns
427 [y 590 590
428 [7= /)T INT 298 298
129 | ~NEALTEL AT 2 1,237 1,239
430 [A R LT 5 5
431 [7/F L AbEEY 10 40 177 227
432 [73IR5 R 1,220 1,220
433 [ =734 300 300
434 | A XYL
435 [EUI NI AT
138 | AFNLFTHL L 1 11 74 81 0 0 18 185
442 [xF =1 0 1 8 4,970 0 66 5,045
443 (AL 271 4 275
444 |N)7nF o AhrES
445 [V Y%L BAF L 3 1,397 1,400
449 |72  AF 4T 74
450 [EV7F LT 5,264 5,264
456 [DAALT AI=04 55 55
457 |7 a)LIRA
& B 45,355 17,582] 145,500 34,305 48,120 101 45,502] 336,464
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FK2-1-14 FERITAR DB BB - MG B O H I HER R R CTERR224EFE #2311 BY)

XA FEWE AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1| HEROKEIE LAY 21 8 29
13 | 7Eh=hv 134 7 141
21 |y
22 |747n=)v 53 5 58
25 [ANTVv 132 132
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 10 10

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 8 429 208 123 25 0 5 798
O ZDIREMIZIRD)

40 |[E7=F¥—F 90 70 160
41 |7 hF=L 224 53 277
146 | FYarysS=FL
47 |7 HIRA 88 88
48 |EPN 6 129 135
49 [T AZY 282 52 478 812
50 |EUFR—k 48 48
52 |7I=hNT
53 |=F vy 0 9 44 3 1 0 8 66
54 |HRAFTE—h 689 639
61 |~rx7 1,599 576 2,175
62 |~ra¥s 5,307 3,008 8,316
63 |27 b7 usR 12 440 216 15 832 1,515
64 |Th7xrTavsA 71 187 259
70 |=~AVF oz AR 22 0 0 22
80 |F L 525 3,239 8,282 2,037 26 5 243| 14,357
82 SRR U DKBHLE Y
83 [ZAv 12 12
90 [T 169 169
91 [> 7P 11 79 2 8,282 8,374
92 [ML7= TR 90 210 300
93 |[ArF/H—)L 132 132
95 |TATVF A 76 379 78 533
96 |P7x/a)y— 37 4 3 45 0 89
100 | FLFFrm—L 296 296
101 |7F7m—)L 86 480 566
108 [Aa7my 281 2,266 2,547
13 [v=ov 6 73 259 338
114 [ AH )77 4 4
115 | 7= FFHIR 42 42
116 [ ~FF TV IR 7 3 10
117 |7 73y —n 57 241 298
118 |37 5= 0 7 3 10
119 [7=r 7oty — 20 2 22
124 |73y 180 180
125 7o~ Py 98 98
137 [ 73K 1 1
138 [2Z7uyAvk
139 [FFmAR) 3 0 1 0 0 4
140 |7 =27 m SRy 35 18 1 0 55
141 [ EFH=1 30 30
144 ? o T ACE DGR K O T R A R 2 924
146 |[EVIRAAF L 282 282
147 |[FA~NCHLT 0 16 16
148 |[h7 = App—L 51 160 211
152 [z y>r 577 165 305 1,048

: 88 1,812 1,900

66 294 107 467

169 |V 65 11 12,217] 12,293
170 |[Fhaiy—i 6 6 25 37
171 |Faraty — 63 63
172 | AFHYVrmiRy 16 60 76
174 (V== 3 49 52
175 |2,4-D 19 97 170 286
179 |D-D 230,442 230,442
182 |[EIY/FyTxr
183 £V L—h 12 12
184 [Yrm~ogL 1 4 21 6,576 6,602
187 |[VFT v 126 13 139
91 (Y FaFAT 60 60
192 | =T 4T = 7R A
193 |=F LFA AR 1,677 9 449 2,135
194 |AFHa
195 | FaFF7RA 38 31 8 1 0 5 83
196 [ AFHFA 1,226 38 1,264
197 |~ 20 739 1,496 2,255
198 |V ART—h 79 32 111
206 |[HAARALT 7 3 19 22
207 |2,6-T—tert-7 F)-4-JLY —)L 21 21
212 [7E7=—F 37 1,757 2,640 10 0 568 5,012
213 INNN-UAF LT ERTIR 7 7
217 |FALIT A
221 | NUTFGHNT 271 349 620
222 |7 )FAINT
225 |NYZ7Liky 32 289 1,102 692 1 3 177 2,296
227 [/3F=a—k 9 229 152 11 550 950
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229 [FA 77k —FAF L 1,311 987 2,298
233 | 7= hT—F 4 297 19 350
236 | T AAFT =/
244 |5V ASk 20,188 20,188
U8 |[FATV ) 165 3,921 61 5 243 4,394
249 [/ LEYRA 74 6 80
250 |A/%YTF AL 52 1,783 335 0 3 2,173
251 |7==faFty 178 1,527 228 2,735 3 217 11,132] 16,020
252 [T=v T Ay 37 67 105
253 |77 = JIRA
254 | AT AR IRA 17 17
257 |[FH )=
258 | ~FPAFLUTRII 217 102 318
260 |/nnzn= 107 191 1,312 2,755 40 4,408
261 | 7Y IAK
266 |77 LRI 405 405
267 |[FATILT 5 63 772 1 7 848
268 | FUT A 64 10 116 690 910
272 |$RKIEMEH B2 BRS) 36 36
273 In-RT I AT a—i 16 2 19
275 |[F7 S AR T NI 4 15 3 1 0 6 24
285 |rmae sy 13,344 13,844
286 |FzmE L 21 1 195 220
293 [NIZA50 491 0 0 2 493
296 |1,2,4-RUAF LB 85 85
297 [1,3,5-NUAF L~ P 0 28 29
300 [pr—y 0 7 7 14
302 |[J AL 3 92 95
323 [V AN 39 39
325 | A% Lo 325 262 47 7 375 1,517
326 |72 FV
328 [VT4
329 [RUA— AR 340 745 2,100 3,185
331 | HAPHRA 303 303
340 |7 ==L 4 0 4
350 |[~UL AN 32 35 260 0 1 331
B-n-7 FIL 79 13 97
357 |7 a7=Dn 5 90 29 116 240
358 |77 7 )UK
360 [~ /3L 84 407 128 60 680
361 58 58
362 [T Tz Funy
363 [AFPUTV 16 16
364 |7 uFLA—| 1 1 22 30
369 |70 LRk 600 114 714
370 [EUF R 60 60 120
371 |57 72 ETR 10 10
376 |7 Hra—L 49 49
378 | Fuexs 1,506 1,294 2,800
383 | TuwiL 554 1,478 5,032
386 | RALAT L 19,769 19,769
387 |7 = T HARX 140 8 148
400 |[~oPr 0 2 0 2
402 A7) vk 131 131
405 [IZH5F LAY L 1 1 2,185 2,188
RIFF LV TF L) =T VXN T—T )T
407 | LAV EEDIRFHN 2D B 15 TOHED R R 24 3,621 328 1,379 1 0 13 5,367
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 3 265 74 269 0 0 2 613
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 6 254 100 1,826 2 0 17| 2,205
410 ?y(’k%yl%y/)*/"”71"”1—7 9 830 4,804 799 8 0 28| 6,479
414 K~ AR
122 |72V Ly
424 AFN=AVFFLT F—h 2,720 2,720
125 |47
427 AU 158 520 678
128 | 7= )T INT 554 554
429 | NOALT O AFL 2 75 77
430 [{- FX LT 20 20
431 |7/ ¥ ARIE 36 20 360 669 1,085
432 |[7IRTRA 60 60
433 [ 1— 4 50 50
434 [AF P31 62 62
435 [V AU I ATV 115 115
138 [ AFALFTHLL 7 23 290 27 0 0 0 348
42 [AFu=1 3 3 15 345 1 48 415
43 [Ar 1,589 12 1,601
444 [N 7RF v ARREY 9 9
445 [V IF T LAF IV 631 129 759
M9 [T=2 AT 4T 71
450 [CVTF LT 12 12
456 [D/ALT NI=0 A 825 825
457 |7 a)LIRA
& Gt 3,885 29,051 311,117 13,871 11,237 281 72,421 441,864
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#K2-1-15 FERRITAR DI X G - RS2 BN O H R R R O 224 22 BRI

XA FEWE AR i (kg/4F)
i Fet 3
e WL B RME | oo | gk |CRREF e
L [HSROKEMEL S
13 | 7Er=NI1 102 6 108
21 |y
22 |747m=)L 64 5 69
25 |ANT Vv 50 50
271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt 250 250
BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 84 2,621 1,489 8 26 4 4,232
O ZDIREMIZIRD)
40 |[E7=F¥—F 112 88 200
41 [Frkg=n 7 82 89
146 | FYarysS=FL
47 |7 HIRA 76 89 165
48 |EPN
49 | F AT 192 14 49 255
50 |EUFR—k 960 960
52 |[79=hL7 80 80
53 |=F vy 152 30 1 0 0 183
54 |HRAFTE—F 141 141
61 |~wox7
62 |=ravs 5,379 7,899 13,278
63 |27 b7 usR 598 434 550 291 1,895
64 |Th7=rTaysR 168 33 2 26 231
W =T BB EE 22 0 0 —
80 |F L 3,722 4,037 8,122 153 14 361 16,421
82 [§RK D KB LAY
83 |7A~ 195 4 199
90 |ThFVv 193 193
91 [>T FPv 23 2 23 50
92 [ML7= TR 150 225 375
93 |ArFru—1 237 237
95 |TATVF A 178 49 43 271
96 |P7x/a)y— 18 2 0 45 0 65
100 | FLFFrm—L 549 549
101 |7F7m—)L 258 258
108 [Aa7my 87 323 410
13 [v=ov 16 206 103 325
114 [ AH )77 22 22
115 |7 hIHIR 376 376
116 |[~FSFTYIR 7 3 10
117 |7 73y —n 928 420 1,348
118 [3ym7 =1 4 4
119 [7=r 7oty — 360 36 396
124 |73y 90 90
125 [7op~_u Py 294 294
137 |2 7338 3,158 3,158
138 [P7oi Avb 15 45
139 [FFmAR) 28 8 5 0 0 42
140 |7 = 7w R 46 24 70
141 [ EFH=1 918 918
144 fﬁ o T ACE DGR K O T R A R
146 |[EVIRAAF L 94 94
U7 |FAALT 9 23 32
148 [#7 =L Abm—)L 282 282
152 W57 1,876 459 1,821 4,156
’ : 103 347 450
183 1,502 65 1,750
169 |V 55 13 28 96
170 |FhFa)/ —b
171 |[Frraty—i 25 31 56
172 A rurRs 56 150 206
174 [V=any 19 345 364
175 |2,4-D 217 133 32 382
179 [D-D 17,776 17,776
182 |[EIY/FyTxr 6 6
183 £V L—h 736 736
184 [Yrm~ogL 246 45 37 468 795
187 |[VFT v 210 210
191 |4V FaF45 528 528
192 | =T 472U 7RA 8 8
193 |=F LFA AR 505 26 533
194 |AFHa
195 | FaFF7RA 5 85 3 1 8 103
196 [ AFHFA 4,210 578 4,788
197 [~F/v 57 1,276 345 1,678
198 | ART—h 30 30
206 |HNARRALT 7 10 16 26
207 |2,6-T—tert-7 F)-4-JLY —)L 22 22
212 [7&7=—} 264 1,685 192 3 31 2,175
213 [NN-VAF LT ERTIR
217 |FAT T4
221 | NUTFGHNT 793 135 928
222 |7 )FAINT
225 |NYZ7Liky 689 122 1,270 141 1 16 2,240
227 |/85=2—h 427 243 388 193 1,265
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229 [FAT 7 X AF L 1 852 1,635 2,489
233 |7z bz —F 71 100 10 212
236 [T AAF L= 90 90
244 |77 AVE 12,544 12,544
28 ATV 333 693 13 12 153 1,204
249 | 7a/EYER 1,764 1,764
250 [ (/%Y FAr 0 150 23 0 0 1 175
251 |[7==haFAtr 2,058 7,217 89 258 1 1 o 9,775
252 | 7= F Ao 52 94 0 2 176 324
253 |77 = JIRA
254 | AT RUIRA
257 |74 /=
258 |~ YAFLLTRII 187 215 102
260 [Znnya=, 329 1401 843 1,317 2,889
261 |7V IAF 99 99
266 |77 6 6
267 |FA IS 59 596 204 1 17 967
268 | V7L 79 9,609 82 600 18 232] 10,620
272 | SR TANE S (B 2 FR<) 24 24
273 In-RT I AT a—i 100 41 141
275 |FT S /R Mo 38 50 30 3 0 3 124
285 | 7oy 5,095 5,095
286 [FUZBEL 3 3 11 07
203 [FI7 A5 533 1 1 12 548
206 |L,2,4- N AF L~ By 936 28 964
207 [1,3,5-RUAF L~ By 231 4 31 265
300 |ML= 1 1 1 3
302 |[FoaLy 8 0 104 112
323 [V AN 278 278
325 A% 1,905 2,117 52 27 359| 4,460
326 |72 FV
328 [V 134 77 72 93| 1,222
329 [HUH—r " A—F 150 625 2,350 3,125
331 | HAY AR 12 12
340 |7 ==L
350 |~ AN 607 695 20 1,322
BT T 127 78 205
357 |7 FuT = 371 2,064 1,309 196 1,240
358 |77 7 )UK
360 |~/ 3,455 3,388 2,301 20 9,165
361 195 195
362 [T Tz Funy
363 X TUT 240 240
364 | 7= B mF L A— 22 20 13 55
369 |7 SLE Sk 30 30
370 [EVF~r 40 10 80
371 |77 7=  ETF 10 10 50
376 |72 ra— 428 128
378 |[Fue x> 1,779 1,371 3,150
383 |Towi v 329 329
386 | RALAF IV
387 |7 = T HARX 722 76 798
400 |~ B 0 0 0 1
402 [A7=F ok 706 706
405 [IZH5F LAY 3 2 2 95 102
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,215 9,255 1,626 769 1 3 14| 12,917
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 285 472 390 195 1 1 12| 1,356
409 i%/ﬁf?_\fﬁzz/):]ﬁ” VE—T VR 488 167 443 1111 5 5 64 2,583
410 ?y(’k%yl%y/)*/"”71"”1—7 1,209 1,621 1,532 566 7 3 14| 4,982
414 K~ AR
122 [ 72007 101 101
120 AT = AT F T F—h 2,320 2,320
125 |47 aHnn T
127 [ AU 545 320 865
128 |77 LT 1 1
129 |~ OAL T AT 36 75 111
130 (AL FEHFHLT 10 10
BL[7IxLARREY 720 180 241 1,141
132 |75 R
133 |[—~L 5,150 5,150
134 [FEFn 38 38
135 [EV A IATF 10 10
138 | AFTTHL 32 5 325 6 0 0 0 367
142 | AFe=r 110 110
143 [ X 457 0 457
144 [N)7ek v ARRE Y 250 9 259
15 [JL V%L DAFIL 922 86 1,007
19 [T AT AT 74
150 [CV7FINT 116 116
456 |[DAAET V=D A
457 |7 a)LIRA
B i 26,107]  70,116] 93,692 1,276 6,573 203 1,489 205,356
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FK2-1-16 FERRITAR D X BB - MG BN O H R R R CPERl 224 22 5 & 1L R

XA FEWE AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1| WK LA 7 1 8
13 |[7Er=FL 51 3 54
21 |y
22 |747n=1 443 30 473
25 [ANTVv 800 2 802
271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt 80 80

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 356 5,667 2,533 35 29 0 12 8,631
VZDIREYICIRD)

40 |[E7=F¥—F 1,122 438 1,560
41 |7 hF=L 150 1,499 1,649
46 |V aky ST 14 =
47 |7 HIRA 4 1,324 229 1,557
48 |EPN 97 38 135
49 |~ FgARY 1,903 2 1,905
50 |EUFR—k 1,976 1,976
52 |[79=hL7 1,800 1,800
53 |=F vy 3 55 106 6 0 0 4 174
54 |HRAFTE—h 381 381
61 |~rx7 1,740 260 2,000
62 |~ra¥s 19,424 12,221 31,645
63 |27 b7 usR 1,704 889 1,730 64 1,176 5,562
64 |Th7=rTaysR 890 92 983
70 | =~ A0 F R BERE 101 0 0 101
80 |F L 10,264 8,214 10,936 1,074 160 11 192 30,851
82 [§RK D KB LAY
83 [ZAv 52 4 56
90 |ThFVv 877 877
91 [>T FPv 0 54 54
92 [ML7= TR 285 1,020 1,305
93 |ArFru—1 759 759
95 |TATVF A 752 1,718 299 2,770
96 |P7x/a)y— 782 28 0 79 0 889
100 | FLFFrm—L 6,394 6,394
101 |7F7m—)L 1,419 1,419
108 [Aa7my 158 1,377 1,535
13 [v=ov 1 0 1
114 [ AH )77 131 131
115 | 7= FFHIR 1,019 1,019
116 |[~FSFTYIR 23 7 30
117 |73y —n 2,010 336 2,346
118 [37urs= 4 45 8 58
119 [7=r 7oty — 185 2 187
124 |73y 680 45 725
125 [7op~_u Py 1,617 1,617
137 |2 7338 148 148
138 [P7oi Avb 144 144
139 [FFmAR) 30 5 9 0 1 45
140 |7 = 7w R 750 0 0 0 750
141 [ EFH=1 630 630
144 fﬁ o T ACE DGR K O T R A R
146 |[EVIRAAF L 94 94
U7 |FAALT 72 2,324 2,396
148 |[h7 = App—L 921 45 966
152 W57 6,124 1,030 2,961 10,115

: 21 229 250

1,034 5,727 1,147 7,908

169 |V 63 30 240 334
170 |[Fhaiy—i 7 4 50 62
171 |[Farary—n 25 72 97
172 A rurRs 153 30 183
174 [V=any 76 2,455 2,532
175 |2,4-D 3 208 211
179 [D-D 26,727 26,727
182 |[EIY/FyTxr 209 209
183 £V L—h 1,032 1,032
184 [Yrm~ogL 1,181 165 137 2,987 4,470
187 |[VFT v 3,864 39 3,903
191 |4V FaF45 3,692 26 438 4,156
192 | =T 4T = 7R A
193 |=F LFA AR 1,874 9 157 2,040
194 |AFHa
195 | FaFF7RA 177 196 17 0 0 2 393
196 [ AFHFA 3,208 242 3,450
197 =5/ 403 547 3,575 4,526
198 | ART—h 45 45
206 |HNARRALT 7 242 55 297
207 |2,6-T—tert-7 F)-4-JLY —)L 90 90
212 [7&7=—} 1,241 8,440 2,336 49 8 1,080 13,155
213 [NN-VAF LT ERTIR 7 7
217 |FAT T4 56 94 150
221 | NUTFGHNT 1,990 191 2,181
222 |7 )FAINT
225 |NYZ7Liky 1,366 148 988 290 2 6 100 2,900
227 |/85=2—h 1,217 482 1,104 46 772 3,620
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229 [FA 77 F—FAFNL 50 8,172 13,240 21,463
233 [Z=o b} 278 1,085 164 1,527
236 [T AAF L= 90 90
244 [FY A0k 118,580 118,580
28 ATV 6,795 6,251 35 3 3| 13,125
249 | /L E YRR 6,248 23 6,271
250 [ (/%Y FAr 2 327 182 1 1 23 537
251 |[7==haFAtr 6,692 8,863 560 943 5 62 1,051 18,177
252 [T=v T A 132 54 1 4 61 251
253 |77 = JIRA
254 [ {7 B~ kA 204 204
257 |74 /= 112 112
258 |~ HAFLLThTIL 544 355 899
260 |Zumsa=, 2,171 2,068] 11,104 5,618 1| 21,569
261 |7 SAF 681 631
266 |77 /LRI 61 61
267 |[FHSHLT 167 894 525 3 66| 1,655
268 | V7L 147] 23,705 163 990 39 661| 26,005
272 | §AKVEMEHL A BRSO 492 492
273 In-RT I AT a—i 58 31 89
275 |FT S /R Mo 18 169 68 33 1 16 335
285 [/an s 235,359 235,359
286 [FUZBEL 1 5 88 97
203 (N7 502 3,371 0 0 2| 3373
206 |L,2,4- N AF L~ By 250 0 30 281
207 |L,3,5- N AF L~ By 62 59 197 318
300 [Fbmy 10 2 5 17
302 [F7 AL 7 1 550 558
323 [V AR 1,814 1,814
325 A% 20,180] 11,228 3,595 58 988 36,049
326 | JnT=rF o
328 [UTA 1,548 83 106 1,795 3,532
329 [HUH—r " A—F 2,270 5,635 2,700 10,605
331 | AR 177 177
340 |7 ==L
350 |~ AN 541 394 0 10 0 0 946
BT T 836 282 1118
357 |7 FuT = 153 212 195 99 660
358 |77 7= OF 82 58 140
360 |~ 14,457 2,870 2,807 21 10,155
361 1,215 1215
362 [T Tz Funy
363 X TUT 569 569
364 | 7= B mF L A— 9 6 10 25
369 |7 SLE Sk 3,180 3,180
370 [EVF~r 80 10 120
371 |77 7=  ETF 50 60 110
376 |7 Hoa— 6,192 6,192
378 |[Fue x> 22,662 1,848 27,510
383 |[Tavi L 0 1,450] 1,450
386 | RALAT L 99 99
387 |7 = T HARX 2,519 128 2,647
400 |~ B 1 1 1 3
102 A7 =)ok 2,351 2,351
105 [BFLLW 16 32 16 2,660 2,724
RIFF LV TF L) =T VXN T—T )T
407 [ VXN IEDRFE 2D 15ETOLO KO 1,036 19,096 5,462 2,380 14 18 209| 31,315
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 673 780 953 596 3 5 79| 3,08
409 i%}fﬁﬁ{ﬁ)z:/):]‘T‘/’”Igf”ﬁﬁi 2,422 1,617 2,196 7,139 41 53 895\ 14,364
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 2,530 2,964 1,819 1,712 2 13 215 12,205
114 [Bk=L A B 0 0
122 |7z BT 1,000 1,000
120 AT = AT F T F—h 20 20
125 [T a7
127 [ U 5,131 1,067 6,198
128 | 7= )7 AT 511 511
129 [ ~EALTEUATAL 171 171
130 (A RF AT 145 145
131 |7 /% ARREY 32 860 1,740 307 2,939
132 |75 R 20 20
133 [I—~L 6,250 6,250
134 [FEFn 134 134
135 [EV A IATF 150 150
138 | AFTTHL 86 5 1,426 11 0 0 2| 1532
142 [ A7e=1 7 3 14 110 1 10 185
143 AV 1,396 11 1,407
14 [N 7 a% v ARRE Y 2,375 18 2,393
15 [JUIR S BATIL 6,257 943 7,199
19 [T=  AF 4T 7 A
150 [EUTFANLT 1,612 1,612
156 |[0AALT LI=T 4 55 55
457 |7 a)LIRA
B i 81,588]  206,416]  551,889]  17,678] 16,662 537]  10,051] 896,822
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FK2-1-17 IR D X R - R BN O H R R R CPRR224 22 ;A1) 1)

el %a 7N AEFHIHE L A (kg /)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HEROREIEE Y 541 67 608
13 |[7Eb=FL 804 347 1,151
21 |y
22 |747n=1 668 10 678
25 [ANTVv 18 18
271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt 2 2

BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 345 628 1,928 56 23 0 12 2,991
OZDREWIZRD)

40 [E7=FE—} 540 220 760
41 [Frkg=n 1,678 80 1,758
146 | FYarysS=FL
47 | THIRA 153 102 255
48 |EPN 636 537 1,173
49 |~ FgARY 712 2,361 13,802 16,875
50 |EVUx—h 864 864
52 |[79=hL7 400 400
53 |=F vy 18 24 282 15 1 1 12 352
54 |HRAFTE—h 1,097 1,097
61 |~rx7 40,737 5,013 45,750
62 |~ ot 61,755 33,237 94,992
63 |77 EIR 521 1,044 679 38 662 2,944
64 |Th7=rTaysR 2,082 426 2,508
70 |=~A7F U2 AEIE 134 134
80 [Fs Lo 15,574 15,440 39,566 2,975 99 71 1,043 74,768
82 |$RK O D/KIEMEILAEY
83 |7A~ 78 354 432
90 |TrFVv 390 390
91 [o7Fvr 13 5 2 133 153
92 [Mr 7= IR 780 4,905 5,685
93 |ArFru—1 79 79
95 [TATVF A 2,927 821 889 4,638
96 |Y7=/ary—1 796 44 68 908
100 |[FLFF7m—1 1,315 1,315
101 |[757m—)L 473 80 553
108 [Aa7mys 295 3,242 3,538
13 [v~=vv 42 321 306 669
114 (A5 )77 63 63
115 | 7= bR 884 884
116 |[~FSFTYIR 32 8 40
117 [77a)Fy—n 3,470 3,248 6,718
118 [37urs= 3 123 9 134
119 [7=r7a)fy—n 1,143 45 1,188
124 |731my 15 270 285
125 |[roo~L v 539 539
137 |2 7338 132 132
138 [P7oi Avb 450 450
139 [FomAR) 2 0 0 0 0 3
140 |7 = 7w R 118 890 0 0 1,008
141 [ XY= 96 96
144 | T LB GRER U 7 B
146 |EVIRAAT L 8,319 8,319
U7 |FAALT 58 58
148 [#7 =L Abm—)L 424 255 679
152 [ sy7 2,946 644 1,136 4,726

: 55 495 550

146 557 81 783

169 [orm 516 64 1,738 2,318
170 |FhFa)—1 50 20 25 95
171 |[Farary—n 125 99 224
172 A rurRs 335 3,285 3,620
174 [V=any 4 127 131
175 |2,4-D 1,556 71 512 2,139
179 [D-D 222,913 222,913
182 [TV ¥ Txr
183 |&FYL—h 1,304 1,304
184 [Yrm~ogL 393 99 139 1,714 2,346
187 [CF7 v 655 13 668
191 |4V FaF45 1,656 1,656
192 | =T 4T = 7R A
193 |=F L F A AR 1,899 16 225 2,139
194 |AFHa
195 |[FaFA+kEx 221 439 39 18 14 206 938
196 |AFHF A 10,788 330 11,118
197 =5/ 367 422 1,375 2,165
198 | ART—h 64 1,335 1,399
206 |HNARRALT 7 168 80 248
207 |2,6-F—tert—7 F/L—4-UL Y —)L 134 134
212 [7&7=—} 4,473 14,368 4,475 46 18 589 23,969
213 [NN-VAF LT ERTIR 35 35
217 |FAT T4 54 96 150
221 [~v 7507 948 187 1,135
222 |7 )FAINT
225 (R 7y 501 166 799 200 2 3 44 1,716
227 |/85=2—h 372 408 405 27 383 1,595
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229 [FA 77 F—FAFNL 3,136 3,392 6,528
233 [F=v hz—F 235 572 179 986
236 | T AAFT =/
244 |7/ Aok 137,396 137,396
28 ATV 129] 12,027 68 52 36| 13212
249 |/ EUER 79 512 592
250 [ (/%Y FAr 2 414 145 1 1 14 578
%1 [T Tt 5,331 1,737 2,501 9,678 83 134 1,924] 21,390
252 [T=v T A 624 774 8 10 582 2,020
253 |77 = A 3,760 3,760
254 | A7 a~_URA
257 |74 /= 110 140
258 |~ HAFLLThTIL 2,063 1,239 1,202
260 |Zumsa=, 1,363 1,462 1,670 7,012 o| 14,507
261 |7 SAF 2,542 2,512
266 |77 /LRI 266 266
267 |[FHSHLT 59 122 5,935 51 579 7,046
268 | V7L 97 510 323 2,190 3,120
272 |$RKIEMEH B2 BRS) 36 36
273 In-RT I AT a—i 1 3 15
275 |FT S /R Mo 102 115 31 1 0 6 259
285 [/an s 104,919 104,919
286 [FUZBEL 77 61 877 1,015
293 [NIZA U 1,204 1,204
206 |L,2,4- N AF L~ By 374 2,485 2,859
297 [1,3,5-NIAF L~ Lo 92 36 900 1,028
300 [pLry 34 9 35 79
302 [F7 AL 39 10 2,353 2,402
323 [V AR 270 270
325 A% 2,637 908 169 26 368] 4,107
326 | JnT=rF o 185 15 200
328 [UTA 50 85 68 968| 1,170
329 [HUH—r " A—F 394 769 2,400 3,563
331 | AR 507 507
340 [E7==1 3 21 27
350 |~ AN 61 81 0 220 0 3 365

B0 F I 145 38 184
357 |7 FuT = 141 441 550 1,173 2,305
358 |77 7= OF 187 3 190
360 |~ 1,005 1,666 707 63 3,440
361 760 760
362 [V 7w F o 6,650 6,650
363 X TUT 703 703
364 | 7= B mF L A— 35 91 233 359
369 |7 SLE Sk 270 4,731 5,001
370 [EVF~r 55 240 295
371 |77 7=  ETF 30 30
376 |7 Hoa— 2,158 2,458
378 |[Fue x> 612 208 910
383 |[Tavi L 978 978
386 | BULAT /L 7822 7,822
387 |7 = T HARX 338 27 365
400 |~ B 1 3 1 5
102 A7 =)ok 1,492 1,492
405 [IZH5F LAY 3 2 2 190 196

RIFF LV TF L) =T VXN T—T )T
407 [ VXN IEDRFE 2D 15ETOLO KO 1,957| 20,162 3,513 2,320 20 16 206| 28,214
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 308 1,275 659 591 5 4 64| 2,997
409 i%}fﬁﬁ{ﬁ)z:/):]‘T‘/’”Igf”ﬁﬁi 848 1,568 921 4,191 36 29 409| 8,001
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 1,437 3,872 5,337 1,678 23 13 348| 12,708
414 K~ AR
122 |7z BT 1414 1444
120 AT = AT F T F—h 11,480 11,480
125 [T a7 15 15
127 [ U 318 737 1,055
128 | 7= )7 AT 1,661 57 1,718
129 [ ~EALTEUATAL 37 37
130 (A RF AT 30 30
131 |7 /% ARREY 318 50 1,815 118 2,661
132 |75 R 280 280
133 [I—~L 300 300
134 [FEFn 86 86
135 [EUS S\ IAF L 145 145
138 | AFTTHL 165 17 6,039 8 0 0 6| 6,237
142 [ A7e=1 106 14 28 792 2 25 967
13 AL 3,188 1 3,190
14 [N 7 a% v ARRE Y 150 9 159
15 [JLVF T BATFL 3,511 857 1,398
19 [T=  AF 4T 7 A
150 [EUTFANLT 150 150
156 [0AALT A I=0 A 110 110
457 |7 a)LIRA
B i 62,713]  195,125]  683,686]  34,624] 25,159 637]  40,568] 1,042,413
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#2-1-18 RRITAR D X B - RS2 E RN O H R R R CPER224F 2 R JF I

el %a 7N AEHRH i (kg/ )

i Fet 3
e WL B RME | FhE | A7 Tama | e
1 |HgR KB EY 2 1 3
13 | 7Eh=hv 34 35 69
21 |y
22 |74Fu=)v 4,976 4,976
25 [ANTVv 50 61 111
27 |A#3be
29 |1-7UNAF -2 3-TRFL Sl 4 1

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 488 661 1,105 48 10 1 14 2,326

VZDIREMIZIRD)
40 [E7=FE—k 102 38 140
41 |7 77 4 781
46 |FY Ry 7 =T )L 301 301
47 | THIRA 434 58 492
48 |EPN 219 146 365
49 [T AZY 2,129 11 42 2,182
50 |EUF—h 6,536 6,536
52 |[7I=HNT 680 680
53 |mF P 6 26 404 19 2 3 9 469
54 |HRAFTE—b 861 861
61 |~rx7 236 89 325
62 |vra®s 2,723 2,206 4,929
63 |Y/7hY7 a3k 970 766 1,848 190 494 4,269
64 |Th7xrTavsA 1,638 945 2,583
70 | =~ ATF U AR 14 0 14
80 [Fi L 8,259 1,767 17,863 705 72 49 130| 28,845
82 SRR U DKBHLE Y
83 |7Av 72 4 76
90 |[TrIVv 93 93
91 |7 Fvv 111 1,550 1,661
92 [ML7=ESR 90 90
93 |[ArF/H—)L 529 529
95 |ZATVF A 356 569 78 1,003
96 |Y7=/a)ry—n 68 3 0 34 0 105
100 | FLFFrm—L 14,917 14,917
101 |[7F7m—)v 1,251 40 1,291
108 |Aa7my 7 234 7,566 7,801
113 [~Yv 7 150 58 215
L4 | A F )77 164 164
115 | 7= RH3R 5,701 5,701
116 [ ~FF TV IR 8 2 10
117 |77 a)y—1 342 86 428
118 |37 %=/ 1 33 2 36
119 |[7=rTary—u 21 1 22
124 |73vmy 4,855 45 4,900
125 |Zoo_ P 1,421 1,421
137 | 73K
138 |7 Avh 675 675
139 [FFmAR 5 1 1 0 0 7
140 |7 =27 m SRy 60 1 0 0 62
141 [EFF=L 150 150
144 iﬂi o T AL EER K O T R A TR
146 |EYIRAAF L 94 94
47 |[FAHLT 7 11,119 11,126
148 | B 7z Abm—/L 4,374 40 4,414
152 |HNEyT 5,204 103 885 6,192

g 3 6 44 50

78 354 18 450

169 |Pom 1,134 961 1,753 3,848
170 |7ho=a)—n 5,250 0 5,250
171 |[Furapry—n 50 22 72
172 | AFHYVrmiRy 2,153 15 2,168
174 [V=any 10 2,903 2,912
175 |2,4-D 11,237 615 2,053 13,904
179 |D-D 69,753 69,753
182 |BTY/¥ v Txv 504 504
183 [TV —Fh 9,756 9,756
184 |[Pru~=) 2,291 209 1,331 5,933 9,764
187 |PFT v 2,940 2,940
91 |4y FuFtT 2,496 2,496
192 | =T 4T = 7R A
193 |=FLFF AR 3,171 77 198 3,446
194 |AFHa
195 |7 uFAHRA 1,471 874 51 8 12 31 2,448
196 [ AFHF A 725 47 772
197 |~ 325 166 1,354 80 1,925
198 | ART—h 33 978 1,011
206 |[HAARALT 7 199 26 225
207 |2,6-T—tert-7 F)-4-JLY —)L 14 14
212 |77 =—h 197 5,879 1,837 33 4 236 8,187
213 INNN-VAF LT ERTIR 7 7
217 |FATIT A
221 | NUTTINT 1,464 246 1,710
222 |7 )FAINT
225 [N LRy 3,982 461 4,706 668 6 115 294 10,232
227 [/3F=a—k 693 527 1,301 136 348 3,005
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229 [FAT 7 X AF L 155 942 1,999 3,097
233 | = b —F 249 161 113 524
236 [T AAF L= 30 30
244 |77 AVE 90,944 90,944
28 ATV 1,053 11,368 2 36 93| 12,575
249 | /L E YRR 735 3 738
250 [ (/%Y FAr 6 2,011 175 2 3 7| 2203
%1 [T Tt 7,719 1,896 1,199 1,246 12 592 1,523] 14,188
252 | 7= F Ao 235 64 1 13 34 349
253 |77 = JIRA
254 [ {7 B~ kA 289 289
257 |74 /= 2,306 2,306
258 |~ YAFLLTRII 97 51 149
260 |Zansn=i 2,125 134 1,079 1,706 1| 8346
261 |7V IAF 9,874 9,874
266 |77 /LRI 99 99
267 |FA IS 32 513 227 2 8 782
268 | V7L 246 3,365 2,409 270 6,290
272 |$RKIEMEH B2 BRS) 36 36
273 In-RT I AT a—i 15 7 22
275 |FT S /R Mo 327 8 19 0 0 1 355
285 [/an s 92,510 92,510
286 [FUZBEL 14 21 53 88
203 [FI7 A5 14,135 1,135
206 |L,2,4- N AF L~ By 343 203 546
207 [1,3,5-RUAF L~ By 85 0 15 100
300 [z 11 1 9 21
302 |[FoaLy 32 0 496 528
323 [V AN 2,175 2,175
325 A% 2,066 2,159 322 17 a1 4,608
326 |72 FV
328 [V 31 34
329 [HUH—r " A—F 608 1,330 800 2,738
331 | AR 195 195
340 [E7==1 2 3 1
350 |~ AN 71 198 0 1 273
BT T 125 37 162
357 |7 FuT = 37 34 9 80
358 |77 7 )UK
360 |~/ 653 480 504 18 1,685
361 3,166 3,166
362 [T Tz Funy
363 X TUT 251 251
364 | 7= B mF L A— 5 7 9 20
369 |7 Xk
370 [EVF~r 80 80
371 |77 7=  ETF 20 20
376 |7 Hoa—n 11,041 11,941
378 |[Fue x> 767 843 1,610
383 |[Tavi L 2,923 13,063| 15,986
386 | RALAT L 99 2,063 2,161
387 |7 = T HARX 432 2 434
400 |~ B 0 0 0 1
402 [A7=F ok 7417 7,417
405 [IZH5F LAY 8 17 10 9,785 9,820
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 2,993 1,961 1,649 802 8 12 30| 7,451
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 140 316 1,040 138 1 2 5| 1,643
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 4,487 5,755 8,421 14,761 144 215 551 34,335
410 ?y(’k%yl%y/)*/"”71"”1—7 1,155 1,014 4,175 430 8 7 18] 6,807
414 K~ AR
122 [ 72007 10,022 10,022
120 AT = AT F T F—h 200 200
125 |47 aHnn T
127 [ U 135 939 1,074
128 |77 LT 389 389
129 |~ OAL T AT 177 15 192
130 (AL FEHFHLT 2% 2%
BL[7IxLARREY 172 150 930 366 1,917
132 |75 R 20 20
133 [I—~L 1,600 1,600
134 [FEFn 64 61
135 [EV A IATF 980 980
138 | AFTTHL 342 17 715 21 0 1 2| Lol
142 [ A7e=1 212 3 15 283 5 12 559
143 [ X 1,554 0 1,555
144 [N)7ek v ARRE Y 9 9
15 [JL V%L DAFIL 825 257 1,082
19 [T AT AT 74
150 [CV7FINT 173 173
456 |[DAAET V=D A
457 |7 a)LIRA
B i 164,382]  41,412] 385,536 21,231 6,920 1511 18,085] 669,078

(2)-38




#2-1-19 FERITAR DX GH - R ZE0 E RN OE H R R CPR224 2L 5 1LIBLUR)

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 4 0 4
13 | 7Eh=hv 27 19 46
21 |y
22 |74Fu=)v 323 323
25 [ANTVv 40 40
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 407 624 1,399 17 4 1 9 2,461
VZDIREMIZIRD)

40 [E7=FE—k 78 2 80
41 |[7hg=1 1,962 6 1,968
46 |FY Ry 7 =T )L 210 210
47 | THIRA 7 3 10
48 |EPN 17 75 92
49 [T AZY 219 219
50 |EUF—h 12,728 12,728
52 |7o=HNT 120 120
53 |mF P 0 1 73 3 1 2 81
54 |[RAFTE—b 45 45
61 |~vvx7 280 20 300
62 |~ ags 3,485 335 3,820
63 |Y/7hY7 a3k 40 1,686 179 53 120 2,079
64 |Th7xrTavsA 1,465 806 2,271
70 | =~ ATF U AR 2 0 0 2
80 [Fi L 1,299 5,804 4,954 360 115 30 68 12,629
82 SRR U DKBHLE Y
83 |7Av 20 14 34
90 [T 213 213
91 [> 7P 25 292 317
92 [ML7=ESR 45 45
93 | ANT/m—)
95 |ZATVF A 458 189 4 652
96 |Y7=/a)ry—n 10 0 0 0 10
100 | FLFFrm—L 2,683 2,683
101 |[7F7m—)v 258 258
108 |Aa7my 7 610 356 967
113 [~Yv 20 89 127 236
L4 | A F )77 262 262
115 | 7= RH3R 2,840 2,840
116 [ ~FF TV IR
117 |F 72y — 35 65 100
118 |7 Z=)L 5 5 1 10
119 |7z Ta)y/—i
124 |[73vmy
125 7o~ Py 294 294
137 > 73k 8 8
138 |7 Avh 297 297
139 [FFmAR
140 |7 =27 m SRy 3 0 0 4
141 [EFF=L
144 iﬂi o T AL EER K O T R A TR
146 |EYIRAAF L 329 329
47 |[FAHLT 91 749 840
148 | B 7z Abm—/L 207 207
152 |HNEyT 570 54 62 686

3 15 85 100

199 50 17 267

169 |Pom 547 4 1,264 1,815
170 |7ho=a)—n 0 0 0
171 |[Furapry—n 375 14 389
172 | AFHYVrmiRy 910 15 925
174 [V=any 85 2,027 2,112
175 |2,4-D 406 393 216 1,016
179 |D-D
182 |BTY/¥ v Txv 60 60
183 [TV —Fh 2,072 2,072
184 |[Pru~=) 39 684 447 434 1,605
187 |PFT v 420 13 433
91 AV FuFFI 180 180
192 | =T 47 =V IRA 25 25
193 |=FLFF AR 1,340 54 121 1,515
194 |AFHa
195 |7 uFAHRA 128 6 2 0 1 137
196 [ AFHF A 418 2 420
197 |~ 262 2,751 1,022 4,035
198 | ART—h 14 334 348
206 |[HAARALT 7 13 11 24
207 |2,6-T—tert-7 F)-4-JLY —)L 2 2
212 |77 =—h 578 6,268 2,678 301 1 837 10,663
213 INNN-VAF LT ERTIR
217 |FATIT A
221 | NUTTINT 126 488 614
222 |7 )FAINT
225 [N LRy 641 4,299 3,768 352 50 180 406 9,696
227 [/3F=a—k 29 1,204 128 38 86 1,485
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229 [FAT 7 X AF L 0 1,970 1,281 3,251
233 |7z bz —F 12 217 64 324
236 [T AA XL = 30 30
244 [#V A5k 5,096 5,096
28 ATV 102 2,652 30 7 16| 2,806
249 [/aEYER 147 147
250 [ (/%Y FAr 1 1,240 199 11 11 2| 1517
%1 | 7= haF Ay 1,510 14,905 1,138 724 150 39 17| 8,584
252 | 7= F Ao 59 11 20 7 15 112
253 |77 = JIRA
254 | AT RUIRA
257 |74 /=
258 |~ YAFLLTRII 120 7 127
260 [Znnya=, 87 2,520 390 387 o 3384
261 |7V IAF 12,770 12,770
266 |77 16 16
267 |FA IS 90 99 27 6 3 225
268 | V7L 228 1,334 1,692 120 3,374
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 14 1 15
275 |FF L AR R A 51 7 2 1 0 0 61
285 | 7oy 778 778
286 |[FJZHE L 71 19 12 132
203 [FI7 A5 3,330 3,330
206 |L,2,4- N AF L~ By 94 141 235
297 |1,3,5 NI AF L~ B 23 28 51
300 [ 1 3 5 9
302 |[FoaLy 21 678 698
323 [V AN 3,611 3,611
325 A% 1,086 22 19 1 1| 1159
326 |72 FV
328 [V 473 173
329 [ RUH—SA—R 1,244 384 950 2,578
331 | HAY AR 15 15
340 |7 ==L 1 1 2
350 |~ AN 16 4 1 3 2
BT T 134 6 140
357 |7 77 =0 2 22 1 0 25
358 |77 7= /0K 1 0 2
360 |~/ 241 1,177 106 5 1,530
361 2,071 2,971
362 [T Tz Funy
363 |AXHTTV
364 | 7= B mF L A— 5 0 0 5
369 |7 SLE Sk 120 120
370 [EVF~r
371 |77 7= EIF
376 |72 ra— 10,028 10,028
378 |[Fue x> 262 228 490
383 |7 rwi L 84 84
386 | RALAT L 5,243 5,243
387 |7 = T HARX 121 0 121
400 |~ B 0 1 0 1
402 [A7=F ok 1,965 1,965
405 [IZH5F LAY 0 27 0 95 122
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 350 1,547 92 19 10 3 6| 2,057
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 2 283 466 11 2 1 1 767
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 73 5,151 325 1,135 235 61 18] 7,119
410 ?y(’k%yl%y/)*/"”71"”1—7 286 913 656 15 1 3 B 1,927
414 K~ AR
122 [ 72007 3,150 3,150
4124 |AFN=AIF AT F—h
125 |47 aHnn T
127 [ U 85 251 336
128 |77 LT 119 38 187
129 |~ OAL T AT 154 154
430 (A REP T
BL[7IxLARREY 188 10 140 104 742
132 |75 R
133 |[—~L 150 150
134 [FEFn 2 2
135 [EV A IATF 305 305
138 | AFTTHL 288 64 1,089 10 3 1 2| 1456
142 [FFa=r 1,876 1,876
143 AV 546 1 547
444 |N)7nF o AhrES
145 [JLYR T BATL 243 86 328
19 [T AT AT 74
150 [CV7FINT 282 282
156 [DAAET LI=0 4 110 110
457 |7 a)LIRA
B i 71,988]  48,282] 49,926 5,612 1,471 511 10,167] 190,959
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#2-1-20 FERRITAR DI X R - MG E RN O H R R R CPEpl224 12 ; R TR I

el %a 7N AEHRH i (kg/ )
i Fet 3
e WE4 i SE | ano Tama | e
1 |HEROREIEE Y
13 | 7Eh=hv 9 0 9
21 |y
22 |747 =)L 476 476
25 |[ANT Vv
271 | AHIbm
29 |[I=-TUAFL-2,3-TRF T8 2 2
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 98 287 525 8 13 0 0 931
VZDIREMIZIRD)
40 [E7=FE—k 51 9 60
41 [ZARF= 620 620
46 |FVoky S =F L 42 42
47 |7 HIRA 228 91 319
48 |EPN 9 36 45
49 [T AZY 176 176
50 |EUF—h 12,274 12,274
52 |T7I=HANT
53 |mF P 0 2 16 0 0 0 0 19
54 |HRAFTE—b 257 257
61 |~wox7
62 |vra®s 2,661 1,098 3,759
63 |Y/7hY7 a3k 80 578 376 20 116 1,169
64 |Th7xrTavsA 1,846 354 2,200
10 | A0 T BB 7 ;
80 [Fi L 1,778 820 4,991 138 33 18 102 7,880
82 SRR U DKBHLE Y
83 |7Av
90 [T 43 43
91 [> 7P 22 5 3 20 50
92 [ML7=ESR 15 15
93 |[ArF/H—)L 135 135
95 |ZATVF A 37 141 2 180
96 |Y7=/a)ry—n 31 0 11 43
100 | FLFFrm—L 2,892 2,892
101 |[7F7m—)v 129 129
108 |Aa7my 7 131 519 650
113 [~Yv 14 29 50 92
114 (A5 )77 7 7
115 | 7= RH3R 1,895 1,895
116 | ~FTF T/ IR 9 1 10
117 |F 72y — 45 80 125
118 |37 %=/ 5 14 4 23
119 |7z Ta)y/—i
124 |73vmy 45 45
125 7o~ Py 147 147
137 | 73K 107 107
138 |[PZ7us Avhk 939 939
139 [FFmAR 3 0 0 0 0 3
140 |7 =27 m SRy 10 0 10
141 [EFF=L 30 30
144 iﬂi o T AL EER K O T R A TR
146 |EUIRAAF L
147 |FAINT 772 772
148 | B 7z Abm—/L 1,158 40 1,198
152 [z y>r 1,175 35 540 1,750
g 3 243 607 850
163 220 121 504
169 |Pom 509 32 19 560
170 |FhFa)/ —b 0 0
171 |[Furapry—n 275 55 330
172 | AFHYVrmiRy 356 165 521
174 [V=any 19 650 669
175 |2,4-D 883 101 402 1,386
179 |D-D 52,859 52,859
182 |BTY/¥ v Txv 210 210
183 [TV —Fh 426 426
184 |[Pru~=) 55 135 68 271 529
187 |PFT v 300 2 302
91 |4y FuFtT 528 528
192 | =T 4T = 7R A
193 |=FLFF AR 662 3 15 680
194 |AFHa
195 |7 uFAHRA 66 44 1 0 0 0 111
196 [ AFHF A 256 8 264
197 |~ 92 88 230 410
198 | ART—h 165 165
206 |[HAARALT 7 26 24 50
207 |2,6-T—tert-7 F)-4-JLY —)L 7 7
212 [7E7=—F 67 1,574 167 7 0 29 1,845
213 [INN-VAF LT ERTIR
217 |FATITA
221 | NUTTINT 117 50 167
222 |7 )FAINT
225 [N LRy 249 423 1,893 123 2 7 41 2,738
227 [/3F=a—k 57 413 269 14 83 835

(2)-41




229 [FAT 7 X AF L 695 704 1,399
233 | = b —F 303 53 81 11
236 [T AAF L= 150 150
244 |77 AVE 15,288 15,288
28 ATV 200 4,161 2 17 101 4,505
249 [/aEYER 147 30 177
250 [ (/%Y FAr 9 264 27 0 0 2 302
%1 [T Tt 1,019 1,063 182 844 13 511 2,057 6,890
252 | 7= F Ao 19 183 2 36 207 77
253 |77 = JIRA
254 | AT RUIRA
257 |74 /= 272 272
258 |~ YAFLLTRII 81 18 100
260 [Znnya=, 315 1,713 657 474 3,159
261 |7V IAF 2,801 2,801
266 |77 /LRI 56 56
267 |FA IS 18 50 152 2 9 231
268 | V7L 35 481 765 180 1,461
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 6 1 7
275 |FT S /R Mo 22 8 0 0 0 30
285 [/an s 25,809 25,809
286 [FUZBEL 16 11 62 88
203 [FI7 A5 2,128 2,128
206 |L,2,4- N AF L~ By
207 [1,3,5-RUAF L~ By 1 1 2
300 |ML= 1 1 3 5
302 |[FoaLy 10 1 201 212
323 [V AN 2,570 2,570
325 A% 1,604 156 8 4 22| 1,794
326 |72 FV
328 [V 203 203
329 [HUH—r " A—F 62 93 1,550 1,705
331 | HAY AR 150 150
340 |7 ==L
350 |~ AN 18 13 10 0 0 72
BT T 1 7 19
357 |7 FuT = 6 29 8 2 15
358 |77 7= OF 1 0 1
360 |~/ 137 597 76 810
361 1,007 1,007
362 [T Tz Funy
363 X TUT 88 88
364 | 7= B mF L A— 3 2 1 10
369 |7 Xk
370 [EVF~r 40 10
371 |77 7=  ETF 10 10 20
376 |72 ra— 14,053 1,053
378 |[Fue x> 601 29 630
383 |Towi v 205 295
386 | RALAT L 99 1,805 1,903
387 |7 = T HARX 97 1 98
400 |~ B 0 0 0 1
402 [A7=F ok 2,136 2,136
105 [BFLLW 5 24 29
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 82 907 269 83 1 1 5| 1,348
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 9 190 154 21 0 0 1 376
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 177 2,163 835 1,388 21 15 85| 4,683
410 ?y(’k%yl%y/)*/"”71"”1—7 60 585 1,127 67 2 1 s9| 1,902
414 K~ AR
122 [ 72007 2,013 2,213
120 AT = AT F T F—h 680 630
125 |47 aHnn T
127 [ U 82 141 223
128 |77 LT 108 108
129 |~ OAL T AT 72 225 297
130 (AL FEHFHLT 5 5
BL[7IxLARREY 224 10 160 237 631
132 |75 R
133 |[—~L 350 350
134 [FEFn 18 18
135 [EV A IATF 540 540
138 | AFTTHL 90 14 201 5 0 0 1 104
142 [ A7e=1 17 80 71 5 3 19 225
143 [ X 196 0 196
144 [N)7ek v ARRE Y 50 50
15 [JL V%L DAFIL 146 86 231
19 [T AT AT 74
150 [CV7FINT 177 177
456 |[DAAET V=D A
457 |7 a)LIRA
B i 17,207 19.112] 126,517 3,030 1,405 665 7,216] 208,182
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#K2-1-21 FERRIAR D X BB - RS2 E RN O H R R R O 224 L ; I B U

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | oo | gk |CRREF e
1 |HgR KB EY 1 0 1
13 | 7Eh=hv 12 0 12
21 |y
22 |747 =)L 366 366
25 |[ANT Vv
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl 4 1
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 100 355 166 9 13 0 0 644
VZDIREMIZIRD)
40 [E7=FE—k
41 [ZARF= 619 619
46 |FY Ry 7 =T )L 35 35
47 | THIRA 89 6 95
48 |EPN 15 30 45
49 | NUT AR 147 147
50 |EUF—h 3,936 3,936
52 |[7I=HNT 40 40
53 |=F P 0 3 109 4 0 4 121
54 |RAFTE—k 168 168
61 |~vvx7 67 8 75
62 |vra®s 300 220 520
63 |Y/7hY7 a3k 257 887 744 54 494 2,436
64 |ThT= Ty 258 187 445
70 |=~AVF oz AR 1 0 1
80 [Fi L 1,103 530 2,762 175 33 4 32 4,638
82 |[$RFE OO KIEMALAEY
83 |7Av 247 247
90 |7V
91 |7 Fvv 15 16 2 18 50
92 [ML7=ESR 15 15
93 | ANT/m—)
95 |ZATVF A 72 72
96 |Y7=/a)ry—n 38 2 0 0 40
100 | FLFF7m—)L 1,424 1,424
101 |7F7m—)L 215 215
108 |Aa7my 7 271 265 536
113 [~Yv 13 55 32 100
L4 | A F )77 44 14
115 | 7= R 793R 3,028 3,028
116 | ~FTF T/ IR
17 | 77235 — 46 104 150
118 |37 %=/ 1 8 2 11
119 |Z7xr 7o)y —)
124 |73vmy 45 45
125 |Zoo_ P 245 245
137 | 73K
138 |[PZ7us Avhk
139 [FFmAR 1 0 0 0 0 1
140 | 7= 7 m/Rp) 20 0 20
141 [EFF=L
144 iﬂi o T AL EER K O T R A TR
146 |EUIRAAF L
147 |FAINT 181 2,789 2,970
148 | B 7z Abm—/L 1,505 120 1,625
152 |HNEyT 2,809 54 328 3,190
g ) 20 130 150
4 42 4 50
169 |Pom 246 96 58 400
170 |FhFa)/ —b 0 0
171 |[Forary—i 250 14 264
172 [ AF PP rairs 421 30 451
174 [V==my 20 631 651
175 |2,4-D 637 290 240 1,167
179 |D-D 12,440 12,440
182 |BTY/¥ v Txv
183 [TV —Fh 1,848 1,848
184 [P Zu~=/L 49 1 107 121 279
187 |PFT v 42 42
91 |4y FuFtT 1,068 1,068
192 | =T 4T = 7R A
193 |=FLFF AR 1,565 12 108 1,685
194 |AFHa
195 |FaF A 7EA
196 |AFHF A 221 11 232
197 |9/ 43 33 96 172
198 | ART—h 230 230
206 |WILARANLT 7 2 1 3
207 |2,6-T—tert-7 F)-4-JLY —)L 1 1
212 |77 =—h 13 597 152 18 0 20 800
213 [INN-VAF LT ERTIR
217 |FAVITN
221 | NUTTINT 902 128 1,030
222 |7 )FAINT
225 [N LRy 248 157 610 40 1 12 106 1,174
227 |/37a—h 184 634 531 38 353 1,740

(2)-43




229 [FA T 7 x—bAF /L 428 2,756 3,184
233 [7=rb—k 2,418 107 51 2,576
236 | T AAFT =/
244 |5/ Ak 1,960 1,960
248 |FATV ) 64 982 20 2 23 1,091
249 |ZaLE YRR
250 [AV¥ Y FA 4 348 68 3 0 3 428
251 |F==FaFi 3,150 477 294 936 39 229 3,620 8,745
252 |TxrFAL 16 121 6 53 196
253 |77 = JIRA
254 | AT RUIRA
257 |Fh /) —
258 [~FPAFLUTRII 12 6 18
260 [7mEZB=L 106 312 701 415 0 1,834
261 |[7H5AF 5,478 5,478
266 |77 /LRU 28 28
267 |[FADINT 23 124 33 1 2 183
268 |FTA 239 360 281 30 910
272 |[$RKVEMER S A FR)
273 |[n-RF LT va—)u 1 4
275 |FF L VHilET R D A 83 5 1 0 0 0 90
285 |zanE sy 5,742 5,742
286 [Pz L 117 15 135 267
293 [F7LFY 2,457 2,457
296 [1,2,4-RUAF L~ B 1,186 1,186
297 [1,3,5-RUAF LB 293 293
300 [Prxy 1 2 2 5
302 |[F 7L 8 122 130
323 [S ARY 776 776
325 [ A% 241 171 43 1 9 465
326 |72 FV
328 [P74
329 [RUH— " A—R 30 48 600 678
331 [ XY HA 12 12
340 |7 ==L
350 |~V ARY L B 13 30 0 1 53
-7 F L 27 5 32
357 |7 Fur=o0 40 26 9 4 80
358 |77 7= UK 81 1 82
360 [~/uL 377 138 65 580
361 1,750 1,750
362 [T Tz Funy
363 [A%HOT 49 49
364 |7z mF L AR
369 |7 Xk
370 [EV&~ 20 20
371 |77 7= ETR
376 |74 ma—1 573 573
378 |[Far s 152 128 280
383 |[TawiL 2 163 165
386 | RALAT L 1,084 1,084
387 |7 = T HARX
400 [~ P 0 1 0 1
102 [A7=F &k 710 710
405 [IZH5F LAY 6 4 1 11
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 204 470 118 146 6 1 7 952
ZORGYICIRD)
408 i;%**’l%vﬂz‘L}/%’WIZ”I# 7 69 104 20 1 0 1 202
409 i%}f‘;{ﬁgz/):]‘T‘/’”IWT”MM 137 799 397 1,335 56 7 63| 2,793
410 ?;U@J*V'E%V/)*/"”71"”1—7 188 206 2,461 57 4 0 3| 3219
414 K<L AR
422 |7V b/ 966 966
424 [AF N =AVFFHTT x—h
125 |4 Fahns
427 [y 69 205 274
428 [7= /)T INT 4,447 4,447
429 [/\NmRL T AF )L 12 12
430 (A R¥H T
431 |7/ ¥ AbrEY 32 20 52
432 |75 R
433 [ =734 800 800
434 [F%H 1 1
435 [EVINY AT 207 207
138 [AFLFTHL 67 1 138 1 0 0 0 208
442 | A=)
443 (AL 458 458
444 |N)7nF o AhrES
445 [V Y%L BAF L 194 43 237
449 |72  AF 4T 74
450 [EV7F LT 756 756
456 |[DAAET V=D A
457 |7 a)LIRA
& t 46,254 7,894 48,022 2,977 2,603 383 5,902] 114,036

(2)-44




#2-1-22 FERRITAR DI BB - RS2 E RN O H R R R CTER224F FE ; i I

el %a 7N AEFHIHE L A (kg /)
i Fet 3
e WA moo| e | gie | o | gk |CRREF s
1 |HgR KB EY 1 0 1
13 |[7Eb=FL 22 2 24
21 |y
22 |[74Fn=1 1,204 5 1,209
25 [ANT Vv 1 1
271 | AHIbm
29 [1-7UnAFL-2,3-THF L Tt

BT VIR ZIVIR iR N O D
30 |(FARLEORBEHNA0DD14ETOLDORK 75 785 384 22 1 0 4 1,270
O ZDIREMIZIRD)

40 |[E7=F¥—h 44 56 100
41 [T RT= 263 263
46 |V aky ST 14 -
47 |7 HIRR 73 10 83
48 |EPN 105 526 632
49 [ ~_oF Az 631 65 385 1,081
50 |EUx—h 4,126 4,126
52 |[7I=hnT 1,040 1,040
53 |=F LBy 3 2 30 1 0 0 0 35
54 |HAFTE—] 134 134
61 |~ x7 139 36 175
62 |~ avT 1,715 930 2,645
63 |[D/7 YT uIR 104 508 977 18 520 2,127
64 |=h7xr oy 1,483 829 2,312
70 | =~ A7 F 72 AR 11 0 0 10 21
80 [Fs Lo 4,148 1,226 5,417 358 23 4 122] 11,299
82 |$RK O D/KIEMEILAEY
83 |rA 52 6 58
90 |TrIPv 118 118
91 27V 29 10 2 63 104
92 [Mr 7= IR 15 105 120
93 [AFZE—L 188 188
95 [TATVF A 56 23 17 96
96 |Y7=/ary—1 16 4 2 11 0 34
100 |[FLFF7m—1 1,999 1,999
101 |[757m—)L 318 160 478
108 [A=7my s 58 342 400
13 [o~vr 35 286 135 456
14 (o877 32 32
115 | 7= bR 1,055 1,055
116 [~F 2 F TR 6 4 10
17 |77 3y —n 1,085 953 2,038
118 [y 7 A=) 9 B
119 |7z Ta)y/—i
124 |731my 192 192
125 |[Zan~s Py 294 294
137 [+ 738
138 [P7ms Avk 23 23
139 [FomAR)
140 |7 =7 /SR 74 6 0 0 80
141 [T XY= 30 30
144 | T AL RIGRER O 7 R
146 [EVIRAAT L 141 141
U7 [FA~v s 7 1,407 1,414
148 [h7 = Apa—/L 1,110 95 1,205
152 [ sy7 1,154 55 518 1,728

: 206 1,044 1,250

14 130 106 250

169 [orm 39 29 108 175
170 |FhFa)—1 0 0 0
171 [Farafy—n 125 38 163
172 | Ao rmaRs 420 225 645
174 [V=an 2,090 2,090
175 [2,4-D 245 45 266 557
179 [D-D 18,083 18,083
182 [EFY %72 6 6
183 [£FYL—F 3,656 3,656
184 [Yro~=)L 38 80 93 553 763
187 [VF7 /v 210 13 223
191 [T aF+7 6,396 57 1,655 8,108
192 | =T 4T = 7R A
193 [ F L FF AP 1,136 1 31 1,168
194 |AFHa
195 [FuFFhx 644 39 1 10 2 60 757
196 [AF2F A4 1,616 66 1,682
197 [=5V 6 69 224 300
198 [ Abz—F 40 40
206 [HARANLT 7 4 20 24
207 [2,6-T-tert-7 FL-4-sLV —L 115 11 126
212 |77 =—h 280 5,835 758 23 0 134 7,030
213 [NN-UAF AT ERT IR
217 |[FAL T 2 48 50
221 [ 7THNT 249 239 488
222 | 7= /FAINT 70 70
225 |F) 7Lk 148 391 2,886 290 2 2 48 3,768
227 [F=—} 74 327 696 13 366 1,475

(2)-45




229 [FAT 7 X AF L 50 2,247 2,385 1,683
233 [Z=o b} 12 112 37 161
236 | T AAFT =/
244 |7V Avk 13,328 13,328
28 ATV 99 1,248 23 4 10| 4,484
249 |/ EUER 71 90 164
250 [ (/%Y FAr 79 384 51 0 0 2 517
%1 [T Tt 943 2,065 283 714 5 21 14| 4748
252 | 7= F Ao 20 65 2 1 18 105
253 |77 = A 10 10
254 [ {7 B~ kA 34 34
257 |74 /=
258 |~ YAFLLTRII 61 27 88
260 [Znnya=, 204 236 624 1,839 1| 2904
261 |7V IAF 829 829
266 |77 /LRI 103 103
267 |[FHSHLT 16 209 837 6 38 1,106
268 | V7L 659 210 969 900 3 07| 2,838
272 |$RKIEMEH B2 BRS) 36 36
273 In-RT I AT a—i 12 3 15
275 |FT S /R Mo 70 15 11 1 0 3 129
285 [/an s 91,313 91,313
286 [FUZBEL 2 5 151 182
203 (N7 502 767 767
206 |L,2,4- N AF L~ By 250 15 295
207 |L,3,5- N AF L~ By 62 0 2 88
300 [Fbmy 5 3 25 33
302 |[FoaLy 14 3 683 700
323 [V AN 1,268 1,268
325 A% 2,753 575 10 7 210] 3,586
326 |72 FV
328 [V 257 52 1515 1,824
329 [HUH—r " A—F 10 270 1,650 1,960
331 | AR 51 51
340 |7 ==L
350 |~ AN 3 19 160 0 0 183
BT T 67 36 103
357 |7 FuT = 22 99 66 39 227
358 |77 7= OF 9 2 11
360 |~/ 112 170 91 37 410
361 529 529
362 [V 7w F o 50 50
363 X TUT 320 320
364 | 7= B mF L A— 12 13 10 35
369 |7 Xk
370 [EVF~r 10 10
371 |77 7=  ETF 10 10
376 |72 ra— 1,076 1,076
378 |[Fue x> 342 708 1,050
383 |[Tavi L 75 75
386 | RALAF IV
387 |7 = T HARX
400 |~ B 0 1 0 1
202 | A7=T ok 998 998
405 [IZH5F LAY 4 3 1 7
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 369 1,589 183 222 2 0 10| 2,675
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 8 206 141 55 0 0 4 113
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 64 472 595 1,537 12 2 69| 2,751
410 ?y(’k%yl%y/)*/"”71"”1—7 137 690 1,689 175 4 0 11| 2737
414 K~ AR
122 [ 72007 537 537
120 AT = AT F T F—h 300 300
125 [T a7 15 15
127 [ U 166 316 182
128 | 7= )7 AT 295 295
129 |~ OAL T AT 14 12 2
130 (AL FEHFHLT 5 5
BL[7IxLARREY 177 10 140 104 731
132 |75 R
133 [I—~L 150 150
134 [FEFn 84 81
135 [EV A IATF 101 101
138 | AFTTHL 88 14 1,120 12 0 0 1| 123
142 [ A7e=1 12 2 10 123 1 18 195
143 AV 1,150 2 1,152
144 [N)7ek v ARRE Y 9 9
15 [JUIR S BATIL 582 13 625
19 [T AT AT 74
150 [CV7FINT 1,256 1,256
456 |[DAAET V=D A
457 |7 a)LIRA
B i 12,038]  20,920] 171,465 5,101 8,068 198 7,7145] 256,435
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#2-1-23 FERITAR D X R - MG E RN O H R R R CPER224 B2 5 B

XBILFWE AL (/)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
U | #ga0 KIETELE D 83 66 149
13 |7 k=R 293 52 345
21 |yuyxyy
22 |747m=)L 1,359 70 1,429
25 ATV 1,529 1,529
27 |Ap3bEy
29 17U AR 23wk TSy 12 12
BT VIR ZIVIR iR N O D
30 |(FARAIEDBRFEP0DEHUETOLD K 263 1,028 1,618 254 2 1 15| 3181
VZORAMICIES)
40 |E7=FB—h 548 592 1,140
41 |7 T=1 361 616 977
46 |V aky ST m 7
47 [T HIRA 1,418 189 1,607
48 |EPN 70 335 405
49 [~rFrH) 1,704 7 16 1,757
50 |®EUF—h 1,248 1,248
52 |\ T7I=hNT 1,880 1,880
53 |Z=F I~ 2 29 461 26 0 0 1 520
54 [RAFTE—F 1,751 1,751
61 |~w %7 6,835 5,340 12,175
62 |voats 17,380] 20,040 37,420
63 |77 ask 142 77 1,102 4 76| 2,543
61 | k7> TaysA 1,245 1,875 7 3 19 3,181
0 | =~ AT ERER 199 0 0 2 201
80 [FI L~ 12,788 8,863 63,146 4,262 164 41 626 89,889
82 |BEOZDAEIELAY
83 |yA 91 12 103
90 |Frovv 509 509
91 [T 16 123 8 5,239 5,416
92 [ 7= BTk 240 960 1,200
93 [AbFu—v 1,872 1,872
95 |FNTVFA 141 2,524 60 2,725
96 |7z /a)rV =) 102 8 2 68 0 181
100 [7LF57m—L 2,084 2,084
101 | 7F7m—) 2,727 2,727
108 [Aa7my~ 288 1,964 2,251
13 [o~vr 5 71 126 205
114 |(AH )77~ 83 83
115 |[7=v Fo sk 2,206 2,206
116 [~F>FT /% 63 27 90
07 [77aF 77— 553 609 1,161
118 |3/u74=)L 2 432 11 446
119 |7=v7a)ry—)L 27 17 44
124 [73vmy 145 145
125 [7aa~u By 2,107 2,107
137 [0 73K 109 109
138 [078 Avk 21 21
139 [FonARI 5 2 1 0 0 8
140 |72 72 N 56 167 1 0 224
4l [T Ex Y =11 216 216
L4 | T ACB G R O T AR g g
<)
146 |EVIRAAT L 282 282
U7 |[FAC AT 156 3,992 4,148
148 [ h7 = Aba—1 560 240 800
162 [N HT 1,152 303 2,473 6,928
g ) 198 952 1,150
220 2,047 237 2,504
169 |V 187 202 8,116] 8,806
170 |FhFa)/ —b 30 7 25 62
171 |Faraty — 250 131 381
172 A%V raiky 165 195 360
174 V== 5 2,545 2,550
175 |2,4D 1,607 361 2,268 4,236
179 [DD 683,093 683,093
182 |EFY ¥y T7xy 78 78
183 |EFYL—h 7,546 7,546
184 |V /u~_=)L 81 83 218 9,831 10,212
187 |YFT /v 1,681 28 1,709
191 (/T aFtT 1,200 0 8 1,208
192 | =7 47 =L RA 3 3
193 | =FNFF AR 5,636 16 241 5,892
194 |FRHo
195 |FaF A 7EA 284 1,217 71 14 6 95 1,687
196 | AFHF A 4,232 652 4,884
197 |~=7V 213 776 5,579 20 6,588
198 |V AR=—]h 72 289 361
206 |HIVIRAILT 7 119 166 285
207 [2,6-F-tert- 7 FL-4-HLV—)L 193 193
212 |7 E7=—h 312 24,626 8,922 60 1 1,648 35,568
213 [NN-UAF LT ERT IR 35 35
217 | FAVITA 25 325 350
221 [T THNT 382 326 708
222 |7 )FAINT 210 210
225 |N) 7Ly 379 285 4,209 579 4 16 244 5,716
227 |/\Za—} 101 243 753 33 510 1,640
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229 [FA 77 F—FAFNL 50 2,908 5,525 o 882
233 [Z=o b} 158 7 891 1,796
236 [T AAF L= 30 30
244 [FY A0k 132,986 132,986
28 ATV 135 9,661 13 16 251 10,406
249 |/ EUER 274 318 592
250 | A%y FAr 121 1,747 552 1 2 35| 2,451
%1 [T Tt 1,822 1,411 2,29 10,533 71 60 994 23,141
252 [T=v T A 151 167 15 26 02| 1,091
253 |77 = A 10 10
254 [ {7 B~ kA 527 527
257 |FH )= 2,651 2,654
258 |~ HAFLLThTIL 730 758 1,489
260 |/ongu=, 240 376 3,767 1,880 8| 6270
261 |7 SAF 3,199 3,199
266 |77 /LRI 188 188
267 |[FHSHLT 65 1,083 1,105 7 51 2311
268 |FUoL 514 1,690 2,076 210 1,190
272 |$RKIEMEH B2 BRS) 72 72
273 In-RT I AT a—i 14 9 22
275 |FT S /R Mo 11 18 29 5 0 7 132
285 [/an s 122,189 122,189
286 [FUZBEL 60 27 407 193
203 (N7 502 2,560 1 0 | 2,578
206 |L,2,4- N AF L~ By 137 91 527
207 |L,3,5- N AF L~ By 108 9 176 293
300 [Fbmy 7 17 36 59
302 [F7 AL 113 12 1,262 1,387
323 [V AR 141 1
325 A% 2,569 1,540 210 28 23] 4,769
326 | JnT=rF o 31 6 10
328 [UTA 184 19 9 132 344
329 [HUH—r " A—F 210 1,573 2,600 1,383
331 | AR 180 480
340 |7 ==L 3 1 4
350 |~ AN 38 147 60 1 11 256
BT T 175 176 351
357 |7 FuT = 240 280 355 199 1,074
358 |77 7= OF 9 31 10
360 |~ 689 1,047 1,194 15 2,915
361 1,879 1,879
362 [V 7w F o 100 400
363 [AXFTT I 699 699
364 | 7= B mF L A— 12 2 32 71
369 |7 SLE Sk 240 114 354
370 [EUF < 135 540 675
371 |77 7=  ETF 10 130 140
376 |7 Hoa— 2,385 2,385
378 |[7aE x7 929 1,101 2,030
383 |[Tavi L 508 1,496] 2,004
386 | RALAT L 7,585 29,137 36,722
387 |7 = T HARX 375 60 435
400 |~ B 1 4 5 9
102 A7 =)ok 1,226 1,226
405 [IZH5F LAY L 3 3 1,520 1,527
RIFF LV TF L) =T VXN T—T )T
107 | LEAIEDPFHN 120D 15ECOLD K 644 6,604 4,148 2,439 16 7 12| 13,970
ZORGYICIRD)
408 E;LJL(”L*/I%V”:*7%’”l:’”1# 75 688 1,013 575 4 2 20 2,385
109 i%}fﬁﬁfﬁzz/):]‘T‘/’LIW‘”WW 530 2,145 3,944 13,464 91 10 617| 20,832
410 ?y(’kﬁ?y'ﬁi“/)*/"”7L‘”I—7 136 2,101 5,346 1,654 22 6 106] 9,671
414 K~ AR
122 |7z BT 388 388
124 [ AT = AIFF T H—F 18,180 18,180
125 [T a7
127 [ U 376 2,119 2,495
128 | 7= )7 AT 2,300 123 2,432
129 [ ~EALTEUATAL 63 208 271
130 (A RF AT 160 160
131 |7 /% ARREY 18 170 1,070 854 2,112
132 |75 R 260 260
133 [I—~L 2,850 2,850
134 [FEFn 71 71
135 [EUS S\ IAF L 207 207
138 | AFTTHL 550 21 2,137 21 3 1 17 3,050
M2 [ ATa=n 160 160
143 AV 1,677 2 1,679
14 [N 7 a% v ARRE Y 25 18 3
15 [JUIR S BATIL 2,086 1,200 3,285
19 [T=  AF 4T 7 A
150 [EUTFANLT 164 161
156 [0AALT A I=0 A 1210 1,210
457 |7 a)LIRA
B i 62,759]  78,610] 1,207,112] 44,762 10,638 398]  70,194] 1,474,473
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F2-1-24 FERRITAR DB X BB - MG E RN OPE H R R R CPpl22 2 = I

el %a 7N AEHRH i (kg/ )
i Fet 3
e WA moo| e | gie | o | gk |CRREF s
1 |HEROREIEE Y 49 7 56
13 | 7&h=RL 268 12 280
21 |y
22 |74Fu=)v 443 443
25 |[ANT Vv 10 10
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl 4 1

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 167 538 550 34 8 0 3 1,300
VZDIREMIZIRD)

40 [E7=FE—k 67 33 100
41 [ZARF= 310 495 805
46 |FY Ry 7 =T )L 35 35
47 | THIRA 1,029 202 1,231
48 |EPN 406 450 856
49 | NUT AR 612 36 70 718
50 |EUF—h 3,048 3,048
52 |7o=HNT 240 240
53 |mF P 12 14 115 5 1 0 2 150
54 |HRAFTE—b 275 275
61 |~vvx7 4,173 627 4,800
62 |vra®s 15,224 5,971 21,195
63 |Y/7hY7 a3k 294 434 815 43 432 2,018
64 |Th7xrTavsA 995 215 19 4 37 1,269
70 |=~AVF oz AR 27 27
80 [Fi L 5,881 5,615 7,961 578 148 14 134] 20,329
82 |[$RFE OO KIEMALAEY
83 |7Av 52 8 60
90 |ThIVv 85 85
91 |7 Fvv 137 145 29 637 949
92 [ML7=ESR 240 540 780
93 |[AhFrmE—)L 45 45
95 |ZATVF A 645 172 197 1,014
96 |7z /a)rV =) 37 3 34 74
100 | FLFF7m—)L 2,238 2,238
101 |[7F7m—)v 116 116
108 |Aa7my 7 670 1,338 2,009
113 [~Yv 21 106 81 208
L4 | A F )77 220 220
115 | 7= RH3R 2,568 2,568
116 [ ~FF TV IR
117 |77 a)y—1 418 192 610
118 |37 %=/ 1 8 3 12
119 |[7=rTary—u 50 16 66
124 |73
125 |Zoo_ P 98 98
137 | 73K 42 42
138 |7 Avh 45 45
139 [FFmAR 1 0 0 0 0 1
140 | 7= 7 m/Rp) 102 88 0 0 190
141 [EFF=L 30 30
144 4<B§ o T AL EER K O T R A TR
146 |EYIRAAF L 188 188
47 |[FAHLT 26 3,250 3,276
148 | B 7z Abm—/L 1,703 530 2,233
152 |HNEyT 382 153 496 1,030

3 94 806 900

45 234 55 334

169 |Pom 346 281 835 1,462
170 |7ho=a)—n 0 0 0
171 |Faraty — 26 26
172 [ AF PP rairs 464 75 539
174 [V==my 2 1,687 1,689
175 |2,4-D 1,165 183 362 1,710
179 |D-D 12,547 12,547
182 |BTY/¥ v Txv 149 149
183 [TV —Fh 2,662 2,662
184 |[Pru~=) 64 24 129 473 691
187 |PFT v 420 420
91 |4y FuFtT 1,664 1,664
192 | =T 4T = 7R A
193 |=FLFF AR 1,762 10 103 1,875
194 |AFHa
195 |7 uFAHRA 185 194 13 4 1 8 405
196 |AFHF A 3,840 168 4,008
197 |9/ 180 213 873 1,266
198 | AR —h 41 37 78
206 |WILARANLT 7 199 162 361
207 |2,6-T—tert-7 F)-4-JLY —)L 27 27
212 |77 =—h 12 2,792 769 74 0 178 3,824
213 INNN-VAF LT ERTIR 14 14
217 |FATIT A
221 | NUTTINT 1,144 149 1,293
222 | 7= )FAINT 70 70
225 [N LRy 530 218 1,147 170 6 12 118 2,202
227 |/37a—h 210 272 562 30 300 1,375
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229 [FA 77 F—FAFNL 1 2,510 3,033 5,574
233 [Z=o b} 63 150 79 292
236 [T AAF L= 120 120
244 |7V Avk 25,676 25,676
28 ATV 3,110 8 9 87| 3,254
249 |/ EUER 11 141 182
250 | A%y FAr 19 270 73 3 1 5 100
251 |7==haFit 2,116 1,539 137 1,395 53 11 107 5958
252 [T=v T A 118 108 9 1 3 281
953 | T 07 = A 520 520
254 |47 0~ 2,839 2,839
257 |FH )= 168 168
258 |~ HAFLLThTIL 602 205 807
260 |/ongu=, 303 244 1513 1,020 o 3,081
261 |7 SAF 1,401 1,401
266 |77 /LRI 52 52
267 |[FHSHLT 10 78 227 9 17 312
268 |FUoL 19 209 922 210 1,360
272 |$RKIEMEH B2 BRS) 12 12
273 In-RT I AT a—i 3 1 4
275 |FT S /R Mo 72 1 8 0 0 1 95
285 [/an s 10,254 10,251
286 [FUZBEL 83 17 161 264
203 (N7 502 2,759 1 0 1| 2761
296 |1,2,4-FUAF L~ Por 250 62 311
207 |L,3,5- N AF L~ By 62 6 101 169
300 [pLry 20 1 21 7
302 [F7 AL U 19 651 687
323 [V AR 1,242 1,212
325 A% 1,002 239 19 6 59| 1,355
326 |72 FV
328 [UTA 10 2 20 32
329 |[RUA— AP 345 1,050 1,400 2,795
331 | AR 150 150
340 [E7==1 2 0 2
350 |~UL AN 11 30 0 90 0 0 131

B0 F I 11 13 54
357 |7 FuT = 93 337 329 601 1,360
358 [F7 7= /UK 20 60 80
360 |~ 231 519 373 6 1,160
361 893 893
362 [V 7w F o 1,000 1,000
363 [AXFTT I 412 112
361 |7 rk s A—f 71 69 132 272
369 |7 L F o 60 57 117
370 [EUF < 215 10 255
371 |77 7=  ETF 10 10
376 |7 Hoa— 1,468 1,168
378 |[7aE x7 625 195 1,120
383 |[Tavi L 17 391 141
386 | BLALAT/L 130 130
387 |7 = T HARX 110 13 123
100 |~ B 0 1 0 1
102 A7 =)ok 1,484 1,484
405 [IZH5F LAY 3 0 95 98

RIFF LV TF L) =T VXN T—T )T
107 | LEAIEDPFHN 120D 15ECOLD K 158 1,046 1111 366 14 3 28| 6,025
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 15 251 262 94 4 1 1 668
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 314 685 839 2,202 83 17 165| 4,305
410 ?y(’k%yl%y/)*/"”71"”1—7 263 791 1,330 277 16 2 195| 2,876
414 K~ AR
122 |7z BT 764 764
124 [ AT = AIFF T H—F 100 100
125 [T a7
127 [~ 165 336 501
128 | 7= )7 AT
129 | NRALTHY AT 75 237 312
130 (A RF AT 10 10
131 |7 /% ARREY 108 10 260 372 1,050
132 |75 10 10
133 [I—~L
134 [FxRyIL 90 90
135 [EUS S\ IAF L 320 320
138 |AF AT T AL 157 12 1,256 7 1 0 1 143
142 [ A7e=1 1,035 150 1,185
143 AV 2,812 1 2,313
14 [N 7 a% v ARRE Y 25 25
15 [JUIR S BATIL 679 3 722
19 [T=  AF 4T 7 A
150 [EUTFANLT 159 159
156 [0AALT A I=0 A 165 165
457 |7 a)LIRA
= F 11,622] 48,931 110,684 7,139 7,207 216 7,030] 225,921
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#2-1-25 FERITAR DB R BB - RS2 B O H I HER R R CTEpR224E

el %a 7N AEHRH i (kg/ )

i Fet 3
e WL B RME | oo | gk |CRREF e
1| HEROKEIE LAY 2 0 2
13 | 7Eh=hv 57 3 60
21 |y
22 747 =L 36 36
25 [ANTVv 43 43
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 173 101 817 18 13 5 1,126

O ZDIREMIZIRD)
40 [E7=FE—k 31 29 60
41 |[7hg=1 150 150
46 |V aky ST 84 e
47 |7 HIRA 71 51 88 210
48 |EPN
49 [T AZY 356 24 31 411
50 |EUF—h 144 144
52 |T7I=HANT
53 |mF P 2 99 3 3 4 111
54 |HRAFTE—b 63 63
61 |~vvx7 118 32 150
62 |vra®s 758 1,394 2,153
63 |Y/7hY7 a3k 161 81 337 150 745
64 |Th7xrTavsA 808 0 362 1,169
70 | =~ ATF U AR 8 0 0 8
80 [Fi L 2,269 1,079 2,891 326 52 64 6,688
82 SRR U DKBHLE Y
83 |7Av 2 2
90 [T 43 43
91 [> 7P 18 846 864
92 [ML7=ESR 15 15 30
93 | ANT/m—)
95 |ZATVF A 55 122 16 223
96 |Y7=/a)ry—n 27 3 0 11 0 42
100 | FLFFrm—L 3,160 3,160
101 |[7F7m—)v 545 545
108 |Aa7my 7 110 174 284
113 [~Yv 1 1 2
L4 | A F )77 123 123
115 | 7= RH3R 2,355 2,355
116 |[~FF TV IR 6 4 10
117 |F 72y — 323 157 480
118 |37 %=/ 25 25
119 |[7=rTary—u 19 3 22
124 |73vmy 584 45 629
125 7o~ Py 343 343
137 | 73K 2 2
138 |[Pr7as Ay 39 39
139 [FFmAR 1 0 0 0 0 1
140 |7 =27 m SRy 0 10 0 0 11
141 [EFF=L
144 iﬂi o T AL EER K O T R A TR
146 |EUIRAAF L 47 47
U7 | FAHILT
148 | B 7z Abm—/L 908 160 1,068
152 [z y>r 1,046 45 179 1,270

g 3 28 272 300

6 85 56 147

169 |Pom 37 98 589 724
170 |7ho=a)—n 0 0 0
171 |Faraty — 600 26 626
172 | AFHYVrmiRy 857 150 1,007
174 [V=any 2,226 2,226
175 |2,4-D 498 68 93 659
179 |D-D 3,455 3,455
182 |BTY/¥ v Txv 165 165
183 [TV —Fh 4,896 4,896
184 |[Pru~=) 38 3 68 677 786
187 |PFT v 210 210
91 |4y FuFtT 432 432
192 | =T 47 =V IRA 3 3
193 |=FLFF AR 1,040 86 1,136
194 |AFHa
195 |7 uFAHRA 453 98 7 1 2 561
196 [ AFHF A 844 64 908
197 |~ 75 17 280 372
198 | ART—h 65 65
206 |HIVIRAILT 7 8 1 9
207 |2,6-T—tert-7 F)-4-JLY —)L 8 8
212 [7E7=—F 23 1,323 689 35 112 2,181
213 [NN-VAF LT ERT IR 7 7
217 |FATITA
221 | NUTTINT 206 16 222
222 |7 )FAINT
225 [N LRy 407 52 888 133 4 40 1,528
227 [/3F=a—k 115 52 228 103 510

(2)-51




229 [FAT 7 X AF L 232 1,085 1,317
233 | = b —F 65 53 90 208
236 [T AA XL = 30 30
244 |77 AVE 10,094 10,094
28 ATV 27 1,329 31 5 a| 1432
249 |ZaLE YRR
250 [ (/%Y FAr 0 176 87 3 0 4 271
%1 | 7= haF Ay 2,196 217 1412 77 25 28 250] 4,906
252 | 7= F Ao 171 8 10 2 23 213
253 |77 = A 120 120
254 [ {7 B~ kA 17 17
257 |74 /= 29 29
258 |~ YAFLLTRII 29 39 67
260 [Znnya=, 238 35 669 1,303 o 2047
261 |7V IAF 1,473 1,473
266 |77 57 57
267 |FA IS 2 31 145 5 6 189
268 | V7L 94 120 2,206 690 3,110
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 7 8 15
275 |FT S /R Mo 140 6 5 1 0 1 154
285 | 7oy 580 580
286 [FUZBEL 35 6 50 91
203 [FI7 A5 3,250 3 0 4 3266
206 |L,2,4- N AF L~ By 15 15
207 [1,3,5-RUAF L~ By 1 27 28
300 |ML= 1 1 2 5
302 |[FoaLy 11 0 344 356
323 [V AN 1,751 1,751
325 A% 271 458 80 10 88 907
326 |72 FV
328 [V 127 20 173 320
329 [HUH—r " A—F 64 246 1,600 1,910
331 | HAY AR 21 21
340 |7 ==L
350 |~ AN 11 19 60 0 1 121
BT T 21 11 32
357 |7 FuT = 16 4 61 163 245
358 |77 7= OF 27 1 28
360 |~/ 189 61 480 15 745
361 1,075 1,075
362 |07 7= Fa 150 150
363 |AXHTTV
364 | 7= B mF L A— 2 15 37 54
369 |7 Xk
370 [EVF~r 20 20 10
371 |77 7=  ETF 20 20
376 |7 Hoa—n 125 125
378 |[Fue x> 149 201 350
383 |Towi v 20 810 830
386 | RALAF IV
387 |7 = T HARX 22 3 25
400 |~ B 0 0 0 1
402 | A7 =F ok 140 440
405 [IZH5F LAY L 1 2 3
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 199 331 165 233 8 1 10| 1,548
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 32 143 282 44 1 1 6 1409
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 207 205 591 1,377 45 7 62| 2,604
410 ?y(’k%yl%y/)*/"”71"”1—7 129 132 3,860 134 6 1 71 4,269
414 K~ AR
122 [ 72007 1,872 1,872
4124 |AFN=AIF AT F—h
125 |47 aHnn T
127 [ AU 72 137 509
128 |77 LT 232 232
129 |~ OAL T AT 139 150 289
130 (AL FEHFHLT 5 5
BL[7IxLARREY 20 125 140 285
132 |75 R
133 |[—~L 250 250
434 | A XYL
135 [EV A IATF 59 59
138 | AFTTHL 91 2 101 5 1 0 1 500
142 | AFe=r 210 210
143 [ X 611 0 612
444 |N)7nF o AhrES
15 [JL V%L DAFIL 19 19
19 [T AT AT 74
150 [CV7FINT
456 |[DAAET V=D A
457 |7 a)LIRA
B i 31,105 6,314] 52,080 1,225 5,910 133 1,559 104,355
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#2-1-26 FERRITAR DI X BB - MG E RN O H R R R CPERR224 L 5 5B

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | oo | gk |CRREF s
1 |HgR KB EY 2 0 2
13 | 7Eh=hv 12 0 12
21 |y
22 |74Fu=)v 223 223
25 |[ANT Vv 10 10
27 |A#3be
29 |1-7UNAF -2 3-TRFL Sl 4 1
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 82 217 104 17 6 7 433
VZDIREMIZIRD)
40 [E7=FE—k 10 10 20
41 |7 28 28
46 |FVoky S =F L 7 7
47 | THIRA 97 21 118
48 |EPN
49 | NUT AR 78 7 46 131
50 |EUF—h 1,944 1,944
52 |T7I=HANT
53 |mF P 17 60 8 0 0 86
54 |HRAFTE—b 138 138
61 |~vvx7 113 37 150
62 |vra®s 670 936 1,606
63 |Y/7hY7 a3k 31 135 65 120 360
64 |Th7xrTavsA 636 257 893
70 | =~ AYF R 6 0 0 6
80 [Fi L 4,707 776 2,805 339 35 193 8,866
82 SRR U DKBHLE Y
83 |ZA~ 169 8 177
90 |7V
91 |7 Fvv 8 5 145 161
92 [ML7=ESR 45 75 120
93 | ANT/m—)
95 |ZATVF A 74 74 76 225
96 |Y7=/a)ry—n 9 1 0 11 0 21
100 | FLFFrm—L 471 471
101 |[7F7m—)v 129 129
108 |Aa7my 7 40 280 320
113 [v~=Yv
114 (A5 )77 3 3
115 | 7= R 793R 666 666
116 [ ~FF TV IR
17 | 77235 — 160 20 180
118 [y 7 A=) 9 B
119 |[7=rTary—u 18 4 22
124 |73vmy 45 45
125 |Zoo_ P 147 147
137 | 73K
138 |7 Avh 60 60
139 [FFmAR
140 |7 =27 m SRy 6 35 0 0 40
141 [EFF=L
144 ? o T AL EER K O T R A TR
146 |EYIRAAF L 188 188
47 |[FAHLT 41 309 350
148 | B 7z Abm—/L 727 260 987
152 |HNEyT 943 87 122 1,152
g 3 21 279 300
20 197 63 280
169 |Pom 151 151
170 |7ho=a)—n 0 0 0
171 |Faraty — 41 41
172 [ AF PP rairs 420 60 480
174 (V== 2 62 64
175 |2,4-D 201 30 197 428
179 |D-D 10,441 10,441
182 |BTY/¥ v Txv 27 27
183 [TV —Fh 540 540
184 |[Pru~=) 19 1 25 314 359
187 |PFT v 84 84
91 AV FuFFI 336 336
192 | =T 4T = 7R A
193 |=FLFF AR 961 122 1,093
194 |AFHa
195 |7 uFAHRA 39 165 22 1 8 236
196 |AFHF A 219 13 232
197 |9/ 39 102 180 321
198 | AR —h 50 50
206 |WILARANLT 7 31 8 39
207 |2,6-T—tert-7 F)-4-JLY —)L 6 6
212 |77 =—h 37 1,201 698 10 66 2,012
213 INNN-VAF LT ERTIR
217 |FATIT A 6 44 50
221 | NUTTINT 442 104 546
222 |7 )FAINT
225 [N LRy 242 222 639 123 1 175 1,416
227 [/3F=a—k 22 80 46 81 235

(2)-53




229 |FAT 7 F—RAF /L 306 569 875
233 [7=rb—k 10 41 6 57
236 | T AAFT =/
244 [V Avb 9,996 9,996
248 | FATV ) 1,287 19 10 124 1,440
249 |7V EURA 9 9
250 [AV¥ Y FA 2 428 101 1 0 5 537
251 |F==FaFi 424 500 59 750 6 5 81 1,824
252 |72 F A 31 100 2 7 92 232
253 | 7= kA 40 40
254 | AT RUIRA
257 |Fh /) — 47 47
258 [~FPAFLUTRII 25 26 51
260 |Znnfu=/ 142 91 921 903 1 2,058
261 |79 54K 133 133
266 |77 /LRU 42 42
267 [FAC LT 74 1 4 78
268 |FTA 19 80 41 210 350
272 |[$RKVEMER S A FR)
273 |[n-RF LT va—)u 7 1 7
275 |FF L VHilET R D A 34 2 1 0 0 1 38
285 |zanE sy 10,032 10,032
286 [Pz L 11 6 72 88
293 [NZ7 AT 736 736
296 [1,2,4-RUAF L~ B 811 56 867
297 [1,3,5-RUAF L~ B 200 5 76 281
300 [hrzy 0 1 0 2
302 |[F 7L 3 0 47 50
323 [S ARY 521 521
325 [ A% 273 126 16 5 60 480
326 |72 FV
328 [P74 4 2 26 32
329 [RUH— " A—R 124 186 300 610
331 [ 39 39
340 |7 ==L
350 |~V ARY L 51 69 0 40 0 4 165
-7 F L 14 2 16
357 |7 Fur=o0 32 42 62 208 344
358 |77 7 )UK
360 [~</3L 53 47 10 110
361 185 185
362 [T Tz Funy
363 [A%HOT 376 376
364 |7z mF L AR 3 13 45 62
369 |7 LE ok 57 57
370 [EV&~
371 |77 7= ETR 30 30
376 |7 x#/n—n 960 960
378 |[Far s 217 273 490
383 [Tu~i L 13 61 74
386 | RALAT L 197 6,446 6,643
387 |7 = T HARX
400 [~ P 0 0 0 0
102 [A7xF vk 449 449
405 [IZH5F LAY 1 3 475 479
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 207 1,042 398 232 2 1 12 1,893
ZORGYICIRD)
408 i;%**’l%vﬂz‘L}/%’WIZ”I# 10 114 51 60 0 0 5 241
409 i%}fﬁjﬁgz/):]‘T‘/’LIW‘”V%M 83 512 175 1,570 12 6 78| 2,436
410 ?;U@J*V'E%V/)*/"”71"”1—7 340 334 740 175 4 1 12| 1,606
414 K<L AR
422 [7=Us/v 117 117
124 [AF I =AVFF T F—h 140 140
425 |77
427 [y 152 152
128 [7=/7 BT 596 40 0 5 641
429 [/\NmRL T AF )L 14 14
430 (AR IAT 5 5
431 |7/ ¥ AbrEY 9 10 100 140 346
432 |75 R
433 [ =734 1,950 1,950
434 [F%H 26 26
435 [EVINY AT 43 43
138 [AFLFTHL 11 3 108 5 0 0 1 127
442 | A=)
443 (AL 1,361 1,361
444 |N)7nF o AhrES
445 [FLyF L s AF L 49 49
449 |7 =2 AF 477 I
450 [EVTF AT 334 334
456 |[DAAET V=D A
457 |7 a)LIRA
& t 19,285 6,915 50,831 1,504 2,633 96 9,481 93,744
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F2-1-27 IR X BB - MG BN O H R R R CPER224 B2 KB

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HEROREIEE Y
13 | 7Eh=hv 140 6 146
21 |y
22 |74Fu=)v 288 288
25 [ANTVv 272 272
271 | AHIbm
29 |1I-TULAFL-2,3-RF Tl 6 6
BT VXN B U RVIR R N OV DI
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 45 185 70 186 10 0 36 533
VZDIREMIZIRD)
40 [E7=FE—k 44 16 60
41 |7 222 2 224
146 | FYarysS=FL
47 |7 HIRA 51 80 131
48 |EPN 12 35 47
49 [T AZY 185 6 153 344
50 |EUF—h 72 72
52 |T7I=HANT
53 |mF P 0 14 42 31 0 0 1 88
54 |HRAFTE—b 200 200
61 |~rx7 91 9 100
62 |vra®s 3,747 1,393 5,140
63 |Y/7hY7 a3k 11 78 34 4 388 514
64 |Th7xrTavsA 822 535 4 1 86 1,448
70 | =~ ATF U AR 6 0 0 26 32
80 [Fi L 2,602 2,838 4,773 3,055 30 7 894 14,199
82 SRR U DKBHLE Y
83 |ZA~ 260 10 270
90 |ThIvv
91 [> 7P 4 91 1 5,323 5,420
92 [ML7=ESR 15 15
93 | ANT/m—)
95 |ZATVF A 13 13
96 |Y7=/a)ry—n 0 0 57 0 57
100 | FLFFrm—L 608 608
101 |[7F7m—)v 86 80 166
108 |Aa7my 7 20 644 665
113 [~Yv 0 6 130 137
L4 | A F )77 83 83
115 | 7= RH3R 204 204
116 [ ~FF TV IR
117 |F 72y — 5 275 280
118 |37 %=/ 0 4 21 25
119 |7z Ta)y/—i
124 |73vmy 60 45 105
125 7o~ Py 98 98
137 > 73k 71 71
138 |7 Avh 3 3
139 [FFmAR 1 0 1 0 0 1
140 |7 =27 m SRy 8 23 2 0 33
141 [EFF=L 30 30
144 iﬁ) o T AL EER K O T R A TR
146 |EYIRAAF L 235 235
U7 | FAHILT
148 | B 7z Abm—/L 180 465 645
152 [z y>r 4,140 189 275 4,604
g 3 10 590 600
16 44 152 211
169 |Pom 28 1 2,446 2,475
170 |7ho=a)—n 0 50 50
171 |[Furapry—n 25 72 97
172 | AFHYVrmiRy 93 165 258
174 [V=any 28 172 200
175 |2,4-D 41 11 263 315
179 |D-D 2,203 2,203
182 |BTY/¥ v Txv 55 55
183 [TV —Fh 858 858
184 |[Pru~=) 0 1 2 3,786 3,789
187 |PFT v
91 AV FuFFI 432 2 214 648
192 | =T 4T = 7R A
193 |=FLFF AR 856 6 614 1,476
194 |AFHa
195 |7 uFAHRA 27 113 84 0 0 3 227
196 [ AFHF A 466 10 476
197 |~ 98 892 4,201 5,191
198 | ART—h 164 183 347
206 |[HAARALT 7 820 589 1,409
207 |2,6-T—tert-7 F)-4-JLY —)L 6 6
212 |77 =—h 29 2,332 7,827 12 0 638 10,838
213 INNN-VAF LT ERTIR 7 7
217 |FATIT A
221 | NUTTINT 26 13 39
222 |7 )FAINT
225 [N LRy 152 402 1,044 2,137 3 3 313 4,054
227 [/3F=a—k 8 16 24 3 265 345
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229 [FA T 7 x—bAF /L 683 265 949
233 [7=rhz—k 36 425 53 514
236 | T AAFT =/
244 |5/ Ak 16,464 16,464
248 |FATV ) 2,056 26 6 612 2,700
249 [Z0L YRR 67 13 80
250 [AV¥ Y FA 34 252 388 1 0 14 688
251 |F==FaFi 496 1,007 7,344 4,373 6 6 1,741 14,974
252 |TxrFAL 15 3 3 1 107 130
253 |77 = JIRA
254 |47 AR A 612 612
257 |Fh /) —
258 [~FPAFLUTRII 131 40 171
260 [7mEZB=L 1 51 154 611 20 839
261 |[7H5AF 177 177
266 |77 /LRU 18 18
267 |[FADINT 2 677 1 24 704
268 |FTA 120 90 210
272 | §AKVEMEHL A BRSO 768 768
273 In-RT I AT a—i 3 0 4
275 |FF L VHilET R D A 3 2 2 0 2 9
285 |zanE sy 27,926 27,926
286 [Pz L 7 2 167 176
293 [F7LFY 351 0 0 3 355
296 [1,2,4-RUAF L~ B 1,248 71 1,319
297 [1,3,5-RUAF LB 308 1 31 340
300 [Prxy 1 9 3 13
302 |[F 7L 3 1 18 23
323 [S ARY 33 33
325 [ A% 117 50 5 1 108 280
326 |72 FV
328 [P74 4 1 91 96
329 [RUH— " A—R 2,700 2,700
331 [ XY HA 3 3
340 [e7 ==L 3 0 8
350 |~V ARY L 81 49 60 0 4 195
B-n-7 L 18 4 22
357 |7 Fur=o0 951 50 10 84 1,097
358 |77 7= UK 3 0 3
360 [~/uL 11 162 27 15 215
361 106 106
362 [T Tz Funy
363 [A%HOT 32 32
364 |7z mF L AR 6 3 35 43
369 |7 LE ok 30 30
370 [EV&~ 35 40 75
371 |77 7= ETR 10 10
376 |75 m—1 392 392
378 |[Far s 41 589 630
383 |[TawiL 1,494 2,236 3,729
386 | RALAT L 11,260 11,260
387 |7 = T HARX 96 2 98
400 [~ P 0 2 0 3
102 [A7=F &k 570 570
405 [IZH5F LAY 190 190
RIFFL 2F L) =T V¥ N T—T /(T
407 |V FEDRFH2H15ETOL DR 36 916 130 859 1 0 30 1,973
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 4 87 18 192 0 0 9 311
109 i%/ﬁf?_\fﬁzz/):]ﬁ” VTR 7 74 23 1,237 2 0 43| 1,386
410 ?y(’k%yl%y/)*/"”71"”1—7 194 283 325 674 4 0 166 1,947
414 K~ AR
422 |7V b/ 123 123
424 [AF I =AVFF LT F—h 440 440
125 |4 Fahns
427 [y 247 345 592
428 [7= /)T INT 1,477 22 1,499
129 | ~NEAL T AT 33 368 401
430 (A R¥H T
431 |7/ ¥ AbrEY 282 10 40 1,018 1,350
432 |75 R 120 120
433 [ =734 950 950
434 [F%H 9 9
435 [EVINY AT 52 52
138 [AFLFTHL 8 43 58 85 0 0 202
442 [xF =1 5 8 5 112 1 54 185
443 (AL 699 699
444 [F)7u% s AhpEy 25 25
445 [V Y%L BAF L 388 43 431
449 |72  AF 4T 74
450 [EV7F LT 486 486
456 [DAALT L I=T 4 275 275
457 |7 a)LIRA
& t 20,197 16,385 79,723 21,930 7,409 46 33,528] 179,218
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el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HEROREIEE Y
13 | 7Eh=hv 49 2 51
21 |y
22 747 =L 1,191 1,191
25 [ANTVv 112 112
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 130 1,925 1,073 94 29 0 4 3,255
O ZDIREMIZIRD)
40 [E7=FE—k 30 30 60
41 [ZARF= 493 40 533
46 |FVoky S =F L 56 56
47 |7 HIRA 416 92 508
48 |EPN 3 0 3
49 [T AZY 2,291 477 511 3,279
50 |EUF—h 4,272 4,272
52 |7o=H017 40 40
53 |mF P 2 13 2 0 0 0 17
54 |HRAFTE—b 143 143
61 |~vvx7 159 91 250
62 |vra®s 1,051 5,404 6,455
63 |Y/7hY7 a3k 316 670 691 81 1,129 2,887
64 |Th7xrTavsA 2,122 1 563 23 3 35 2,746
70 | =~ ATF U AR 20 0 0 6 26
80 [Fi L 12,694 2,273 11,887 1,604 189 20 4,687| 33,355
82 SRR U DKBHLE Y
83 |ZA~ 46 22 68
90 [T 219 219
91 [> 7P 54 115 12 384 565
92 [ML7=ESR 195 195
93 |[ArF/H—)L 240 240
95 |ZATVF A 132 105 166 403
96 |Y7=/a)ry—n 9 2 0 79 0 90
100 | FLFFrm—L 2,590 2,590
101 |[7F7m—)v 215 200 415
108 |Aa7my 7 578 798 1,376
113 [~Yv 1 20 71 92
114 (A5 )77 74 74
115 | 7= RH3R 1,638 1,638
116 |[~FF TV IR 19 11 30
117 |F 72y — 225 693 918
118 |37 %=/ 0 32 7 40
119 |7z Ta)y/—i
124 |73vmy 118 90 208
125 7o~ Py 245 245
137 > 73k 3 3
138 |[Pr7as Ay 6 6
139 [FFmAR 1 0 1 0 0 1
140 |7 =27 m SRy 4 8 0 0 12
141 [EFF=L 30 30
144 iﬂi o T AL EER K O T R A TR 51 51
146 |EYIRAAF L 517 517
147 |[FASVHANT 275 10,017 10,292
148 | B 7z Abm—/L 1,193 860 2,053
152 [z y>r 1,373 253 481 2,107
3 86 1,114 1,200
50 465 256 771
169 |Pom 1,318 1,318
170 |7ho=a)—n 40 31 75 146
171 |[Furapry—n 100 180 280
172 | AFHYVrmiRy 520 450 970
174 [V=any 1,239 1,239
175 |2,4-D 143 185 83 411
179 |D-D 1,480 1,480
182 |BTY/¥ v Txv 30 30
183 [TV —Fh 2,100 2,100
184 |[Pru~=) 7 2 41 224 273
187 |PFT v 252 252
91 AV FuFFI 240 240
192 | =T 4T = 7R A
193 |=FLFF AR 2,614 25 339 2,978
194 |AFHa
195 |7 uFAHRA 5 47 5 1 0 2 60
196 | AFHF A 840 50 890
197 |~ 141 245 838 1,224
198 |V ART—] 60 60
206 |[HAARALT 7 148 48 196
207 |2,6-T—tert-7 F)-4-JLY —)L 20 20
212 [7E7=—F 78 2,958 2,002 63 33 707 5,841
213 [NN-VAF LT ERT IR
217 |FATITA
221 | NUTTINT 809 46 855
222 |7 )FAINT
225 [N LRy 369 243 1,231 423 5 11 150 2,432
227 [/3F=a—k 226 465 491 58 800 2,040
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229 [FAT 7 X AF L 119 1,157 of 1576
233 [F=v hz—F 117 181 136 737
236 [T AAF L= 150 150
244 |7/ Aok 24,108 24,108
28 ATV 30 4,174 190 16 206 4,637
249 |/ EUER 71 12 86
250 [ (/%Y FAr 15 962 511 7 1 10 1,505
251 |[7==haFAtr 2,198 1112 394 2,353 31 70 2,520 8,679
252 | 7= F Ao 184 2 11 6 173 129
253 |77 = JIRA
254 [ {7 B~ kA 1,003 1,003
257 |74 /= 28 28
258 |~ YAFLLTRII 36 12 78
260 [Znnya=, 604 367 2,143 3,218 1| 6333
261 |7V IAF 2,609 2,609
266 |77 /LRI 104 104
267 |[FHSHLT 12 336 1,589 21 32| 1,990
268 | V7L 56 320 324 600 1,300
272 | SR TANE S (B 2 FR<) 24 24
273 In-RT I AT a—i 3 1 4
275 |FT S /R Mo 33 18 10 7 1 9 78
285 [/an s 8,272 8,272
286 [FUZBEL 306 31 161 804
203 (N7 502 2,310 1 0 2| 2314
206 |L,2,4- N AF L~ By 218 197 416
297 [1,3,5-NIAF L~ Lo 54 0 56 110
300 [pLry 2 11 3 15
302 |[FoaLy 3 1 166 169
323 [V AN 891 891
325 A% 1,087 852 429 16 641| 3,055
326 |72 FV
328 [V
329 [HUH—r " A—F 903 2,042 4,300 7,245
331 | AR 6 6
340 |7 ==L
350 |~ AN 52 117 0 150 3 36 358
BT T 30 8 38
357 |7 FuT = 357 8 3 3 371
358 |77 7= OF 203 15 66 284
360 |~/ 248 228 93 45 615
361 624 624
362 [T Tz Funy
363 X TUT 992 992
364 | 7= B mF L A— 4 6 15 25
369 |7 Xk
370 [EVF~r 20 20 10
371 |77 7=  ETF 20 20
376 |72 ra— 6,056 6,056
378 |[Fue x> 865 1,865 2,730
383 |[Tavi L 3 953 956
386 | BULAT /L 42,288 42,288
387 |7 = T HARX
400 |~ B 0 2 1 1
102 A7 =)ok 664 664
405 [IZH5F LAY 7 1 1 475 484
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 807 1,524 823 979 13 1 20( 4,167
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 15 280 268 249 3 0 5 852
409 i%/ﬁf?_\fﬁzz/):]ﬁ” VE—T VR 158 549 344 2,901 38 1 58| 4,053
410 ?y(’k%yl%y/)*/"”71"”1—7 314 816 1,795 735 18 1 20 3,698
414 K~ AR
122 [ 72007 1,907 1,907
120 AT = AT F T F—h 220 220
125 [T a7 15 15
127 [ U 219 371 590
128 | 7= )7 AT 378 10 118
129 |~ OAL T AT 91 150 241
130 (AL FEHFHLT 2% 25
BL[7IxLARREY 123 10 245 1,041 1,449
132 |75 R 20 20
133 [I—~L 100 100
134 [FEFn 6 6
135 [EV A IATF 600 600
138 | AFTTHL 75 6 137 15 2 0 1 540
142 [ A7e=1 1,020 5 17 391 1 17 1452
143 AV 891 14 905
144 [N)7ek v ARRE Y 9 9
15 [JUIR S BATIL 194 13 237
19 [T AT AT 74
150 [CV7FINT 148 148
156 [DAAET LI=0 4 195 195
457 |7 a)LIRA
B i 56,051]  18,537]  103,067] _ 13,678] 16,943 18] 59,789] 268,496
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1| HEROKEIE LAY 2 0 2
13 | 7Eh=hv 83 7 90
21 |y
22 747 =L 209 10 219
25 [ANTVv 1 1
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i 2 2

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 32 1,776 517 20 10 0 5 2,360

O ZDIREMIZIRD)
40 |[E7=F¥—F 97 23 120
41 |[7hg=1 176 176
146 | FYarysS=FL
47 |7 HIRA 9 12 21
48 |EPN 105 257 362
49 [T AZY 62 9 97 168
50 |EYHR—h
52 |[7o=hmr7 960 960
53 |mF P 3 15 87 5 0 0 1 112
54 |HRAFTE—F 104 104
61 |~rx7 178 22 200
62 |~ra¥s 1,527 588 2,116
63 |27 b7 usR 40 251 135 12 149 587
64 |Th7xrTavsA 630 273 903
70 | =~ ATF U AR 19 0 2 21
80 |F L 3,859 2,029 2,513 352 34 29 348 9,165
82 SRR U DKBHLE Y
83 [ZAv 72 8 80
90 |ThIvv
91 [> 7P 0 2 2
92 [ML7= TR 15 90 105
93 | ANT/m—)
95 |TATVF A 34 14 5 53
96 |P7x/a)y— 167 3 23 193
100 | FLFFrm—L 693 693
101 |7F7m—)L 129 129
108 [Aa7my 9 91 100
13 [v=ov 21 49 33 103
114 [ AH )77 25 25
115 | 7= FFHIR 131 131
116 [ ~FF TV IR 9 1 10
117 |F 72y — 206 134 340
118 |7 Z=)L 5 5
119 [7=r 7oty — 17 5 22
124 |73y 27 45 72
125 7o~ Py 147 147
137 [ 73K 32 32
138 [2Z7uyAvk 45 45
139 [FFmAR)
140 |7 =27 m SRy 3 20 0 0 23
141 [ EFH=1 30 30
144 ? o T ACE DGR K O T R A R
146 |[EVIRAAF L 188 188
147 |[FA~NCHLT 2 328 330
148 |[h7 = App—L 303 80 383
152 [z y>r 3,797 226 395 4,418

g 3 135 915 1,050

27 158 15 200

169 |V 31 96 127
170 |7ho=a)—n 10 3 13
171 |Faraty — 25 39 64
172 | AFHYVrmiRy 336 105 441
174 [V=any 33 183 216
175 |2,4-D 148 15 151 314
179 |D-D 26,214 26,214
182 |[EIY/FyTxr 78 78
183 £V L—h 988 988
184 |[Pru~=) 6 10 9 98 123
187 |[VFT v 84 84
91 (Y FaFAT 444 444
192 | =T 47 =V IRA 90 90
193 |=F LFA AR 463 2 29 494
194 |AFHa
195 | FaFF7RA 485 216 14 0 0 3 718
196 [ AFHFA 2,906 154 3,060
197 |~ 8 56 127 190
198 |V ART—] 70 70
206 |[HAARALT 7 37 7 44
207 |2,6-T—tert-7 F)-4-JLY —)L 19 19
212 [7E7=—F 717 4,765 1,223 28 2 290 7,025
213 [NN-VAF LT ERT IR 7 7
217 |FATITA 21 29 50
221 | NUTFGHNT 1,367 21 1,388
222 |7 )FAINT
225 |NYZ7Liky 120 164 860 158 3 4 45 1,354
227 [/3F=a—k 28 144 95 8 99 375
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229 [FAT 7 X AF L 1 1,485 625 2,112
233 |7z bz —F 12 21 18 55
236 | T AAFT =/
244 [#V A5k 13,524 13,524
28 ATV 166 2,129 23 20 21| 2,580
249 |/ EUER 6 169 175
250 [ (/%Y FAr 3 194 80 1 1 14 204
%1 [T Tt 633 1,977 127 148 8 32 385] 3,610
252 | 7= F Ao 283 25 10 9 118 146
253 |[Fu7= 10 10
254 [ {7 B~ kA 1,972 1,972
257 |74 /=
258 |~ YAFLLTRII 56 18 71
260 [Znnya=, 11 396 198 887 1,822
261 |7V IAF 185 185
266 |77 /LRI 9 9
267 |[FHSHLT 6 130 2 24 162
268 | V7L 19 359 2 270 650
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 6 1 7
275 |FT S /R Mo 8 29 2 1 0 0 11
285 [/an s 3,985 3,985
286 [FUZBEL 11 9 112 132
203 (N7 502 2 2
206 |L,2,4- N AF L~ By 343 57 101
297 |1,3,5 NI AF L~ B 85 2 43 130
300 [ 5 1 13 18
302 |[FoaLy 8 0 59 67
323 [V AN 15 15
325 A% 254 94 8 2 27 385
326 |72 FV
328 [V
329 [HUH—r " A—F 54 101 1,150 1,305
331 | AR 9 9
340 |7 ==L
350 |~ AN 8 13 60 0 1 81
BT T 21 6 27
357 |7 FuT = 363 50 107 181 701
358 |77 7= OF 28 4 18 50
360 |~/ 50 288 82 420
361 185 185
362 [V 7w F o 100 100
363 X TUT 256 256
364 | 7= B mF L A— 8 21 37 66
369 |7 SLE Sk 210 57 267
370 [EVF~r 20 20
371 |77 7=  ETF 20 20 10
376 |72 ra— 956 956
378 |[Fue x> 341 429 770
383 |[Tavi L 2 189 190
386 | RALAF IV
387 |7 = T HARX 24 1 25
400 |~ B 0 0 0 0
102 A7 =)ok 102 102
405 [IZH5F LAY 1 1 2
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 144 951 352 208 1 3 38| 1,699
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 1 172 59 54 1 1 10 308
109 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 18 405 160 741 13 11 134 1,512
410 ?y(’k%yl%y/)*/"”71"”1—7 178 621 357 161 5 3 so| 1,404
414 K~ AR
122 [ 72007 200 200
120 AT = AT F T F—h 120 120
125 [T a7
127 [ U 71 121 195
128 | 7= )7 AT 3,146 2 3,170
429 | ~\mRLT T AT 62 62
130 (AL FEHFHLT 15 15
BL[7IxLARREY 18 30 220 324 592
132 |75 R 20 20
133 [I—~L
134 [FEFn 2 22
135 [EV A IATF 108 108
138 | AFTTHL 17 6 153 6 1 1 7 190
142 [ A7e=1 9% 150 246
143 AV 2,130 2,130
444 |N)7nF o AhrES
15 [JUIR S BATIL 340 129 168
19 [T AT AT 74
150 [CV7FINT 142 142
456 |[DAAET V=D A
457 |7 a)LIRA
B i 23,558]  19575] 67,249 3,825 1,439 152 2,883 121682
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21 |y
22 747 =L 383 5 388
25 |[ANT Vv
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i 6 6
BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 98 6,370 533 30 4 1 7,036
O ZDIREMIZIRD)
40 |[E7=F¥—F 390 30 420
41 |7 hF=L 1,676 132 1,808
146 | FYarysS=FL
47 |7 HIRA 312 16 328
48 |EPN 265 1,133 1,398
49 [T AZY 800 90 80 970
50 [FEYFR—h
52 |7o=H017 1,200 1,200
53 |mF P 8 24 78 1 0 0 111
54 |HRAFTE—b 509 509
61 |~vvx7 68,723 5,202 73,925
62 |~ra¥s 320,143 20,724 340,867
63 |27 b7 usR 101 3,063 679 299 4,187
64 |Th7xrTavsA 1,003 1,386 2,389
70 | =~ ATF U AR 38 0 0 38
80 [Fi L 4,153 61,539 13,749 490 49 119[ 80,117
82 SRR U DKBHLE Y
83 [ZAv 169 2 171
90 [T 43 43
91 [> 7P
92 [ML7=ESR 1,710 105 1,815
93 |[ArF/H—)L 45 45
95 |TATVF A 738 493 12 1,243
96 |P7x/a)y— 1,095 5 0 0 1,100
100 | FLFFrm—L 1,452 1,452
101 |[7F7m—)v 215 215
108 [Aa7my 73 191 264
13 [v=ov 17 27 6 50
114 [ AH )77 125 125
115 | 7= RH3R 103 103
116 |[~FF TV IR 98 2 100
117 |7 73y —n 620 10 630
118 [3ymrs=)1 3 31 3 37
119 |[7=rTary—u 21 1 22
124 |[73vmy
125 7o~ Py 245 245
137 |37 3K 88 88
138 |[Pr7as Ay 135 135
139 [FFmAR 5 0 0 0 0 6
140 |7 =27 m SRy 1,797 173 1,970
141 [ EFH=1 90 90
144 iﬂi o T ACE DGR K O T R A R
146 |[EVIRAAF L 47 47
U7 | FAHILT
148 |[h7 = App—L 315 85 400
152 [z y>r 1,063 1,163 1,951 4,178
g 3 151 399 550
2,388 1,664 98 4,150
169 |Pom 2,170 2 1,681 3,853
170 |7ho=a)—n 10 1 12
171 |[Furapry—n 25 18 43
172 | AFHYVrmiRy 177 30 207
174 (V==
175 |2,4-D 200 97 138 435
179 |D-D 19,179 19,179
182 |[EIY/FyTxr 36 36
183 £V L—h 736 736
184 |[Pru~=) 24 313 80 244 661
187 |[VFT v 4,452 4,452
91 (Y FaFAT 224 224
192 | =T 4T = 7R A
193 |=F LFA AR 1,061 25 1,090
194 |AFHa
195 | FaFF7RA 1,942 122 4 1 2 2,071
196 [ AFHFA 32,380 338 32,718
197 |~ 281 3,891 1,960 6,132
198 |V ART—h 43 120 163
206 |[HAARALT 7 2 31 33
207 |2,6-T—tert-7 F)-4-JLY —)L 38 38
212 [7E7=—F 2,865 7,948 1,019 14 43 11,890
213 [NN-VAF LT ERT IR 14 14
217 |FATITA 18 32 50
221 | NUTFGHNT 47 53 100
222 |7 )FAINT
225 |NYZ7Liky 155 841 1,599 93 1 79 2,780
227 [/3F=a—k 72 2,080 485 211 2,880
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229 [FAT 7 X AF L 1 12,398 1,286 13,685
233 |7z bz —F 65 2,911 251 3,257
236 [T AAF L= 90 90
244 [#V A5k 30,478 30,478
28 ATV 101 1,620 29 4 2| 4718
219 | Ja B YRR 2,095 70 2,165
250 [ (/%Y FAr 354 511 19 1 0 2 917
%1 [T Tt 1,038 10,299 359 2,707 37 60 1,439] 15,940
252 | 7= F Ao 323 83 37 21 162 630
253 |77 = JIRA
254 [ {7 B~ kA 884 884
257 |74 /= 9 9
258 |~ YAFLLTRII 12,506 776 13,282
260 [Znnya=, 121 1,366 1,805 764 1,056
261 |7V IAF 2,735 2,735
266 |77 /LRI 58 58
267 |FA IS 220 152 81 1 3 758
268 | V7L 34 1,599 87 90 1,810
272 | SR TANE S (B 2 FR<) 12 12
273 In-RT I AT a—i 71 3 74
275 |FT S /R Mo 183 9 0 0 0 192
285 [/an s 16,440 16,440
286 [FUZBEL 29 13 89 132
203 (N7 50 1,482 1,482
206 |L,2,4- N AF L~ By 811 38 850
297 |1,3,5 NI AF L~ B 200 9 24 233
300 [ 13 78 60 152
302 |[FoaLy 16 37 69 122
323 [V AN 15 15
325 A% 2,825 159 7 3 21 3,015
326 |72 FV
328 [V 50 50
329 [HUH—r " A—F 6,574 1,819 350 11,743
331 | HAY AR 144 144
340 |7 ==L 0 2
350 |~ AN 265 108 30 0 2 106
BT T 169 20 189
357 |7 FuT = 187 3,225 250 69 3,730
358 |77 7= OF 234 37 272
360 |~/ 102 4,990 328 5,420
361 134 134
362 |07 7= Fa 100 100
363 X TUT 18 m
364 | 7= B mF L A— 38 7 5 50
369 |7 SLE Sk 480 180
370 [EVF~r 1,240 80 1,320
371 |77 7=  ETF 10 10
376 |72 ra— 168 168
378 |[Fue x> 1 166 210
383 |Towi v 132 58 190
386 | RALAT L 3,054 5,501 8,554
387 |7 = T HARX 2,570 36 2,606
400 |~ B 0 15 1 16
402 [A7=F ok 833 833
105 [BFLLW 0 6 0 7
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K L,116| 20,156 648 189 3 1 8| 22,121
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 10 1,312 107 48 1 0 3| 1482
109 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 181 8,789 1,214 2,867 39 18 120 13,230
410 ?y(’k%yl%y/)*/"”71"”1—7 619 1,666 1,171 143 5 1 71 e6ll
414 K~ AR
122 [ 72007 2,117 2,117
120 AT = AT F T F—h 720 720
125 |47 aHnn T
127 [ U 338 1,200 1,538
128 | 7=/ T HANT 191 97 588
429 | ~\mRLT T AT 32 32
130 (AL FEHFHLT 5 5
BL[7IxLARREY 6 110 140 18 274
132 |75 R 200 200
133 |[—~L 150 150
134 [FEFn 23 23
135 [EV A IATF 57 57
138 | AFTTHL 53 25 161 3 2 1 6 252
142 [ A7e=1 119 51 283 81 14 94 945
143 AV 847 854
444 |N)7nF o AhrES
145 [JLYR T BATL 9,797 129 9,926
19 [T AT AT 74
150 [CV7FINT 328 328
456 |[DAAET V=D A
457 |7 a)LIRA
B i 26,725]  635,135] 160,804 7,812 2,606 252 10,654] 844,580
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#2-1-31 FERRITAR D X BB - R G2 E RN O H R R R CPER224 12 ; B

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | oo | gk |CRREF e
1| HEROKEIE LAY 4 0 4
13 | 7Eh=hv 13 27 40
21 |y
22 |74Fu=)v 857 857
25 |[ANT Vv
271 | AHIbm
29 |1I-TULAFL-2,3-RF Tl 2 2
BT VXN B U RVIR R N OV DI
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 159 820 245 18 0 19 1,262
VZDIREMIZIRD)
40 [E7=FE—k 90 30 120
41 [ZARF= 535 120 655
46 |FVoky S =F L 28 28
47 |7 HIRA 533 577 1,110
48 |EPN 32 61 93
49 [T AZY 750 36 179 966
50 [FEYFR—h
52 |[7I=HNT 1,360 1,360
53 |mF P 1 3 16 1 0 0 21
54 |HRAFTE—b 975 975
61 |~rx7 320 30 350
62 |~ ags 5,648 4,152 9,800
63 |Y/7hY7 a3k 169 374 383 159 1,109
64 |Th7xrTavsA 1,079 40 275 1,394
70 | =~ ATF U AR 13 0 0 13
80 [Fi L 2,896 1,070 23,192 291 32 112| 27,610
82 SRR U DKBHLE Y
83 |ZA~ 176 176
90 |[TrIVv 59 59
91 [> 7P
92 [ML7=ESR 195 195 390
93 |[ArF/H—)L 26 26
95 |ZATVF A 824 531 67 1,422
96 |Y7=/a)ry—n 78 2 2 0 83
100 | FLFFrm—L 1,171 1,171
101 |[7F7m—)v 232 640 872
108 |Aa7my 7 85 469 554
113 [~Yv 91 286 163 540
L4 | A F )77 229 229
115 | 7= RH3R 1,147 1,147
116 [ ~FF TV IR
117 |F 72y — 320 220 540
118 |37 %=/ 2 33 3 37
119 |7z Ta)y/—i
124 |73vmy 384 384
125 7o~ Py 196 196
137 > 73k 101 101
138 |7 Avh 3 3
139 [FFmAR
140 |7 =27 m SRy 0 0
141 [EFF=L 210 210
144 iﬂi o T AL EER K O T R A TR
146 |EUIRAAF L
47 |[FAHLT 30 788 818
148 | B 7z Abm—/L 875 265 1,140
152 [z y>r 1,563 82 407 2,053
g 3 24 76 100
234 674 166 1,073
169 |Pom 4 4
170 |FhFa)/ —b 0 0
171 |Faraty —
172 | AFHYVrmiRy 220 30 250
174 [V=any 6 400 405
175 |2,4-D 484 22 120 626
179 |D-D 80,038 80,038
182 |BTY/¥ v Txv 40 40
183 [TV —Fh 2,712 2,712
184 |[Pru~=) 19 16 13 87 134
187 |PFT v 1,141 13 1,154
91 |4y FuFtT 164 28 196
192 | =T 47 =V IRA 3 3
193 |=FLFF AR 1,907 68 1,986
194 |AFHa
195 |7 uFAHRA 69 57 1 0 0 127
196 |AFHF A 1,766 122 1,888
197 |~ 78 102 382 40 602
198 | AR —h 4 1,039 1,043
206 |[HAARALT 7 265 14 279
207 |2,6-T—tert-7 F)-4-JLY —)L 13 13
212 [7E7=—F 38 832 67 10 53 1,000
213 INNN-VAF LT ERTIR 63 63
217 |FATIT A
221 | NUTTINT 427 154 581
222 |7 )FAINT
225 [N LRy 208 106 846 43 1 30 1,238
227 [/3F=a—k 121 250 271 111 770

(2)-63




229 [FAT 7 X AF L 50 966 740 1,756
233 | = b —F 166 62 91 319
236 [T AA XL = 30 30
244 |77 AVE 30,772 30,772
28 ATV 723 5,690 18 15 100 6,547
249 [/aEYER 515 30 545
250 [ (/%Y FAr 2 417 1 1 0 3 166
%1 | 7= haF Ay 1,790 1,404 245 1,345 56 64 1,587] 9,490
252 | 7= F Ao 12 331 1 15 99 187
253 |77 = JIRA
254 | AT RUIRA
257 |74 /= 1,949 1,949
258 |~ YAFLLTRII 203 82 285
260 [Znnya=, 200 105 1,254 656 2,515
261 |7V IAF 3,717 3,717
266 |77 72 72
267 |FA IS 31 131 306 1 21 197
268 | V7L 86 1,420 164 180 1,850
272 |$RKIEMEH B2 BRS) 12 12
273 In-RT I AT a—i 9 2 11
275 |FT S /R Mo 16 25 3 1 0 0 75
285 | 7oy 38,530 38,530
286 [FUZBEL 1 39 258 341
203 [FI7 A5 1,170 0 0 | i
206 |L,2,4- N AF L~ By 842 12 854
207 [1,3,5-RUAF L~ By 208 14 19 242
300 [z 2 1 5 9
302 |[FoaLy 16 0 161 178
323 [V AN 275 275
325 A% 4,754 1,593 18 5 33 6,433
326 |72 FV
328 [V 150 150
329 [HUH—r " A—F 260 670 250 1,180
331 | HAY AR 69 69
340 |[ET ==L 0 2 2
350 |~ AN 7 37 30 0 0 145
BT T 45 14 59
357 |7 FuT = 529 162 222 64 1,277
358 |77 7= OF 40 1 11
360 |~/ 113 164 73 0 350
361 998 998
362 [T Tz Funy
363 X TUT 80 80
364 | 7= B mF L A— 1 19 13 71
369 |7 SLE Sk 30 30
370 [EVF~r 20 20
371 |77 7=  ETF 30 30
376 |7 Hoa—n 779 779
378 |[Fue x> 5,157 513 5,670
383 |Towi v 201 291
386 | RALAT L 10,400 10,400
387 |7 = T HARX 24 1 25
400 |~ B 0 0 0 1
402 [A7=F ok 303 303
405 [IZH5F LAY L 15 9 1,425 1,449
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 195 2,112 577 211 3 2 15| 3,115
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 36 217 181 52 1 1 4 192
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 369 1,287 828 1,780 23 19 15| 4431
410 ?y(’k%yl%y/)*/"”71"”1—7 146 781 1,204 151 5 2 13| 2,603
414 K~ AR
122 [ 72007 2,325 2,325
120 AT = AT F T F—h 10,360 10,360
125 |47 aHnn T 15 15
127 [ U 637 139 1,076
128 |77 LT 974 10 1,014
429 | ~\mRLT T AT 95 95
130 (AL FEHFHLT 20 20
BL[7IxLARREY 180 80 345 28 633
132 |75 R 60 60
133 |[—~L 1,050 1,050
134 [FEFn 15 15
135 [EV A IATF 87 87
138 | AFTTHL 104 3 340 2 0 0 0 150
142 | AFe=r 162 162
143 [ X 1,314 1,314
444 |N)7nF o AhrES
15 [JL V%L DAFIL 631 129 759
19 [T AT AT 74
150 [CV7FINT 357 357
1456 [VAAET VI=0 4 55 55
457 |7 a)LIRA
B i 31,959]  39,287] 224,410 7,459 3,733 237 15011 322,99
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#2-1-32 FERITAR DB BB - RS ZEW B O H I HER TR CTERR22F L ; iR

XA FEWE AR i (kg/4F)

i Fet 3
e WL B RME | oo | gk |CRREF e
L [HSROKEMEL S
13 |[7Er=FL 9 0 9
21 |y
22 |747n=)v 697 697
25 [ANTVv 1 1
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 2 2

BT VXN B U RVIR R N OV DI
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 46 140 91 5 0 0 283

VZDIREYICIRD)
40 |[E7=F¥—F 15 5 20
41 |7 hF=L 318 3 321
46 |FVoky S =F L 7 7
47 |7 HIRA 55 164 219
48 |EPN
49 |~ FgARY 308 308
50 |EUFR—k 2,352 2,352
52 |7I=hNT
53 |=F vy 2 36 0 2 40
54 |HRAFTE—h 153 153
61 |~rx7 206 44 250
62 |~ra¥s 1,176 1,044 2,220
63 |27 b7 usR 131 318 238 121 822
64 |Th7=rTaysR 1,132 20 113 1,266
70 |=~AVF oz AR 4 4
80 |F L 5,280 487 2,402 87 10 83 8,353
82 [§RK D KB LAY
83 [ZAv 585 585
90 |ThIVv 144 144
91 [> 7P 8 8
92 [ML7= TR 15 15
93 |[ArF/H—)L 26 26
95 |TATVF A 66 40 10 116
96 |7z /a)rV =) 19 1 20
100 | FLFFrm—L 1,411 1,411
101 |7F7m—)L 86 86
108 [Aa7my 36 130 166
13 [v=ov 15 108 35 158
114 [ AH )77 322 322
115 | 7= RH3R 1,077 1,077
116 [ ~FF TV IR
117 |F 72y — 20 20
118 [y 7 A=)
119 |Z7xr 7o)y —)
124 |73y 435 435
125 7o~ Py 98 98
137 [ 73K 739 739
138 [2Z7uyAvk
139 [FFmAR) 1 0 0 0 0 1
140 |7 = 7w R 0 0
141 [ EFH=1
144 iﬁ) o T ACE DGR K O T R A R
146 |EUIRAAF L
147 |[FA~NCHLT 27 1,939 1,966
148 |[h7 = App—L 429 429
152 [z y>r 717 91 160 969

33 158 9 200

169 |V 60 13 41 113
170 |FhFa)/ —b 0 0
171 |[Furapry—n 125 125
172 | AFHYVrmiRy 333 333
174 [V=any 446 446
175 |2,4-D 108 30 21 159
179 |D-D 10,568 10,568
182 |[EIY/FyTxr 40 40
183 £V L—h 240 240
184 [Yrm~ogL 15 9 10 69 102
187 |[VFT v 151 151
91 (Y FaFAT 812 812
192 | =T 4T = 7R A
193 |=F LFA AR 1,162 54 1,222
194 |AFHa
195 | FaFF7RA 64 0 2 67
196 [ AFHFA 284 16 300
197 |~ 22 61 130 40 253
198 |V ART—h 40 40
206 |[HAARALT 7 167 14 181
207 |2,6-T—tert-7 F)-4-JLY —)L 4 4
212 [7E7=—F 83 963 157 8 39 1,250
213 INNN-UAF LT ERTIR
217 |FALIT A
221 | NUTFGHNT 634 81 715
222 |7 )FAINT
225 |NYZ7Liky 238 109 544 17 0 46 960
227 |/85=2—h 94 209 167 84 565
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229 |FAT 7 F—RAF /L 1 338 311 650
233 [Fxrhz—h 159 116 32 308
236 | T AAFT =/
244 [V Avb 10,388 10,388
248 | FATV ) 195 1,996 8 4 32 2,234
249 |ZaLE YRR
250 [AV¥ Y FA 0 103 27 0 0 133
251 | 7==haFI> 794 579 103 181 2 24 215 1,898
252 |72 F A 75 67 1 3 28 174
253 |77 = JIRA
254 | AT RUIRA
257 |Fh /) — 652 652
258 [~FPAFLUTRII 41 20 61
260 |/ o= 30 45 220 75 370
261 |79 54K 1,350 1,350
266 |77/ R 18 18
267 |FATINLT
268 |FTA 20 139 201 360
272 |[$RKVEMER S A FR)
273 |[n-RF LT va—)u
275 |RF L ViR T RUD A 3 1 0 0 0 4
285 | ZoaE sy 11,225 11,225
286 [N rmEL 20 25 213 259
293 [NZ7 AT 720 0 0 1 722
296 [1,2,4-RUAF L~ B 2,808 2,808
297 [1,3,5-RUAF L~ B 693 693
300 |ML= 1 2 1 3
302 |[F 7L 78 78
323 [S ARY 722 722
325 [ A% 329 221 8 2 15 575
326 |72 FV
328 [P74
329 [RUH— " A—R 29 48 200 278
331 [ 42 42
340 |7 ==L
350 |~V ARY L 1 0 0 1
BY-n-7 T 22 5 27
357 |7 Fur=vr 234 41 13 4 293
358 |77 7= /UK 4 4
360 [~</3L 35 63 62 160
361 553 553
362 [T Tz Funy
363 [A%HOT 504 504
364 |7z mF L AR 3 1 1 5
369 |7 Xk
370 [EV&~ 20 20
371 [F 7 7= BIR
376 |7 x#/n—n 2,108 2,108
378 |[Far s 109 101 210
383 [Tu~i L 168 168
386 | RALAT L 2,167 5,673 7,840
387 |7 = T HARX
400 [~ P 0 0 0 1
402 [A7=F® vk 394 394
405 [IZH5F LAY 3 1 4
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 583 610 178 100 1 1 6 1,479
ZORGYICIRD)
408 i;%**’l%vﬂz‘L}/%’WIZ”I# 16 107 59 23 0 0 1 208
409 i%}f‘;{ﬁgz/):]‘T‘/’”IWT”MM 120 451 214 562 6 4 31 1,386
410 ?;U@J*V'E%V/)*/"”71"”1—7 1,128 324 356 66 2 1 al 1881
414 K<L AR
422 [7=Us/v 1,012 1,012
424 [AF N =AVFFHTT x—h
425 |77
427 [y 245 245
128 [7=/7 BT 402 402
129 | ~NEAL T AT 122 122
430 (A R¥H T
431 |7/ ¥ AbrEY 342 20 40 18 420
432 |75 R
433 [H—r32 2,100 2,100
434 [F%H 6 6
435 [EVINY AT 96 96
138 [AFLFTHL 15 107 1 0 0 0 124
142 [AFm=1 48 12 19 2 1 8 90
443 (AL 362 1 363
444 |N)7nF o AhrES
445 [FLyF L s AF L 243 243
449 |7 =2 AF 477 I
450 [EVTF AT 1,097 1,097
456 |[DAAET V=D A
457 |7 a)LIRA
& t 33,125 8,193 54,076 1,241 649 105 7,139] 104,528
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#2-1-33 FERRITAR DI BB - RS2 E RN O H R R R CTERR224F FE | il 1L

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HEROREIEE Y
13 | 7Eh=hv 115 24 139
21 |y
22 |74Fu=)v 1,225 5 1,230
25 |[ANT Vv 7 7
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl g .

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 187 1,297 627 41 7 1 47 2,207
VZDIREMIZIRD)

40 [E7=FE—k 187 33 220
41 |7 710 2 712
46 |FY Ry 7 =T )L 35 35
47 | THIRA 18 174 88 280
48 |EPN 212 205 417
49 | NUT AR 631 49 110 790
50 |EYHR—h
52 |7o=HNT 120 120
53 |=F P 6 7 19 1 0 0 0 33
54 |RAFTE—k 156 156
61 |~vox7 90 10 100
62 |vra®s 2,415 2,432 4,847
63 |Y/7hY7 a3k 392 1,157 660 112 521 2,843
64 |ThT= Ty 2,696 4 379 8 4 18 3,109
70 |=~AVF oz AR 14 0 0 14
80 [Fi L 13,816 3,511 6,230 717 82 38 694 25,088
82 |[$RFE OO KIEMALAEY
83 |7Av 234 234
90 |[TrIVv 59 59
91 |7 Fvv 47 44 20 130 241
92 [ML7=ESR 30 75 105
93 |[AhFrmE—)L 26 26
95 |ZATVF A 127 85 15 228
96 |Y7=/a)ry—n 19 1 0 23 0 43
100 | FLFFrm—L 2,845 2,845
101 |[7F7m—)v 318 318
108 |Aa7my 7 210 450 660
113 [~Yv 19 167 164 350
L4 | A F )77 110 110
115 | 7= R 793R 1,616 1,616
116 [ ~FF TV IR 18 2 20
117 |77 a)y—1 254 145 398
118 [y 7 A=) 9 B
119 |[7=rTary—u 21 1 22
124 |73
125 |Zoo_ P 294 294
137 > 73k 30 30
138 |7 Avh 129 129
139 [FFmAR 7 0 1 0 0 8
140 | 7= 7 m/Rp) 41 9 0 0 51
141 [EFF=L 60 60
144 ? o T AL EER K O T R A TR
146 |EUIRAAF L
47 |[FAHLT 124 3,774 3,898
148 | B 7z Abm—/L 1,251 150 1,401
152 |HNEyT 2,031 390 416 2,838

3 82 768 850

391 526 53 970

169 |Pom 183 33 215 431
170 |7ho=a)—n 0 0 0
171 |[Forary—i 27 27
172 [ AF PP rairs 507 30 537
174 [V==my 15 673 687
175 |2,4-D 789 157 235 1,181
179 |D-D 7,107 7,107
182 |BTY/¥ v Txv 61 61
183 [TV —Fh 3,626 3,626
184 [P Zu~=/L 38 40 75 201 354
187 |PFT v 336 13 349
91 |4y FuFtT 1,572 1,572
192 | =T 4T = 7R A
193 |=FLFF AR 3,021 51 228 3,300
194 |AFHa
195 |7 uFAHRA 6 35 3 1 0 2 48
196 |AFHF A 1,719 45 1,764
197 |9/ 99 271 507 877
198 | ART—h 95 124 219
206 |WILARANLT 7 33 11 44
207 |2,6-T—tert-7 F)-4-JLY —)L 14 14
212 |77 =—h 228 2,155 893 55 1 155 3,487
213 INNN-VAF LT ERTIR 14 14
217 |FATIT A 10 40 50
221 | NUTTINT 131 32 163
222 |7 )FAINT
225 [N LRy 592 437 1,243 200 5 26 117 2,620
227 |/37a—h 280 743 457 80 360 1,920
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229 [FA 77 F—FAFNL 1,664 1,620 3,281
233 [Z=o b} 73 246 64 383
236 [T AAF L= 90 90
244 |7V Avk 25,382 25,382
28 ATV 398 3,058 83 31 139 3,708
219 | Ja B YRR 147 153 300
250 [ (/%Y FAr 14 533 190 5 3 11 757
%1 [T Tt 2,683 2,809 105 1,997 54 848 3,097 12,793
252 [T=v T A 38 13 2 7 36 127
253 |77 = JIRA
254 [ {7 B~ kA 255 255
257 |FH )= 364 364
258 |~ HAFLLThTIL 82 2 104
260 |/ongu=, 347 941 1,151 946 6| 3,391
261 |7 SAF 7,163 7,163
266 |77 /LRI 50 50
267 |[FHSHLT 14 113 308 8 19 162
268 | V7L 120 1,280 160 240 2,100
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 46 9 56
275 |FT S /R Mo 85 29 1 1 0 0 118
285 [/an s 18,291 18,291
286 [FUZBEL 37 19 86 142
203 (N7 502 1,801 1 0 2| 1,804
206 |L,2,4- N AF L~ By 1,123 9% 1,220
207 |L,3,5- N AF L~ By 277 2 5 284
300 [Fbmy 10 4 11 2%
302 [F7 AL 121 1 83 205
323 [V AR 383 383
325 A% 845 300 27 13 57 1241
326 |72 FV
328 [UTA 1,200 17 9 38| 1,264
329 [HUH—r " A—F 1,849 1,949 750 1,518
331 | AR 51 51
340 [E7==1 5 2 6
350 |~ AN 211 191 0 50 1 3 156
BT T 172 22 194
357 |7 FuT = 154 330 87 65 936
358 |77 7= OF 359 1 2 123
360 |~ 537 474 99 15 1,125
361 3,067 3,067
362 [T Tz Funy
363 X TUT 1,064 1,064
364 | 7= B mF L A— 7 2 5 14
369 |7 SLE Sk 90 90
370 [EVF~r 140 20 60
371 |77 7=  ETF 80 10 90
376 |7 Hoa— 5,333 5,333
378 |[Fue x> 446 324 770
383 |[Tavi L 7 966 972
386 | RALAT L 296 5,587 5,882
387 |7 = T HARX 72 1 73
400 |~ B 0 1 0 2
102 A7 =)ok 2,567 2,567
405 [IZH5F LAY 3 9 0 8,835 8,847
RIFF LV TF L) =T VXN T—T )T
107 | LEAIEDPFHN 120D 15ECOLD K 591 2,437 562 455 12 6 21| 4,002
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 51 407 204 109 3 2 9 786
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 438 1,962 715 3,123 85 12 188] 6,552
410 ?y(’k%yl%y/)*/"”71"”1—7 704 1,257 1,109 318 15 5 23| 3432
414 K~ AR
122 |7z BT 1,583 1,583
120 AT = AT F T F—h 120 120
125 [T a7
127 [ U 83 190 573
128 | 7= )7 AT 738 738
129 | NRALTHY AT 86 5 150 241
130 (A RF AT 20 20
131 |7 /% ARREY 248 110 125 205 687
132 |75 R 60 60
133 [I—~L 200 200
134 [FEFn 58 58
135 [EUS S\ IAF L 285 285
138 |AF AT T AL 711 26 182 8 0 0 1 928
142 [ A7e=1 26 21 14 64 2 8 135
143 AV 1,158 7 1,165
14 [N 7 a% v ARRE Y 9 9
15 [JUIR S BATIL 825 171 996
19 [T=  AF 4T 7 A
150 [EUTFANLT 506 506
156 [0AALT A I=0 A 330 330
457 |7 a)LIRA
B i 70,659]  34,711] 95,795 8,450 1,920 1319]  23.858] 239,702
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#2-1-34 FERRITAR DI X BB - RS2 E RN O H R R CTERR224 2 5 K R

el %a 7N AEHRH i (kg/ )

i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 109 9 118
13 | 7&h=RL 3,188 69 3,257
21 |y
22 |74Fu=)v 829 5 834
25 |[ANT Vv 105 105
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl g .

BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 284 1,445 360 124 8 1 9 2,232

VZDIREMIZIRD)
40 [E7=FE—k 98 22 120
41 |7 84 9 93
146 | FYarysS=FL 49 49
47 | THIRA 18 274 120 412
48 |EPN 228 364 593
49 | NUT AR 815 43 116 974
50 |EYHR—h
52 |7o=HNT 520 520
53 |mF P 6 14 47 5 0 0 0 72
54 |HRAFTE—b 342 342
61 |~vvx7 8,246 704 8,950
62 |vra®s 51,036 9,422 60,458
63 |Y/7hY7 a3k 142 432 244 73 335 1,225
64 |Th7xrTavsA 2,665 2 576 3,242
70 |=~AVF oz AR 22 0 0 22
80 [Fi L 9,512 16,787 8,243 1,986 186 94 431 37,239
82 SRR U DKBHLE Y
83 |ZA~ 260 260
90 |ThIVv 135 135
91 |7 Fvv 100 157 55 4,075 4,388
92 [ML7=ESR 405 90 495
93 |[AhFrmE—)L 79 79
95 |ZATVF A 126 128 29 283
96 |Y7=/a)ry—n 28 3 0 34 0 66
100 | FLFFrm—L 4,157 4,157
101 |[7F7m—)v 215 80 295
108 |Aa7my 7 246 623 870
113 [~Yv 33 88 84 205
L4 | A F )77 48 48
115 | 7= RH3R 1,752 1,752
116 [ ~FF TV IR 18 2 20
117 |77 a)y—1 141 179 320
118 |37 %=/ 1 32 7 40
119 |Z7xr 7o)y —)
124 |73vmy 1,173 1,173
125 |Zoo_ P 245 245
137 > 73k 76 76
138 |7 Avh 18 18
139 [FFmAR 4 0 0 0 0 4
140 |7 =27 m SRy 59 14 0 0 74
141 [EFF=L 72 72
144 iﬁ) o T AL EER K O T R A TR
146 |EUIRAAF L
47 |[FAHLT 12 720 732
148 | B 7z Abm—/L 1,211 50 1,261
152 |HNEyT 5,048 310 681 6,040

g 3 80 870 950

231 414 101 747

169 |Pom 447 31 4,092 4,570
170 |7ho=a)—n 8 4 12
171 |[Forary—i 72 72
172 [ AF PP rairs 234 105 339
174 (V== 163 163
175 |2,4-D 455 202 265 922
179 |D-D 8,223 8,223
182 |BTY/¥ v Txv 175 175
183 [TV —Fh 922 922
184 |[Pru~=) 117 87 304 3,533 4,040
187 |PFT v 730 730
91 |4y FuFtT 156 156
192 | =T 4T = 7R A
193 |=FLFF AR 2,309 52 241 2,602
194 |AFHa
195 |7 uFAHRA 184 108 12 6 3 16 329
196 |AFHF A 4,764 84 4,848
197 |9/ 547 1,358 1,669 3,573
198 | AR —h 4,333 1,141 5,474
206 |WILARANLT 7 42 18 60
207 |2,6-T—tert-7 F)-4-JLY —)L 22 22
212 |77 =—h 293 7,426 4,074 75 1 318 12,186
213 INNN-VAF LT ERTIR 21 21
217 |FATIT A 9 41 50
221 | NUTTINT 175 117 292
222 |7 )FAINT
225 [N LRy 736 605 1,615 242 3 74 340 3,614
227 [/3F=a—k 101 308 174 52 239 875
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229 [FAT 7 X AF L 1 2,950 1,024 3,975
233 [Z=o b} 139 185 67 691
236 [T AAF L= 60 60
244 |7V Avk 14,688 14,688
28 ATV 158 6,289 163 87 308] 7,094
219 | Za EURA 1,813 306 2,119
250 [ (/%Y FAr 157 745 193 3 2 71 L7
251 |[7==haFAtr 6,051 5,192 576 4,505 60 35 74| 16,595
252 | 7= F Ao 33 11 3 8 39 125
253 |77 = A 80 80
254 [ {7 B~ kA 255 255
257 |74 /= 206 206
258 |~ YAFLLTRII 1,941 312 2,253
260 |Zansn=i 1,285 1,116 1,763 2,830 36| 7,030
261 |7V IAF 6,043 6,043
266 |77 /LRI 39 39
267 |[FHSHLT 1 156 368 5 13 536
268 | V7L 20 981 441 480 1,923
272 |AAKIEVEHE G2 PR
273 In-RT I AT a—i 10 1 11
275 |FT S /R Mo 15 18 8 1 0 1 73
285 [/an s 17,653 17,653
286 [FUZBEL 56 33 150 238
203 (N7 502 2,523 8 4 20 2,556
206 |L,2,4- N AF L~ By 1,248 2 1,274
207 |L,3,5- N AF L~ By 308 3 17 327
300 [z 11 10 18 10
302 |[FoaLy 22 4 75 101
323 [V AN 869 869
325 A% 1,716 191 39 15 69| 2,030
326 |72 FV
328 [V 137 137
329 [HUH—r " A—F 1,065 1,570 1,300 3,935
331 | AR 60 60
340 [E7==1 207 5 211
350 |~ AN 160 153 60 1 3 376
BT T 210 39 248
357 |7 FuT = 86 287 52 94 519
358 |77 7 )UK
360 |~/ 530 1,161 157 2 1,850
361 728 728
362 [T Tz Funy
363 X TUT 232 232
364 | 7= B mF L A— 18 6 16 10
369 |7 SLE Sk 390 390
370 |EUH NV 440 40 480
371 |77 7=  ETF 10 10 20
376 |72 ra— 5,168 5,168
378 |[Fue x> 1,578 1,152 2,730
383 |[Tavi L 128 2,408] 2,836
386 | RALAT L 58,017 58,790| 116,807
387 |7 = T HARX 1,009 3 1,012
400 |~ B 0 2 0 3
102 A7 =)ok 1,777 1,777
105 [BFLLW 20 13 0 14,630 14,663
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 1,102 7,867 598 807 11 6 20| 10,420
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 18 625 231 195 3 2 9| 1112
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 313 1,606 538 4,250 57 33 154 6,951
410 ?y(’k%yl%y/)*/"”71"”1—7 667 2,057 984 565 17 7 31| 4331
414 K~ AR
122 [ 72007 1712 1712
120 AT = AT F T F—h 80 80
125 [T a7 15 15
127 [ U 84 1,593 1677
128 | 7= )7 AT 3,417 3,417
129 |~ OAL T AT 81 5 87 176
130 (AL FEHFHLT 20 20
BL[7IxLARREY 384 70 220 278 952
132 |75 R 1,000 1,000
133 [I—~L 1,350 1,350
134 [FEFn 57 57
135 [EV A IATF 170 170
138 | AFTTHL 88 71 171 9 0 0 1| Loa
142 [ A7e=1 2,151 9 15 56 3 16 2,250
143 AV 620 5 626
444 |N)7nF o AhrES
15 [JUIR S BATIL 2,231 171 2,402
19 [T AT AT 74
150 [CV7FINT 750 750
456 |[DAAET V=D A
457 |7 a)LIRA
B i 66,366]  135,806] 193,727 17,481 8,502 643]  9L,718] 514,143

(2)-70




#2-1-35 EIRITARDE R BB - RSS2 B O H A HER R CPERR22FEE ;1D

XA FEWE AR i (kg/4F)
i Fet 3
4. W, A e | m anogy | g | CRBOK] g
L [HSROKEMEL S 80 11 91
13 | 7Eh=hv 894 44 937
21 |y
22 |747n=)v 514 5 519
25 |[ANT Vv
271 | AHIbm
29 |1-T7UNAFT-2,3-TRF Ty 2 2
BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 105 304 93 13 3 0 518
O ZDIREMIZIRD)
40 |[E7=F¥—F 43 17 60
41 |7 hF=L 974 974
46 |V aky ST 14 14
47 | THIRA 70 7 77
48 |EPN 21 27 48
49 |~ FgARY 185 200 755 1,140
50 |EUFR—k 240 240
52 |[7o=hmr7 120 120
53 |=F vy 1 1 1 3
54 |HRAFTE—h 29 29
61 |~rx7 6,050 875 6,925
62 |~ra¥s 7,749 2,731 10,480
63 |27 b7 usR 75 312 124 109 637
64 |Th7=rTaysR 904 180 4 22 1,114
10 | A0 T BB 6 :
80 |F L 11,061 2,251 2,644 211 16 59] 16,253
82 [§RK D KB LAY
83 [ZAv 98 98
90 |7V
91 [> 7P 13 5 27 50
92 [ML7= TR 15 30 45
93 | ANT/m—)
95 |TATVF A 353 57 86 496
96 |7z /a)rV =) 19 1 23 43
100 | FLFFrm—L 1,755 1,755
101 |7F7m—)L 167 167
108 [Aa7my 40 226 266
113 [v~=Yv
114 [ AH )77 137 137
115 | 7= FFHIR 1,024 1,024
116 [ ~FF TV IR 8 2 10
117 |F 72y — 246 604 850
118 [3ymrs=)1 1 3 5 14
119 |Z7xr 7o)y —)
124 |73y 30 30
125 7o~ Py 147 147
137 [ 73K 22 22
138 [2Z7uyAvk 33 33
139 [FFmAR) 1 0 0 0 0 1
140 |7 = 7w R 6 4 10
141 [ EFH=1
144 i o T ACE DGR K O T R A R
146 |EUIRAAF L
147 |[FA~NCHLT 146 1,124 1,270
148 |[h7 = App—L 705 50 755
152 [ sy r 2,885 67 61 3,013
’ : 36 264 300
32 107 28 167
169 |V 34 21 56
170 |[Fhaiy—i 8 3 12
171 |[Furapry—n 100 59 159
172 A rurRs 430 210 640
174 [V=any 167 167
175 |2,4-D 183 9 45 237
179 |D-D 2,900 2,900
182 |[EIY/FyTxr 108 108
183 £V L—h 1,296 1,296
184 [Yrm~ogL 10 6 11 56 83
187 |[VFT v 554 554
91 (Y FaFAT 252 252
192 | =T 4T = 7R A
193 |=F LFA AR 1,207 90 1,312
194 |AFHa
195 | FaFF7RA 3 15 21
196 [ AFHFA 1,056 20 1,076
197 |~ 37 118 123 278
198 |V ART—h 1,268 110 1,378
206 |HNARRALT 7 23 9 32
207 |2,6-T—tert-7 F)-4-JLY —)L 6 6
212 |7 7=—h 52 662 203 5 27 950
213 INNN-UAF LT ERTIR 7 7
217 |FALIT A
221 | NUTFGHNT 229 49 278
222 |7 )FHHNT 35 35
225 |NYZ7Liky 132 163 314 55 0 25 694
227 |/85=2—h 53 223 89 78 455
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229 [FA T 7 x—bAF /L 2 318 388 709
233 |7z h—h 48 214 21 283
236 |7 AAF =L 60 60
244 |5/ Ak 14,112 14,112
248 |FATV ) 65 1,859 42 9 56 2,032
249 [Z0L YRR 74 9 83
250 [AV¥ Y FA 18 88 34 0 0 1 141
251 |F==FaFi 840 928 167 435 2 72 432 2,876
252 |72 F A 156 14 1 2 214 389
253 |77 = JIRA
254 | AT RUIRA
257 |Fh /) — 89 89
258 [~FPAFLUTRII 389 99 489
260 [7mEZB=L 516 205 203 297 1,221
261 |[7H5AF 2,528 2,528
266 |77 /LRU 30 30
267 |[FADINT 685 3 14 702
268 |FTA 40 788 342 90 1,260
272 | SR TANE S (B 2 FR<) 36 36
273 In-RT I AT a—i 7 1 7
275 |FF L VHilET R D A 11 6 3 0 0 0 21
285 |zanE sy 18,756 18,756
286 [Pz L 120 104 624 848
293 [F7LFY 1,214 1,214
296 [1,2,4-RUAF L~ B 168 1 469
297 [1,3,5-RUAF LB 116 1 8 125
300 [FLxy 1 5 2 8
302 |[F 7L 6 1 67 74
323 [S ARY 71 71
325 [ A% 733 169 9 4 25 940
326 |72 FV
328 [P74
329 [RUH— " A—R 81 74 550 705
331 [ XY HA 24 24
340 [e7 ==L 60 3 64
350 |~V ARY L 20 10 30 0 0 61
B-n-7 L 39 4 43
357 |7 Fur=o0 1,191 205 30 18 1,443
358 |77 7= UK 336 64 78 478
360 [~/uL 247 207 15 500
361 726 726
362 [T Tz Funy
363 [A%HOT 1,072 1,072
364 |7z mF L AR 7 3 5 15
369 |7 LE ok 90 90
370 [EV&~ 60 20 80
371 |77 7= ETR 10 10
376 |75 m—1 5,046 5,046
378 |[Far s 1,349 681 2,030
383 |[TawiL 184 184
386 | RALAT L 99 7,306 7,404
387 |7 = T HARX 264 1 265
400 [~ P 0 1 0 1
102 [A7=F Bk 649 649
405 [IZH5F LAY 10 4 1 3,895 3,910
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 80 2,090 175 123 0 0 3 2,471
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 13 180 66 32 0 0 3 295
409 i%/ﬁf?_\fﬁzz/):]ﬁ” VE—T VR 82 578 136 676 3 2 1| 1401
410 ?y(’k%yl%y/)*/"”71"”1—7 283 576 697 94 1 1 18| 1,701
414 K~ AR
422 [7=Us/v 2,094 2,094
4124 |AFN=AIF AT F—h
125 |4 Fahns
427 [y 164 234 398
428 [7= /)T INT 1,626 1,626
129 | ~NEAL T AT 185 249 434
430 (A R¥H T
431 |7/ ¥ AbrEY 172 40 100 552 864
432 |75 R 20 20
433 [ =734 450 450
434 [F%H 124 124
435 [EVINY AT 324 324
138 [AFLFTHL 38 228 106 2 0 0 0 376
442 [AF = 3 50 53
443 (AL 667 10 678
444 |N)7nF o AhrES
445 [V Y%L BAF L 243 43 285
449 |72  AF 4T 74
450 [EV7F LT 180 180
456 [VAALT LI=T A 220 220
457 |7 a)LIRA
& t 42,618 32,044 56,570 2,675 3,558 266 14,596] 152,327
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#2-1-36 ERRITAR D BB - RS2 E RN O H R R O 224 2 TR I

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 26 5 31
13 | 7Eh=hv 74 4 78
21 |ruVEyy
22 |747m=)L 453 453
25 |[ANT Vv 3 3
27 |A#3be
29 |1-7UNAF -2 3-TRFL Sl 4 1
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 54 506 236 13 0 0 0 810
VZDIREMIZIRD)
40 [E7=FE—k 27 13 40
41 |7 249 2 251
146 | FYarysS=FL
47 | THIRA 81 81
48 |EPN 94 357 452
49 | NUT AR 176 176
50 |EYHR—h
52 |[7I=HNT 200 200
53 |=F P 3 4 25 0 0 0 0 32
54 |RAFTE—k 824 824
61 |~vvx7 2,242 483 2,725
62 |vra®s 7,261 3,079 10,340
63 |Y/7hY7 a3k 158 576 594 48 185 1,561
64 |ThT= Ty 252 2 164 418
70 | =~ AYF R 15 0 0 2 17
80 [Fi L 1,539 2,880 5,684 220 6 8 45 10,382
82 |[$RFE OO KIEMALAEY
83 |7Av 7 2 9
90 |[TrIVv 118 118
91 |7 Fvv 0 10 10
92 [ML7=ESR 30 60 90
93 |[AhFrmE—)L 98 98
95 |ZATVF A 173 312 16 501
96 |Y7=/a)ry—n 19 1 0 11 0 31
100 | FLFF7m—)L 420 420
101 |7F7m—)L 645 645
108 |Aa7my 7 16 116 132
113 [~Yv 19 64 19 103
L4 | A F )77 11 11
115 | 7= R 793R 486 486
116 [ ~FF TV IR 8 2 10
17 | 77235 — 30 30
118 |37 %=/ 1 9 2 11
119 |Z7xr 7o)y —)
124 |73
125 |Zoo_ P 735 735
137 | 73K 2 2
138 |7 Avh 18 18
139 [FFmAR 1 0 0 0 0 1
140 | 7= 7 m/Rp) 54 16 0 0 70
141 [EFF=L 54 54
144 ? o T AL EER K O T R A TR
146 |EUIRAAF L 47 47
47 |[FAHLT 50 50
148 | B 7z Abm—/L 471 471
152 |HNEyT 325 123 542 990
) 147 353 500
194 694 22 910
169 |Pom 38 89 128
170 |FhFa)/ —b 0 0
171 |Faraty — 14 14
172 [ AF PP rairs 332 332
174 [V==my 36 692 728
175 |2,4-D 178 11 55 243
179 |D-D 258,702 258,702
182 |BTY/¥ v Txv 6 6
183 [TV —Fh 856 856
184 [P Zu~=/L 63 39 64 340 506
187 |PFT v 1,092 65 1,157
91 |4y FuFtT 596 596
192 | =T 4T = 7R A
193 |=FLFF AR 963 5 17 985
194 |AFHa
195 |7 uFAHRA 4 40 1 3 4 17 69
196 |AFHF A 1,228 58 1,286
197 |9/ 15 86 262 363
198 | ART—h 285 285
206 |WILARANLT 7 43 16 59
207 |2,6-T—tert-7 F)-4-JLY —)L 14 14
212 |77 =—h 125 1,459 168 1 0 4 1,758
213 INNN-VAF LT ERTIR 49 49
217 |FATIT A
221 | NUTTINT 647 260 907
222 | T )FANINT 105 105
225 [N LRy 69 90 548 39 0 2 6 754
227 |/37a—h 113 411 424 34 132 1,115
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229 |FAT 7 F—RAF /L 1 1,112 643 1,757
233 [7=rb—k 40 295 114 450
236 [7AA ¥ =1 30 30
244 [V Avb 26,656 26,656
248 | FATV ) 65 7,952 26 6 22 8,069
249 [k 147 372 519
250 [AV¥ Y FA 41 244 39 0 0 1 325
251 | 7==haFI> 904 1,006 198 524 3 4 20 2,659
252 |72 F A 46 2,627 1 66 253 2,993
253 |77 = JIRA
254 |47 AR A 816 816
257 |Fh /) — 1,048 1,048
258 [~FPAFLUTRII 284 105 389
260 |Znnfu=/ 111 115 1,072 372 1,670
261 |79 54K 695 695
266 |77/ R 107 107
267 [FAC LT 159 880 152 1 4 1,196
268 [Fr 54 19 549 2 120 690
272 | SR TANE S (B 2 FR<) 24 24
273 In-RT I AT a—i 6 1 7
275 |RF L ViR T RUD A 155 16 23 0 0 0 194
285 | ZoaE sy 208,936 208,936
286 [N rmEL 6 8 30 44
293 [NZ7 AT 1,328 1,328
296 [1,2,4- R AF L~ B 31 23 54
297 [1,3,5-RUAF L~ B 8 2 21 31
300 [hrzy 5 7 19 32
302 |[F 7L 7 1 54 62
323 [S ARY
325 [ A% 394 156 5 3 12 570
326 |72 FV
328 [P74 9 11 44 64
329 [HUH— 32—} 114 351 100 565
331 [ 144 144
340 |7 ==L
350 |~V AR 35 86 20 0 0 141
-7 F L 66 20 86
357 |7 Fur=vr 122 182 59 17 380
358 |77 7 )UK
360 [~</3L 73 273 102 2 450
361 221 221
362 [T Tz Funy
363 [A%HOT 40 40
364 [T=rEaF L A—| 5 3 2 9
369 |7u UL¥ R 180 180
370 |EUH NV 135 100 235
371 [F 7 7= BIR
376 |7 x#/n—n 72 72
378 |[Far s 86 54 140
383 |7 rwi L 65 65
386 | RALAT L 10,056 10,056
387 |7 = T HARX 216 3 219
400 [~ B 0 2 1 2
402 [A7=F® vk 420 420
405 [IZH5F LAY L 1 0 570 573
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 237 2,169 463 142 1 1 4 3,017
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 17 232 101 36 0 0 2 388
409 i%/ﬁf?_\fﬁzz/):]ﬁ” VE—T VR 73 452 276 521 3 1 14| 134
410 ?y(’k%yl%y/)*/"”71"”1—7 93 705 1,580 105 2 1 3| 2,490
414 K~ AR
422 [7=Us/v 370 370
424 [AF I =AVFF LT F—h 580 580
425 |77
427 [y 117 280 397
128 [7=/7 BT 146 146
429 | ~\mRLT T AT 63 63
430 (AR IAT 20 20
431 |7/ ¥ AbrEY 18 80 140 238
432 [7I5 R 40 40
433 [H—r32
434 [FFH3Iv 99 99
435 [EVINY AT 126 126
138 [AFLFTHL 8 2 97 1 0 0 0 110
142 [AFm=1 27 7 31 2 2 8 78
443 (AL 1,685 7 1,693
444 |N)7nF o AhrES
445 [FLyF L s AF L 631 129 759
449 |7 =2 AF 477 I
450 [EVTF AT 53 53
456 |[DAAET V=D A
457 |7 a)LIRA
& 7t 12,475 27,327] 538,359 1,999 1,372 208 12,130] 593,869
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#2-1-37 FERRITAR D X BB - RS2 E RN O H R R CPER224 12 75 11

el %a 7N AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 60 23 83
13 | 7Eh=hv 113 5 118
21 |y
22 747 =L 514 514
25 [ANTVv 50 1 51
271 | AHIbm
29 |[I-7UNAFT-2,3-TREL T i 6 6

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 354 447 314 40 1 0 3 1,159
O ZDIREMIZIRD)

40 |[E7=F¥—F 81 39 120
41 |[7hg=1 64 64
46 |FVoky S =F L 7 7
47 |7 HIRA 48 48
48 |EPN 180 408 588
49 [T AZY 336 336
50 [FEYFR—h
52 |[7o=hmr7 240 240
53 |mF P 5 17 125 6 0 0 0 154
54 |HRAFTE—b 176 176
61 |~rx7 4,574 1,701 6,275
62 |=ravs 6,920 3,343 10,263
63 |27 b7 usR 156 329 491 4 269 1,249
64 |Th7xrTavsA 489 1 122 612
70 | =~ A7 F 72 AR 21 0 0 21
80 [Fi L 4,368 3,795 5,635 639 9 1 128 14,575
82 SRR U DKBHLE Y
83 [ZAv 20 4 24
90 [T 43 43
91 [> 7P 14 6 0 30 50
92 [ML7=ESR 45 165 210
93 | ANT/m—)
95 |TATVF A 286 343 51 681
96 |P7x/a)y— 9 1 0 0 10
100 | FLFFrm—L 336 336
101 |[7F7m—)v 43 43
108 [Aa7my 16 100 116
13 [v=ov 20 114 67 201
114 [ AH )77 10 10
115 | 7= RH3R 297 297
116 |[~FF TV IR 8 2 10
117 |7 73y —n 100 70 170
118 [3ymrs=)1 50 2 52
119 |7z Ta)y/—i
124 |73y 15 15
125 7o~ Py 49 49
137 [ 73K 22 22
138 |[Pr7as Ay 48 48
139 [FFmAR 1 0 0 0 0 1
140 |7 =27 m SRy 27 3 30
141 [ EFH=1
144 iﬂi o T ACE DGR K O T R A R
146 |[EVIRAAF L 94 94
147 |[FASVHANT 608 608
148 |[h7 = App—L 2,541 40 2,581
152 [z y>r 678 151 523 1,353

3 18 82 100

167 594 39 800

169 |Pom 119 19 52 190
170 |7ho=a)—n 0 0 0
171 |[Furapry—n 25 25
172 | AFHYVrmiRy 228 228
174 (V== 91 91
175 |2,4-D 151 11 61 223
179 |D-D 20,716 20,716
182 |[EIY/FyTxr 20 20
183 £V L—h 28 28
184 |[Pru~=) 25 33 27 147 232
187 |[VFT v 504 504
91 (Y FaFAT 180 180
192 | =T 4T = 7R A
193 |=F LFA AR 883 1 40 924
194 |AFHa
195 | FaFF7RA 165 306 16 6 1 31 524
196 [ AFHFA 1,460 64 1,524
197 |~ 21 109 279 410
198 |V ART—h 41 22 63
206 |[HAARALT 7 9 3 12
207 |2,6-T—tert-7 F)-4-JLY —)L 21 21
212 [7E7=—F 367 2,344 427 12 0 65 3,215
213 [NN-VAF LT ERT IR 14 14
217 |FATITA
221 | NUTFGHNT 324 133 457
222 | 7= )FAINT 35 35
225 |NYZ7Liky 87 87 424 60 1 0 9 668
227 [/3F=a—k 111 219 347 3 190 870
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229 [FAT 7 X AF L 5 2,917 1,888 1,809
233 | = b —F 31 126 52 209
236 [T AAF L= 120 120
244 |77 AVE 22,442 22,442
28 ATV 981 57 1,038
249 [/aEYER 431 76 507
250 [ (/%Y FAr 50 129 13 1 0 3 226
251 |[7==haFAtr 2,303 1,787 441 1,337 19 2 74| 6,083
252 | 7= F Ao 286 2 141 130
253 |77 = JIRA
254 [ {7 B~ kA 1,853 1,853
257 |74 /= 730 730
258 |~ YAFLLTRII 320 107 127
260 [Znnya=, 294 607 2,515 939 4,356
261 |7V IAF 822 822
266 |77 15 15
267 |FA IS 54 406 81 1 6 548
268 | V7L 295 255 69 60 680
272 |$RKIEMEH B2 BRS) 48 48
273 In-RT I AT a—i
275 |FT S /R Mo 228 25 29 1 0 0 284
285 | 7oy 10,478 10,478
286 [FUZBEL 7 1 39 27
203 [FI7 A5 2,668 2,668
206 |L,2,4- N AF L~ By 94 10 133
207 [1,3,5-RUAF L~ By 23 1 16 11
300 [z 9 3 20 32
302 |[FoaLy 6 1 7 84
323 [V AN 2 2
325 A% 1,303 484 38 1 8| 1875
326 | /o= F o 36 4 10
328 [V
329 [HUH—r " A—F 32 123 200 355
331 | HAY AR 15 15
340 [E7==1 2 0 2
350 |~ AN 16 16 10 0 0 72
BT T 32 11 13
357 |7 FuT = 39 48 22 12 122
358 |77 7= OF 1 1
360 |~/ 393 1461 186 1,040
361 304 304
362 [T Tz Funy
363 X TUT 248 248
364 | 7= B mF L A— 9 5 5 19
369 |7 SLE Sk 60 57 117
370 [EVF~r 135 10 175
371 |77 7=  ETF 20 20
376 |7 Hoa—n 377 377
378 |[Fue x> 10 100 140
383 |Towi v 34 508 542
386 | BULAT /L 3,180] 3,180
387 |7 = T HARX 120 1 121
400 |~ B 0 1 0 1
402 | A7 =F ok 198 198
405 [IZH5F LAY 2 6 1 2,565 2,573
RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 204 3,859 561 255 1 0 19 4,902
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 27 249 140 64 1 0 5 185
409 i%}f‘;{ﬁz:/):]‘T‘/’”Igf”mﬁi 187 619 582 1,482 21 2 11| 3,003
410 ?y(’k%yl%y/)*/"”71"”1—7 154 789 650 184 6 0 25| 1,808
414 K~ AR
122 [ 72007 222 222
120 AT = AT F T F—h 10 10
125 |47 aHnn T
127 [ U 161 333 191
128 |77 LT 320 10 360
429 | ~\mRLT T AT 16 16
130 (AL FEHFHLT 2% 2%
BL[7IxLARREY 112 60 145 18 335
132 |75 R 180 180
133 |[—~L 100 100
134 [FEFn 2 2
135 [EV A IATF 6 6
138 | AFTTHL 30 10 214 2 0 0 0 256
442 | A=)
143 [ X 2,111 19 2,130
444 |N)7nF o AhrES
15 [JL V%L DAFIL 146 129 274
19 [T AT AT 74
150 [CV7FINT 209 209
156 [DAAET LI=0 4 330 330
457 |7 a)LIRA
B i 20,570]  35,206] 91,663 1,703 1,790 19 8,081 162,233
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#2-1-38 EERITAR DB BB - RS ZEW B O H A HER R R CTERR22FE K 5 3

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 1,412 25 1,437
13 [7E'r=RIL 2,434 13 2,446
21 |ruVEyy
22 |747m=)L 278 278
25 [ANTVv 53 53
27 |A#3be
29 |1-7UNAF -2 3-TRFL Sl 4 1

BT VIR ZIVIR iR N O D
30 |(TAFRAHEDRFEEBI0DHI4ETOLO K 110 1,706 153 20 0 0 0 1,990
O ZDIREMIZIRD)

40 |[E7=F¥—F 166 14 180
41 [ZARF= 2,661 2 2,663
46 |FVoky S =F L 7 7
47 |7 HIRA 153 10 163
48 |EPN 125 371 497
49 [T AZY 590 590
50 [FEYFR—h
52 |7o=H017 5,360 5,360
53 |mF P 4 93 99 5 0 0 0 200
54 |HRAFTE—b 162 162
61 |~vvx7 98,931 1,869 100,800
62 |vra®s 247,326 15,355 262,681
63 |27 b7 usR 63 1,695 231 35 118 2,142
64 |Th7xrTavsA 243 174 417
70 | =~ ATF U AR 13 0 0 13
80 [Fi L 1,397 40,590 5,622 332 31 20 794| 48,788
82 SRR U DKBHLE Y
83 [ZAv 4 4
90 |[TrIVv 244 244
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331 [ XY HA 105 105
340 |7 ==L 4 0 4
350 |~V ARY L 38 37 10 0 1 85
B-n-7 L 58 12 70
357 |7 Fur=o0 5,968 340 233 67 6,608
358 |77 7= UK 2,848 26 38 2,912
360 [~/uL 731 1,811 1,588 4,130
361 634 634
362 [T Tz Funy
363 [A%HOT 472 472
364 |7z mF L AR 34 11 13 58
369 |7 LE ok 510 513 1,023
370 |EUH NV 440 100 540
371 |77 7= ETR 40 40
376 |75 m—1 1,170 1,170
378 |[Far s 536 164 700
383 |7 rwi L 10 10
386 | RALAT L 172 172
387 |7 = T HARX 120 1 121
400 [~ P 0 3 2 6
102 [A7=F Bk 1,316 1,316
405 [ F5F AW 19 6 1 26
RIFF LV TF L) =T VXN T—T )T
407 |V FEDRFH2H15ETOL DR 398 7,139 1,558 154 2 1 15 9,267
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 35 320 591 35 1 0 4 986
109 i%/ﬁf?_\fﬁzz/):]ﬁ” V=TIV 245 657 1,640 829 12 3 79| 3,465
410 ?y(’k%yl%y/)*/"”71"”1—7 290 1,046 1,469 103 2 0 12| 2,923
414 K~ AR
422 |7V b/ 1,012 1,012
424 [AF I =AVFF LT F—h 80 80
125 |4 Fahns 45 45
427 [y 1,016 365 1,381
428 [7= /)T INT 1,639 203 1,842
429 | ~\mRLT T AT 38 38
430 [A R LT 115 115
431 [7/F L AbEEY 176 90 145 165 576
432 |75 R 100 100
433 [ =734 650 650
434 [F%H 6 6
435 [EVINY AT 358 358
138 [AFLFTHL 70 19 206 2 0 0 2 299
442 [xF =1 2,844 2,844
443 (AL 1,683 3 1,686
444 |N)7nF o AhrES
445 [V Y%L BAF L 776 429 1,205
449 |72  AF 4T 74
450 [EV7F LT 240 240
456 [DAALT L I=T 4 110 110
457 |7 a)LIRA
& t 54,590 85,297] 303,659 1,869 1,432 44 2,101 448,992
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FK2-1-42 FERITAR D BB - RS2 E RN O H R R R CPER224F 12 5 R IR I

XA FEWE AR ik (kg/4FE)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 79 42 121
13 |[7Er=FL 350 17 367
21 |y
22 |747n=1 441 441
25 [ANTVv 50 50
271 | AHIbm
29 [1-7UNAF-2,3-TRF L S

BT VXN B U RVIR R N OV DI
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 101 1,106 603 16 0 0 1 1,827
OZDREWIZRD)

40 [E7=FE—} 137 103 240
41 [Frkg=n 3,488 124 3,612
46 |FVoky S =F L 7 7
47 |7 HIRA 510 16 526
48 |EPN 62 307 369
49 |~ FgARY 2,417 11 95 2,523
50 |EVUx—h 56 56
52 |[79=hL7 80 80
53 |=F vy 2 5 52 1 0 0 0 61
54 |HRAFTE—h 659 659
61 |~rx7 6,182 3,243 9,425
62 |~ ot 41,705 18,094 59,799
63 |77 EIR 93 279 635 8 239 1,253
64 |Th7=rTaysR 1,528 1,240 2,768
70 |=~AVF oz AR 44 44
80 |F L 3,274 7,352 13,521 336 24 4 157] 24,668
82 |$RK O D/KIEMEILAEY
83 |7A~ 273 8 281
90 |ThFVv 329 329
91 [>T FPv
92 [ML7= TR 60 150 210
93 |ArFru—1 319 319
95 [TATVF A 1,279 913 219 2,412
96 |Y7=/ary—1 24 6 30
100 | FLFFrm—L 2,034 2,034
101 |7F7m—)L 301 301
108 |Aa7my 7 28 134 162
13 [v~=vv 3 44 12 59
14 A% )77 10 10
115 | 7= FFHIR 207 207
116 |[~FSFTYIR 7 3 10
117 |7 73y —n 246 164 410
118 [37urs= 1 34 3 37
119 [7=r 7oty — 32 12 44
124 |731my 575 575
125 [7op~_u Py 343 343
137 |2 7338
138 [P7oi Avb 3 3
139 [FFmAR) 1 0 0 0 0 1
140 |7 = 7w R 46 44 90
141 [ XY= 624 624
144 | T AL RIGRER O 7 R
146 |EVIRAAT L 188 188
U7 |FAALT 4 986 990
148 [#7 =L Abm—)L 396 40 436
152 W57 2,853 247 1,473 4,573

: 43 157 200

148 498 30 676

169 |V 35 5 40
170 |[Fhaiy—i 10 2 12
171 |Faraty — 50 50
172 A rurRs 230 30 260
174 [V=any 2 369 372
175 |2,4-D 1,110 101 643 1,855
179 [D-D 331,438 331,438
182 [TV ¥ Txr 1,044 1,044
183 |&FYL—h 3,350 3,350
184 [Yrm~ogL 10 29 12 99 150
187 [CF7 v 3,192 13 3,205
191 |4V FaF45 300 300
192 | =T 4T = 7R A
193 |=F L F A AR 1,780 2 52 1,833
194 |AFHa
195 |[FaFA+kEx 15 116 4 1 0 8 144
196 |AFHF A 4,444 220 4,664
197 =5/ 45 101 489 635
198 | ART—h 41 202 243
206 |HNARRALT 7 16 34 50
207 |2,6-F—tert—7 F/L—4-UL Y —)L 50 43 93
212 [7&7=—} 102 1,036 109 3 0 25 1,275
213 [NN-VAF LT ERTIR 35 35
217 |FAT T4 2 48 50
221 [~v 7507 842 144 986
222 |7 )FAINT
225 (R 7y 88 129 892 53 0 1 32 1,196
227 |/85=2—h 67 199 454 5 170 895
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229 [FA T 7 x—bAF /L 50 1,953 2,061 4,064
233 |7z h—h 72 942 302 1,316
236 |7 AAF =L 510 510
244 |5/ Ak 57,232 57,232
248 |FATV ) 4,083 12 3 102 4,200
249 |7V EURA 48 48
250 [A/F Y F A 194 388 86 1 0 5 674
251 |F==FaFi 778 966 267 623 5 39 1,720 4,398
252 |TxrFAL 368 27 0 30 425
253 |77 = )ik A 1,200 1,200
254 [ A7 BRIk A 85 85
257 |FH /= 7,224 7,224
258 [~FYAFLLUTRTIL 1,564 581 2,146
260 [7mEZB=L 814 511 4,280 819 6,424
261 |[7H5AF 2,359 2,359
266 |77 /LRU 290 290
267 |[FADINT 76 1,211 162 1 10 1,461
268 |F T4 323 167 60 550
272 | SR TANE S (B 2 FR<) 48 48
273 In-RT I AT a—i 12 3 15
275 |FF L VHilET R D A 4 39 28 1 0 0 73
285 |zanE sy 394,558 394,558
286 [Pz L 23 6 197 226
293 [F7LFY 2,168 2,168
296 [1,2,4-RUAF L~ B 1,310 63 1,373
297 [1,3,5-RUAF LB 323 1 53 378
300 [FLxy 4 21 21 46
302 |F7HL 17 9 188 214
323 [ AR 14 14
325 [AF L4 1,630 1,369 26 0 14 3,039
326 |72 FV
328 [VF4
329 [RUH— " A—R 292 2,110 750 3,153
331 [ XY HA 531 531
340 [e7 ==L 2 0 2
350 |~ULARYL 19 87 10 0 0 116
B-n-7 L 15 7 22
357 |7 Fur=o0 2,835 398 170 102 3,505
358 |77 7= UK 1,387 5 38 1,430
360 [~/uL 410 1,252 509 15 2,185
361 244 244
362 |07 7= Funy 200 200
363 [AFHTTV 144 144
364 |7z EEF LA 29 16 17 62
369 |7 Xk
370 [LUF 475 220 695
371 |77 7= ETR 30 30
376 |75 m—1 996 996
378 | FuE %7 388 1,152 1,540
383 |[TawiL 20 20
386 | RALAT L 8,077 172 8,249
387 |7 = T HARX 358 3 361
400 [~ B 0 5 2 7
102 [A7=F Bk 992 992
405 [ F5F AW 14 9 1 24
RIFF LV TF L) =T VXN T—T )T
407 | VF LD RFERD2HD15ETOED K 248 7,175 1,364 423 3 1 27 9,240
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 29 551 311 105 1 0 8| 1,006
409 i%/ﬁfﬁ%{ﬁ?:/):]‘T‘/’LIW‘”W’EM 89 451 610 1,101 8 2 o[ 2,331
410 ?y(’k%yl%y/)*/"”71"”1—7 602 1,736 1,339 300 4 1 21| 7,006
414 K~ AR
422 |7V b/ 2,499 2,499
424 [AFN=AVFA LT F—F 2,100 2,100
125 |4 Fahns
427 [y 775 775
428 [7= /)T INT 4,319 192 4,511
429 | ~\mRLT T AT 32 32
430 [A R LT 35 35
431 [7/F L AbEEY 411 20 375 46 852
432 [73IR5 R 40 40
433 [ =734 50 50
434 [F%H 414 414
435 [EUI NI AT 112 112
138 | AFNLFTHL L 6 10 230 2 0 0 0 249
442 [A7a=1 60 60
443 (AL 3,021 3,021
444 [N 7mF s AbmEy 25 25
445 [V Y%L BAF L 970 300 1,270
449 |72  AF 4T 74
450 [EV7F LT 565 565
456 |[DAAET V=D A
457 |7 a)LIRA
& B 45,006 89,478] 891,323 3,663 2,476 72 4,059] 1,036,077
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Ly

XIGAV A AEFHIHE L A (kg /)

i Fet 3
e WL B RME | FhE | A7 Tama | e
1 |HgR KB EY 1,026 40 1,066
13 |[7Eb=FL 756 13 769
21 |y
22 |747n=1 2,173 5 2,178
25 |[ANT Vv
27 |AF3hm
29 |1-7UNAF -2 3-TRFL Sl 4 1

BT VIR ZIVIR iR N O D
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 518 2,224 1,047 19 3 0 1 3,812

OZDREWIZRD)
40 [E7=FE—} 271 129 400
41 [Frkg=n 6,120 83 6,203
46 |V aky ST 14 2
47 |7 H3IRR 923 39 962
48 |EPN 803 2,285 3,089
49 [ ~_oF Az 1,990 24 82 2,096
50 [FEYFR—h
52 |[79=hL7 560 560
53 |=F LBy 21 106 475 2 2 1 6 613
54 [RAFTE—F 4,118 4,118
61 |~ %7 32,788 3,037 35,825
62 |~ ot 121,110 40,218 161,328
63 |77 EIR 309 2,793 1,375 43 316 4,836
64 |=h7xr oy 4,636 2,350 6,986
0 |xvAr TR BERE 106 32 230 368
80 [Fs Lo 10,839 20,207 20,550 381 82 26 189] 52,275
82 |$RK O D/KIEMEILAEY
83 |7A~ 332 22 354
90 |7 1,978 1,978
91 [v7Fvv 30 4 2 14 50
92 [Mr 7= IR 975 390 1,365
93 |ARTZE—L 1,890 1,890
95 [TATVF A 1,641 459 162 2,262
96 |Y7=/ary—1 111 19 11 141
100 |[FLFF7m—1 4,451 4,451
101 |[757m—)L 1,142 480 1,622
108 [Aa7mys 328 578 906
13 [v~=vv 89 468 413 970
14 A% )77 147 147
115 | 7= bR 1,331 1,331
116 |[~FSFTYIR 16 4 20
117 [77a)Fy—n 1,001 599 1,600
118 [37urs= 2 145 2 150
119 [7=r7a)fy—n 17 5 22
124 |731my 30 30
125 |7an~r v 1,176 1,176
137 |2 7338 24 24
138 [P7oi Avb 72 72
139 [FomAR) 5 0 0 0 0 6
140 |7 =7 /SR 292 78 370
141 [ XY= 1,080 1,080
144 | T LB GRER U 7 B
146 |EVIRAAT L 517 517
U7 |FAALT 19 2,941 2,960
148 [#7 =L Abm—)L 2,115 85 2,200
152 [ W57 7,144 1,140 1,293 9,578

g : 239 561 800

545 2,148 59 2,752

169 [orm 239 64 16 319
170 |FhFa)—1 32 3 35
171 [Farafy—n 225 30 255
172 | Ao rmaRs 571 571
174 [V=an 6 1,190 1,197
175 |2,4-D 1,724 442 350 2,516
179 [D-D 616,632 616,632
182 [TV ¥ Txr 5,598 5,598
183 |&FYL—h 7,100 7,100
184 [Yro~=)L 91 30 107 357 586
187 [CF7 v 5,969 37 6,006
191 |4V FaF45 3,064 23 169 3,256
192 |=F 47 = kA 133 133
193 |=F L F A AR 5,416 21 155 5,592
194 |AFHa
195 |[FaFA+kEx 105 280 6 6 3 21 422
196 |AFHF A 10,076 190 10,266
197 [=5V 682 740 1,584 3,006
198 | ART—h 124 155 279
206 [HARANLT 7 94 26 120
207 [2,6-T-tert-7 FL-4-sLV —L 75 99 174
212 |77 =—h 302 2,948 269 3 0 28 3,555
213 [NN-VAF LT ERTIR 147 147
217 |[FAL T 26 324 350
221 [~v 7507 617 293 910
222 |7 )FAINT
225 (R 7y 428 1,308 3,034 174 2 5 34 4,984
227 [F=—} 221 1,956 978 31 224 3,410
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229 [FAT 7 X AF L 108 1,991 1,155 9,251
233 [Z=o b} 198 1,007 176 1,680
236 [T AAF L= 480 180
244 |7V Avk 112,014 112,014
28 ATV 325 9,118 37 16 18| 9,614
219 | Za EURA 1,007 1,337 2,434
250 [ (/%Y FAr 105 1,047 171 2 1 5| 1,631
251 |[7==haFAtr 1,886 1,612 192 1811 16 355 2,597 11,770
252 | 7= F Ao 966 1,046 30 30 385] 2,457
253 |77 = A 120 120
254 [ {7 B~ kA 1,173 1,173
257 |74 /= 33,142 33,142
258 |~ YAFLLTRII 1,837 1,333 6,171
260 [Znnya=, 523 1478 7,091 1,602 9,784
261 |7V IAF 5,366 5,366
266 |77 /LRI 383 383
267 |[FHSHLT 124 576 82 1 2 785
268 | V7L 594 331 1,334 390 2,619
272 |$RKIEMEH B2 BRS) 24 24
273 In-RT I AT a—i 31 3 33
275 |FT S /R Mo 95 71 75 1 0 0 242
285 [/an s 199,789 199,789
286 [FUZBEL 84 38 280 102
203 (N7 502 1,239 0 0 1| 1210
206 |L,2,4- N AF L~ By 1,501 181 1,773
207 |L,3,5- N AF L~ By 303 12 152 557
300 [Fbmy 37 86 116 239
302 |[FoaLy 29 1 629 701
323 [V AN I 47
325 A% 2,470 815 19 4 26| 3,334
326 |72 FV
328 [V 165 13 6 45 229
329 [HUH—r " A—F 753 719 400 1,873
331 | AR 351 351
340 [E7==1 6 0 6
350 |~ AN 73 68 10 0 1 151

BT T 62 8 70
357 |7 FuT = 6,206 2,073 1,232 615 11,026
358 |77 7= OF 3,141 19 77 3,238
360 |~/ 379 4,373 797 16 5,565
361 511 511
362 [V 7w F o 50 50
363 X TUT 280 280
364 | 7= B mF L A— 274 196 121 590
369 |7 SLE Sk 270 57 327
370 [EVF~r 45 1,340 2,085
371 |77 7=  ETF 80 80
376 |7 Hoa—n 440 140
378 |[Fue x> 895 855 1,750
383 |[Tavi L 98 177 275
386 | RALAT L 31,225 3,696 34,920
387 |7 = T HARX 572 12 584
400 |~ B 1 21 2 2
102 A7 =)ok 2,376 2,376
405 [IZH5F LAY 2 11 3 1,425 1,441

RIFF LV TF L) =T VXN T—T )T
107 [V D REHAS 2D BI5ETOLO K 690 17,912 2,131 354 3 1 1| 21,104
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 54 1,655 400 89 1 1 5| 2,204
109 i%}f?jﬁ)z:/):]‘T‘/’LIW‘”W’EM 337 5,029 1,489 1,863 17 8 56| 8,799
410 ?y(’k%yl%y/)*/"”71"”1—7 966 5,041 6,670 264 8 1 26| 12,075
414 K~ AR
122 [ 72007 1,614 1,614
120 AT = AT F T F—h 580 580
125 [T a7
127 [ U 242 792 1,034
128 | 7= )7 AT 8,518 355 8,873
129 |~ OAL T AT 30 15 15
130 (AL FEHFHLT 10 10
BL[7IxLARREY 155 140 600 150 1,344
132 |75 R 340 340
133 [I—~L 350 350
134 [FEFn 206 206
135 [EV A IATF 27 27
138 | AFTTHL 123 65 784 7 2 1 6 986
142 [ A7e=1 2,651 13 71 261 2 13 3,013
143 AV 1,822 1 1,823
444 |N)7nF o AhrES
15 [JUIR S BATIL 3,492 643 1,135
19 [T AT AT 74
150 [CV7FINT 1,466 1,466
1456 [VAAET VI=0 4 55 55
457 |7 a)LIRA
B i 107,755] 276,179 1,167,180 6,395 6,414 650 11,700] 1,576,303
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FK2-1-44 FERITAR D X BB - RS2 E RN O H R R R CPERR224 2 Koy )

el %a 7N AEHRH i (kg/ )
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HEROREIEE Y 11 1 12
13 | 7Eh=hv 812 36 848
21 |y
22 |74Fu=)v 1,201 1,201
25 |[ANT Vv
271 | AHIbm
29 |1I-TULAFL-2,3-RF Tl 2 2
BT VIR ZIVIR iR N O D
30 |(TAFNIEDRFEEM0DBI4ETOLDO K 104 216 142 8 3 0 3 476
VZDIREMIZIRD)
40 [E7=FE—k 93 27 120
41 [ZARF= 1,704 120 1,824
146 | FYarysS=FL
47 | THIRA 160 4 164
48 |EPN 104 174 278
49 | NUT AR 619 54 674
50 |EYHR—h
52 |[7I=HNT 120 120
53 |mF P 3 4 18 1 0 0 0 26
54 |HRAFTE—b 345 345
61 |~vvx7 1,322 178 1,500
62 |vra®s 20,838 6,830 27,669
63 |Y/7hY7 a3k 156 617 511 14 189 1,487
64 |Th7xrTavsA 1,141 368 1,509
70 |=~AVF oz AR 23 23
80 [Fi L 5,072 3,299 6,526 148 7 6 78 15,136
82 SRR U DKBHLE Y
83 |7Av 124 124
90 |ThIVv 261 261
91 |7 Fvv
92 [ML7=ESR 60 90 150
93 |[AhFrmE—)L 255 255
95 |ZATVF A 376 46 41 463
96 |Y7=/a)ry—n 66 4 11 81
100 | FLFF7m—)L 1,567 1,567
101 |[7F7m—)v 43 43
108 |Aa7my 7 17 95 112
113 [~Yv 2 84 86
L4 | A F )77 115 115
115 | 7= R 793R 1,790 1,790
116 [ ~FF TV IR
17 | 77235 — 63 57 120
118 |37 %=/ 1 42 4 47
119 |7z Ta)y/—i
124 |73vmy 164 164
125 |Zoo_ P 49 49
137 | 73K 6 6
138 |7 Avh 159 159
139 [FFmAR 2 0 0 0 0 3
140 | 7= 7 m/Rp) 60 25 85
141 [EFF=L 54 54
144 ? o T AL EER K O T R A TR
146 |EUIRAAF L
47 |[FAHLT 1,230 1,230
148 | B 7z Abm—/L 966 966
152 |HNEyT 1,713 297 544 2,553
3 47 203 250
193 451 25 670
169 |Pom 38 2 40
170 |7ho=a)—n 29 6 35
171 |[Forary—i 275 27 302
172 [ AF PP rairs 261 30 291
174 (V== 210 210
175 |2,4-D 451 32 99 581
179 |D-D 79,797 79,797
182 |BTY/¥ v Txv 1,508 1,508
183 [TV —Fh 1,260 1,260
184 |[Pru~=) 17 13 5 80 114
187 |PFT v 1,435 9 1,444
91 |4y FuFtT 1,796 1,796
192 | =T 4T = 7R A
193 |=FLFF AR 2,016 6 87 2,109
194 |AFHa
195 |7 uFAHRA 7 36 2 3 4 48 99
196 |AFHF A 1,435 45 1,480
197 |9/ 75 149 364 588
198 | ART—h 1,110 96 1,206
206 |WILARANLT 7 170 63 233
207 |2,6-T—tert-7 F)-4-JLY —)L 5 22 27
212 |77 =—h 90 845 136 2 0 32 1,105
213 INNN-VAF LT ERTIR 14 14
217 |FATIT A 10 140 150
221 | NUTTINT 785 295 1,080
222 |7 )FAINT
225 [N LRy 224 203 756 58 0 3 42 1,286
227 |/37a—h 111 424 361 10 134 1,040

(2)-89




229 |FAT77F—hAF /L 50 1,481 1,382 2,913
233 [Z7=r bz —p 62 178 57 297
236 [7AA ¥ =1 300 300
244 |5 Avb 32,340 32,340
248 \HATV v 97 3,589 4 6 76 3,772
249 |70V EYRA 102 42 144
250 [A1VF 4 F A 40 199 58 0 0 3 300
251 | 7==haFI> 606 1,043 297 173 0 1 9 2,128
252 |[7=rF A 8 37 1 18 64
253 |77 = JIRA
254 | AT RUIRA
257 |FHh/—n 7,534 7,534
258 [~FHYAFLUTRTI 726 206 933
260 |/mmgn=L 213 190 1,290 511 2,204
261 [7HFAF 3,038 3,038
266 |77/ R 56 56
267 |FAVINT 52 209 12 0 1 274
268 [Fr 54 147 15 349 150 661
272 | SR TANE S (B 2 FR<) 24 24
273 In-RT I AT a—i 6 1 7
275 |RF L ViR T RUD A 10 23 7 0 0 0 40
285 | ZoaE sy 124,689 124,689
286 [N rmEL 11 18 239 268
293 |FUZLF) 3,243 3,243
296 [1,2,4- R AF L~ B 593 3 595
297 |1,3,5-FAF L~ P 146 4 18 168
300 [L=y 5 4 9 19
302 [FraL 7 8 109 125
323 [vARY~ 15 15
325 [ gl 851 377 17 2 24 1,270
326 |72 FV
328 [Y54 159 159
329 [HUH— 32—} 130 180 250 560
331 [ APk 78 78
340 [T xz=/1 53 2 55
350 |~V AR 54 40 20 0 0 114
BY-n-7 F L 42 7 49
357 |7 Fur=vr 1,129 144 60 37 1,370
358 |77 7= /UK 352 9 12 373
360 [~ 31 222 644 312 1 1,180
361 534 534
362 |77z Frns 50 50
363 [Ax o7V 400 400
364 [T=rEaF L A—| 15 7 8 31
369 |7u UL¥ R 300 300
370 |EUH NV 110 40 150
371 [F 7 7= BIR 10 10
376 |7 4rm—1 711 711
378 [Feex~ 437 193 630
383 |7mwiL 25 105 130
386 | RALAT L 197 1,117 1,314
387 |7 = T HARX 168 1 169
400 [~ B 0 1 0 1
402 | A7 =Fvb 2,220 2,220
405 [IZH5F LAY 2 2 1 5
RIFF LV TF L) =T VXN T—T )T
407 | NVFNFEDRFERIN2DDH15ETOLD KO 356 2,804 525 166 0 1 8 3,861
ZORGYICIRD)
408 Q;LJL(”L*/I%V”:*7%’”l:’”1# 22 280 109 140 0 0 3 454
409 i%/ﬁf?_\fﬁzz/):]ﬁ” VE—T VR 40 260 131 248 1 1 12 693
410 ?y(’k%yl%y/)*/"”71"”1—7 100 888 1,224 119 2 1 8| 2641
414 K~ AR
122 [7=)arr 1,991 1,991
124 [AFN=AVFFH T x—k 1,100 1,100
425 |V TahLT
427 [y 909 311 1,220
428 |7 )T HANT 1,204 1,204
429 | ~\mRLT T AT 23 23
130 [AREHhHLT 15 15
431 [7Y ¥ ApEEY 214 40 285 55 594
432 [7I5 R 140 140
433 [H—A 50 50
434 [FFH3Iv 62 62
435 [BVI Ry s AT 53 53
138 [AFFTHL 33 201 146 2 0 0 0 381
442 | A=)
443 | AV 995 995
444 |N)7nF o AhrES
445 | YRV BAF IV 291 171 462
149 [7= AF 4T 74
150 [VTFhLT 261 261
456 |[DAAET V=D A
457 |7 a)LIRA
& 7t 37,809 46,115] 287,457 1,263 1,593 72 2,510] 376,819
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XA FEWE AR i (kg/4F)
i Fet 3
e WL B RME | gie | o | gk | TRROF e
1 |HgR KB EY 37 17 94
13 |7 k=R 473 56 529
21 |y
22 |747n=1 750 750
25 |[ANT Vv
271 | AHIbm
29 |I=TYAAF-2,3-TRF L Tt

BT VXN B U RVIR R N OV DI
30 |(FAFNAIEDRFEEAL0HI4ETOLD K 179 786 659 25 0 0 2 1,652
OZDREWIZRD)

40 [E7=FE—} 96 124 220
41 [Frkg=n 681 44 725
146 | FYarysS=FL
47 |7 HIRA 25 984 174 1,183
48 |EPN 167 800 968
49 | F AT 1,809 44 1,853
50 |EUFR—k 840 840
52 |[79=hL7 40 40
53 |=F vy 4 5 89 1 0 0 1 100
54 |HRAFTE—h 13,158 13,158
61 |~rx7 2,819 1,381 4,200
62 |~ra¥s 9,259 11,646 20,906
63 |27 b7 usR 365 1,965 2,834 50 567 5,781
64 |Th7=rTaysR 1,700 1,637 3,337
0 [T A7 R 2 =
80 |F L 5,267 6,933 16,498 417 18 8 149] 29,290
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